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���1!�4 �!0���

³¨³ �¢���¢� �� ���¢� � ©¢¡¢»�� ¢�¢¦��¼� �½

 �����6����4� 1!0�2�� �0���0����������7 0�!�1!���7 �!0�� �0��:
�0�7 ����!2�0��1 �0�I��J!��7 ����1!0��$!���8 �I#��0� P u��I �#�
��71��5�#F�48 ����##!#!���!2v �� 9� �$!���H �I#��0F Ω3 ��0���7
��!2�0��#7!0�7 � ��2! �����#��!8��5� M!�0�5�������� �����1!�3 �
w,<.xuf[bg|]�g3 ;**Lv � �I#��0� P ���!2!#7!0�7 ��I�$!���7 �!0�� ωP

3
 �2���!1�7 ����2���0�1� � #�� �� 0�!1 ������#!��713

ξijk=(ξ1, ξ2, ξ3)ijk ,

ξ1
ijk = i, ξ2

ijk = j, ξ3
ijk = k, 1 ≤ i ≤ N1, 1 ≤ j ≤ N2, 1 ≤ k ≤ N3,

52! N1, N2, N3
/ $��#� � #�� �� ������#!��71� )2!�F 0��J! �� 1�J��

����#F ���0F �2��1!���H ��1!��6�H � #�� ξl
3 $0� 7�#7!0�7 �2�I�41

2#7 �!�0���0���������4� �!0��� 	�#� � �!�0�4 9���6��

x(ξ)=(x1(ξ1, ξ2, ξ3), x2(ξ1, ξ2, ξ3), x3(ξ1, ξ2, ξ3)),

���G!�0�#7HG�! 5�1!�1��9��! �0�I��J!��! P→Ω3 0� �I�� �1 ωP
I�2!0

�!0�� ωΩ
� �I#��0� Ω � ����2���0�1� � #�� xijk

� �I�� �1� ����2���0�4�
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#���8 ξl=const3 ξm=const3 l, m=1, 2, 33 l 6=m � ����2���0�4� ���!����:
�0!8 ξl=const �!0�� ωP

I�2�0 ����2���0�4! #���� � ���!�����0� �!0��
ωΩ

� ��� �����#�3 �0 �0�I��J!��7 0��J! 0�!I�!0�73 $0�I4 ��� I4#� 5#�2:
��13 �#����

C
1 u�#�

C
2v3 0�! 9���6�� x(ξ) �1!#� �!��!�4��4! �!��4!

u�0��4!v ���� ��2�4!�
%�� $��#!���8 �!�#� �6�� �0���0�7 2����!0��! �0�I��J!��!3 0�!� �

�I#��0� Ω ����270�7 ����2���04 � #�� xijk
3 ��0��4! 7�#7H0�7 �I�� �1�

� #�� � �I#��0� P � )�0!1 �� ��82!��41 ����2���0�1 . � #�� 7$!8��
�����#�7H0�7 �!I�� � �0����4 M!�0�5�����8 7$!8�� � �I#��0� Ω

� �!I��
� �0����4 7$!!� 9��1���H0 ����2���0�4! #���� � ���!�����0� �!0��
ωΩ

� �#7 �����#�!��73 ��� �����#�3 ����#F �H0 0��#��!8��! u� �����:
1!0��$!���!v �0�I��J!��! !2���$��5� ��I� � �I#��0� P �� M!�0�5���:
��H 7$!8�� � �I#��0� Ω u�1� �� 2!# ,�+v�

%�� ���0��!��� �!0�� ωΩ
�������7  �2�$� ���0��0 � �I!��!$!���

!! �!�4��J2!����0�� "�2!1 ����#F ���0F ���!2!#!��! �!�4��J2!���:
�0� �!0�� w,;3 ,Lxu� ��!���3 ;**O3;**.v3 I#� ��! � ����1�0�!���1� �
w,<.xuf[bg|]�g3 ;**Lv�

=©��¾��� �� ³¨³¨³ ¿ÀÁÂÃ ÄÃÅÆÇÃÀÁÈÉ ÄÀÇÆÊËÌÍÀÄÄËÎÏ ÀÈÐÑ ËÄÃ ÄÀ
ÈËÍÀÊÌÑÁ ÈÃÒËÓÀÊÀÈÀÂÃÔÕÑÖÈÉ É×ÀÀÂÏ ÂËËÊÍÑÄÃÁÄÆÖ ÐÑÄÑÎ ÑÐÑ ÓËØ
ÇÀÊÖÄËÈÁÀÎÏ ÈÐÑÓÙÑÖÈÉ É×ÀÀÂ ÑÐÑ ÚÅÐËÇÏ Ñ ÉÂËÛÑÃÄ ËÁËÛÊÃÌÀÄÑÉ
J= detx′(ξ)>0 ÇÈÔÍÚ Ç P Ï ÅÃ ÑÈÂÐÔ×ÀÄÑÀÒ ÛÆÁÜ ÒËÌÀÁ ÓËÍÒÄËÌÀØ
ÈÁÇÃ P ÒÀÄÜÙÀÎ ÊÃÅÒÀÊÄËÈÁÑÝ

��!I�����! J>0 �!�I��2�1� 2#7 ���0��!��7 �!�4��J2!���8 �����:
#��!8��8 ���0!14 ����2���0 � �I#��0� Ω

� ���I��� J 1�J!0 I40F ���!�
��#H �� ��21��J!�0�! P 1!�FM!8 �� 1!����0� u�����1!�3 � � �#���:
����4� 0�$���3 ����4� �#� ���!�����07�v� (�1!�1��9� 1 �0�I��J!��7
��� E0�1 ������7!0�73 � ��#�$!��4! � ��1�GFH E0�5� �0�I��J!��7 7$!8:
�� 1�J�� 0��J! �� 4��0F �!�4��J2!��41�3 !�#� ��� 2����0�14 2#7
���$!0� �������8  �2�$��

�#!2���0!#F��3  �2�$� ���0��!��7 �!0�� ���0��0 � ����J2!��� 5�:
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1!�1��9��5� �0�I��J!��7 x(ξ) : P→Ω ���  �2����1 �0�I��J!��� 5��:
��6 �I#��0!8 ∂P→∂Ω

�

³¨Þ �¢��� ¢¤�� ��¾��� � ¤§¤¢¾ ß¥ �ª�¢ ���

4��2 9���6����#� � n:1!���1 �#�$�! �����2�0�7 �#!2�7 wLOxu���:
�!���3 ;**-v3 w<3 ,+3 <Nxu� ��!���3 ;**N3;**.v� ����1�0��1 5�1!�1��9:
��!3 �#����

C
1 3 �0�I��J!��! x(X) : Rn→R

n ������$!���8 �I#��0� C
� ����0����0�� �!�!1!��4� X=(X1, . . . , Xn) �� 9� �$!���H �I#��0F
Ω � ����0����0�� �!�!1!��4� x=(x1, . . . , xn) � 1�0��6!8 ���I�
ai

j=∂xi/∂Xj 3 i, j=1, 2, . . ., n
� ����1�0��1 0��J! 2�� 5�1!�1��9�4�3

�#����
C

1 3 �0�I��J!��7 x(ξ),X(ξ) : Rn→R
n ����1!0��$!���8 �I#��0�

P � ����0����0�� �!�!1!��4� ξ=(ξ1, . . . , ξn) u��I �#� ��71��5�#F�48
����##!#!���!2v �� �I#��0� Ω � C ���0�!0�0�!��� � 1�0��6�1� ���:
I� bi

j=∂xi/∂ξj � ci
j=∂X i/∂ξj � �I#��0� C, P , Ω ��!2��#�5�H0�7 �2����7 :

�41� � �5����$!��41�� �#7 �4��2� 9���6����#� �0�I��J!��! x(X)
 �2�!0�7 $!�! ��1�� �6�H 2��� �0�I��J!��8y �I��0��5� ξ(X) � ��7:
1�5� x(ξ)

� �� ���� ,�, ���� �� �#�$�8 n=3
� 	�#� � �I#��0� C ���!2!#!:

�� �����#��!8��7 �!�4��J2!���7 �!0�� ωC
3 0� !! �I�� �1 � �I#��0� Ω

I�2!0 �!�4��J2!���7 �!0�� ωΩ
� 
 2��1!���1 �#�$�! ����#F �����! 2�:

��#��0!#F��5� �0�I��J!��7 �� ������$!���H �I#��0F3 ��0���H 0��J!
�� 4��H0 #�5�$!���8 �#� ��#����8 uho�ohoZ�o ~]cgYZv3 ����1�0����#��F
� w,<Lxuab]cd[]Z � 2��3 ,<.+v�

���0�!0�0��HG�! 9��2�1!�0�#F�4! 1!0��$!���! 0!� ��4  �2�H0�7
� ��2!

h = a>a , g = b>b , G = c>c ,

52!3 ��1��#4 a> 3 b> 3 c> �I� ��$�H0 0��������������4! 1�0��64� %�:
���#F�� b = ac � a = bc−1 3 0� �1!!1 2#7 1�0��64 h

h = a>a = (c−1)>b>bc−1 .
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ξ1

ξ2

ξ3

X1

X2

X3

x1 x2

x3

x(X)

X(ξ)

x(ξ)

C

P

Ω

���� ,�,� ��!�1!��48 �#�$�8�P / ����1!0��$!���7 �I#��0F � ��I�$!���8
�!0��83 C / ������$!���7 �I#��0F � �����#��!8��8 �!0��83 Ω

/ 9� �$!:
���7 �I#��0F�

)���M!1 �����0!���0�$!���! �����!��! 2#7 1�0��64 h

det(h − λI) = 0 ,

52! I / !2���$��7 1�0��6�� %�2�0���� � �!5� �4��J!��! 2#7 h $!�! 
1�0��64 b � c3 ��#�$�1

det(c>c)−1 det(b>b − λ c>c) = 0

�#� � 0!�1���� 1�0��6 g, G

det G−1 det(g − λG) = det G−1 det G det(G−1g − λI) = 0 .

����1 �I�� �13 �����!��! �0����0!#F�� ��I�0�!��4� $��!# λi, i=1, 2,

. . . , n ���1!0 ��2
det(G−1g − λI) = 0 .

%��#!2�!! �����!��! 1�J�� �!�!����0F � 9��1!

(−1)nλn + (−1)n−1I1λ
n−1 + . . . + In = 0 . u,�,v
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�0��6� h ��11!0��$��7 � ��#�J�0!#F�� ���!2!#!���73 ��E0�1� �#5!I:
���$!���! �����!��! u,�,v �1!!0 n 2!8�0��0!#F�4� ����!8 λi>0

� ��E9:
9�6�!�04 I1, I2, . . . , In

�� 4��H0�7 ��������0�1� 0!� ��� G−1g 3 0��� ���
�! 1!�7H0�7 ��� �!�4��J2!��4� ��!�I�� �����7� ����2���0� 
 $��0��:
�0�

I1 =
kh(G−1g) =

n
∑

i=1

λi, In = det(G−1g) = λ1λ2 . . . λn.
u,�;v

�01!0�13 $0� 9���6�7 �0 ��������0�� Ii
0��J! 7�#7!0�7 ��������0�1�

"�2!1 ����#F ���0F �#!2�HG�H �����6�����H ���0������  �2�$�
���0��!��7 �!0���
�¢��� ¢¤�� ³¨Þ¨³Ý ¿ÁÃÇÑÁÈÉ ÅÃÍÃ×Ã ÓËÈÁÊËÀÄÑÉ àËÒÀËÒËÊáÄËàËÏ
ÂÐÃÈÈÃ

C
1 Ï ËÁËÛÊÃÌÀÄÑÉ x(X) : Rn→R

n ÂÃÄËÄÑ×ÀÈÂËÎ ËÛÐÃÈÁÑ C ÄÃ áÑØ
ÅÑ×ÀÈÂÚÔ ËÛÐÃÈÁÜ Ω ÓÊÑ ÚÈÐËÇÑÑÏ ×ÁË ËÁËÛÊÃÌÀÄÑÀ àÊÃÄÑâ ËÛÐÃÈÁÀÎ
ÅÃÍÃÄËÝ ãÈÚÕÀÈÁÇÐÉÔÕÑÀ ËÁËÛÊÃÌÀÄÑÀ áÚÄÂâÑÑ x(X) ÄÃÖËÍÉÁÈÉ È ÓËØ
ÒËÕÜÔ ÒÑÄÑÒÑÅÃâÑÑ áÚÄÂâÑËÄÃÐÃÏ ÂËÁËÊÆÎ ÀÈÁÜ ÑÄÁÀàÊÃÐ ËÁ áÚÄÂØ
âÑÑÏ ÅÃÇÑÈÉÕÀÎ ËÁ ÑÄÇÃÊÑÃÄÁËÇ ÁÀÄÅËÊÃ G−1g Ý

����1�0��1 �0��M!��! ��������0�� I1
� In

� ���0�!0�0��HG�� �0!:
�!�7�3 2#7 0�5� $0�I4 ��#�$�0F I! �� 1!���H �!#�$���

E =
1

nn/2

I
n/2
1

I
1/2
n

=
1

nn/2

[
kh(G−1g)]n/2

√

det(G−1g)
=

1

nn/2

[
kh(G−1g)]n/2

√
det G√

det g
. u,�-v

P���6�7 E 0��J! 7�#7!0�7 ��������0�1 �0����0!#F�� �!�4��J2!��4�
��!�I�� �����8 ����2���0 x � X

� �14�# ���1�����$��5� ��E99�6�:
!�0� n−n/2 �� U7��7!0�7 � �� 2!#! ,�-� �01!0�13 $0� �  �2�$�� ���0��:
!��7 �!0�� ����#F �����! �0��M!��7 ��������0�� 1!0��$!���5� 0!�:
 ��� � ��24�0!5��#F��1 �4��J!��� 9���6����#�� I4#� ��!2#�J!��
� w+-3,N<xu���!8���3 ,<<,3,<<<v�

���0���1 �#!2�HG�8 9���6����# 2#7 ��������0� E 3 ��0!5����7 ��
n:1!���8 �I#��0� P wLOxu����!���3 ;**-vy

D(x(ξ))=

∫

· · ·
∫

P

Edξ1 . . . dξn =
1

nn/2

∫

· · ·
∫

P

[
kh(G−1g)]n/2

√
det G√

det g
dξ1 . . . dξn.

u,�Lv
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P���6����# u,�Lv 7�#7!0�7 ��������0�1 �0����0!#F�� �01!$!��4� �4M!
��!�I�� �����8 ����2���0 x � X

� �� �� �! ��������0!� �0����0!#F��
���07J!��7 ����2���0 ξ � : � ��7�#7HG!5��7 ��� E0�1 7��I���� ��!�I:
�� �����7 (det g̃)1/2 � �01!0�13 $0� � w,N<xupY[oY|YZ3 ,<<<v ����1�0����#�7
0���5� J! ��2� 9���6����# � ��$!�0�! 1!�4 �0�#��!��7 �!0�� �0 ���:
9��1��8 u9���6����# ���9��1���0�v3 ��52� ����#F �H0�7 ��������04
0�#F�� 1!0��$!���5� 0!� ��� gij

y I1=
kh g 3 In= det g

�

 �#�$�! n=2 � x=(x, y)3 ξ=(ξ, η)3 Gij

/ !2���$�48 0!� ��
u0�!� Gii=1, Gij=0 ��� i6=jv3 u,�Lv 7�#7!0�7 9���6����#�1 5#�2���0�
w,,,xu�hg�|{Y\\3 zg\k�cgZ3 ,<.;v

D =
1

2

∫∫

P

x2
ξ + y2

ξ + x2
η + y2

η

xξyη − xηyξ
dξdη. u,�+v


 �IG!1 �#�$�!  �2���7 �����#7HG!5� 0!� ��� Gij
u,�Lv !�0F 9���6��:

��#3 ����1�0�����M�8�7 � wLNxu����!���3 ;***v3

D =
1

2

∫∫

P

x2
ξG22−2xξxηG12+x2

ηG11+y2
ξG22−2yξyηG12+y2

ηG11

(xξyη−xηyξ)
√

G11G22−G2
12

dξdη. u,�Nv

	�#� � u,�Nv ���#H$�0F �  ��1!��0!#7 7��I��� �0�I��J!��7 xξyη−xηyξ
3

0� ��#�$�1 9���6����# ��!2#�J!��48 � w;<xu(�2����3 %�������3 ,<NOv�
%��0������ ,�;�, ���1!�7!0�7 2#7 ����0���������7 9���6����#�

u,�Lv� 
 �!�#F�4� ���#�J!��7�3 ��� �����#�3 �2�I�!! ����1�0����0F
2��5�H �����6�����H ���0������  �2�$� ���0��!��7 �!0���

�¢��� ¢¤�� ³¨Þ¨Þ Ý ¿ÁÃÇÑÁÈÉ ÅÃÍÃ×Ã ÓËÈÁÊËÀÄÑÉ àËÒÀËÒËÊáÄËàËÏ
ÂÐÃÈÈÃ

C
1 Ï ËÁËÛÊÃÌÀÄÑÉ x(ξ) : Rn→R

n ÓÃÊÃÒÀÁÊÑ×ÀÈÂËÎ ËÛÐÃÈÁÑ P ÄÃ
áÑÅÑ×ÀÈÂÚÔ ËÛÐÃÈÁÜ Ω ÓÊÑ ÅÃÍÃÄÄËÒ ËÁËÛÊÃÌÀÄÑÑ àÊÃÄÑâ ËÛÐÃÈÁÀÎÝ
ãÈÚÕÀÈÁÇÐÉÔÕÑÀ ËÁËÛÊÃÌÀÄÑÀ áÚÄÂâÑÑ x(ξ) ÄÃÖËÍÉÁÈÉ Ç ÊÀÅÚÐÜÁÃÁÀ
ÒÑÄÑÒÑÅÃâÑÑ áÚÄÂâÑËÄÃÐÃ äåÝæçÏ àÍÀ Gij(ξ) è éÐÀÒÀÄÁÆ ÈÑÒÒÀÁÊÑ×ÄËÎ
ÓËÐËÌÑÁÀÐÜÄË ËÓÊÀÍÀÐÀÄÄËÎ ÒÃÁÊÑâÆÏ ÅÃÍÃÄÄËÎ Ç ÂÃÌÍËÎ ÁË×ÂÀ ËÛÐÃØ
ÈÁÑ P Ý
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� �����1!�3 1!0��$!���8 0!� �� Gij
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� %�� E0�1 �! �1!!0  ��$!��73 $0� � �!I7 ��!2�0��#7:
!0 �IU!2��!��! ��!� 7$!!� � ����0����0�� X

� ���5�8 �����I ���0��0 �
6!#!������#!���1 � 1!�!��� 1!0��$!���5� 0!� ��� Gij
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����!���#F���0F 9���6����#� � 0�!�1!���1 �#�$�! ���#!2���#��F � w<3
<Nxu� ��!���3 ;**Nv� 
 �#�$�! n=3 9���6����# u,�Lv ���1!0 ��2

D =
1

33/2

∫∫∫

P

[
kh(G−1g)]3/2

√
det G√

det g
dξ1dξ2dξ3. u,�Ov

)2!�F
kh(G−1g) = Gijgji = G11g11+G22g22+G33g33+2G12g12+2G13g13+2G23g23 ,

Gij / E#!1!�04 1�0��643 �I��0��8 1�0��6! G u���0��������0��5� 0!�:
 ���v3 � �� ���0��7HG�1�7 ��2!���1 �����2�0�7 ��11�������!� 
 0�$�!
�I#��0� Ω � ����2���0�1� r=(x1, x2, x3) ��1���!�04 1!0��$!���5� 0!�:
 ��� gij

 �2�H0�7 ���0��M!��71�

gij = rξi·rξj , i, j = 1, 2, 3, u,�.v
� 0���1 J! �I�� �1  �2�H0�7 ��1���!�04 1!0��$!���5� 0!� ��� Gij

�
����0����0�! �!�!1!��4� X1, X2, X3 �

� �$!0�1 u,�;v 1�J!1 �!�!����0F u,�-v � 0!�1���� ��I�0�!��4� $��!#



L*
1�0��64 G−1g

E(λ1, λ2, λ3) =
1

33/2

(λ1 + λ2 + λ3)
3/2

√
λ1λ2λ3

.

%��1!�77 �!���!��0�� 2#7 ��!2�!5� ���91!0�$!���5� � ��!2�!5� 5!�:
1!0��$!���5� n ���� ��#F�4� ��#�J�0!#F�4� $��!# qi

1

n

n
∑

i=1

qi ≥
(

n
∏

i=1

qi

)1/n

,

��71�8 ��2�0������8 � �!5� λi
u�����#F�� �0�I��J!��! ��!2��#�5�!0:

�7 �!�4��J2!��413 0� ��! λi>0v ��#�$�!13 $0� E ≥ 1
� �!�I��2�14!

��#���7 2��0�J!��7 1���1�1� �1!H0 ��2
∂E

∂λi
= 0 , i = 1, 2, 3 .

��99!�!�6���7 E 3 �1!!1 0�� �����!��7 ��7 � 2#7 λi

2λ1 − λ2 − λ3 = 0 , 2λ2 − λ1 − λ3 = 0 , 2λ3 − λ1 − λ2 = 0.

��1I�����7 ������� E0� �����!��73 1�J�� �2!#�0F �4��23 $0� 1���1�1
E 2��0�5�!0�7 ��� ��#���� λ1=λ2=λ3

� !5�  ��$!��! Emin=1
� �!�!�F

���70�� ��$!1� ���1�����$�48 ��E99�6�!�0 � u,�-v  �2�!0�7 ����41
n−n/2 � 
 2��1!���1 �#�$�! ���#�5�$�48 ���#� 2#7 9���6����#� u,�Nv
�����2�#�7 � wLNxu����!���3 ;***v�

%��0F  �2��� x(ξ)3 �!��0���! 5#�2��! �!�4��J2!���! �0�I��J!��!
� 1!0��$!���1 0!� ���1 gij

� %�#�J�� � ��J2�8 0�$�! ����1!0��$!���8
�I#��0� Gij=gij

3 ��#�$�1 � 9���6����#! u,�Ov ��24�0!5��#F��H 9���:
6�H E≡1

� �#!2���0!#F��3 9���6����# D 2��0�5�!0 �I��#H0��5� 1���:
1�#F��5�  ��$!��73 �����5� ,� �0�H2� �#!2�!03 $0� ���� ��#F��! 5#�2��!
�!�4��J2!���! �0�I��J!��! x(ξ) 1�J!0 I40F �!�#� ����� ����!2�0��1
�!M!��7  �2�$� 1���1� �6�� 9���6����#� u,�Ov � �!��0��41 1!0��:
$!���1 0!� ���1 Gij

� ����1 �I�� �13  �2���7 1!0��$!���8 0!� �� Gij
3

1�J�� �����#70F 1!0��$!���1 0!� ���1 gij
3 ��41� �#���1�3 ����2�:

��0�41� ���!�����071� �!0�� � 9� �$!���8 �I#��0� Ω
� %�E0�1� 9���:

6����# u,�Ov I�2!1 �� 4��0F ����!���#F�41 �� ���#�5�� � 0!�1���13



L,
��!2!��41 � wN*xu%�������3 ,<<.v � ����#F ����M�1�7 � wN,xu%�������3
;**,v 2#7 9���6����#� � w;<xu(�2����3 %�������3 ,<NOv � u,�Nv� ���
��� ��1���!�04 Gij(ξ) u�#�  �����1��0F X(ξ)v  �2�H0�7 � 6!#FH 2�:
��#��0!#F��5� �����#!��7 �!0��83 0� � 1!0��$!���8 0!� �� Gij

�� ��!1
�����#7HG�1�


�J!0 �� �����0F ������� ����8 �14�# ����0F �0�I��J!��! ����!2:
�0��1 1���1� �6�� 9���6����#�3 !�#� ��� �J!  �2���í �#7 �0�!0�
�� �!5� ����1�0��1 �#!2�HG�8 �#�$�8� %��0F ����1!0��$!���7 P⊂R

3

� 9� �$!���7 Ω⊂R
3 �I#��0� �� I�04 �� 2�! ��2�I#��0� P=P1∪P2

3
Ω=Ω1∪Ω2

3 �  �2��� �0�I��J!��! x1(ξ) :P1→Ω1
� �!�I��2�1� ���0���0F

�0�I��J!��! x2(ξ) :P2→Ω2
0��3 $0�I4 ��� I4#� 5#�2��1 ���2�#J!��!1

x1(ξ)
� %�� �!�!��2! � 2����!0��1� �0�I��J!��H3 0�!� ���0��!��H �!0��3

E0� ��2�� �1!��!03 $0� � ��2�I#��0� Ω1
�!0�� �J!  �2��� � �0��0  �2�:

$� 5#�2��5� ���2�#J!��7 E0�8 �!0�� �� ��2�I#��0F Ω2
� 	�#� 2#7 E0�5�

���1!��0F ����8:0� � �!�0�48 1!0�2 ���0��!��7 �0�I��J!��7 u����#F:
 ���0F 9���6����#3 ���0!1� 2�99!�!�6��#F�4� �����!��8 � 0���v3 0�
�� ����!0 ���I#!1� 5#�2��5� ����7J!��7 2��� �� �4� �0�I��J!��83 ��:
���#F�� ��� ����4��H0�7 �� �41� 9���6�71�� �� 2����!0��1 �����!
E0� ��2�� �1!��!03 $0� �!0�� ���0��0 � 2��� I#���� � �� ����!0 �!���:
�0�7  �2�$� 5#�2��5� ����7J!��7 ����2���0�4� #���8 �!0�� �� 5����6!
�� 2!#� I#����� 
 2����1 ��2��2! �I� �0�I��J!��7 x1(ξ) � x2(ξ)  �:
2�H0�7 � ��1��� !2���5� ��2��2�3 0�!� � ��1�GFH �2��5� 9���6����:
#�3 ����!2�0��1 ���0!�!���5� � 1!�!��7 ��1���!�0 1!0��$!���5� 0!�:
 ��� Gij

� ���!�0���0� 5����64 �� 2!#� ��2�I#��0!8 �3 �#!2���0!#F��3
x1(ξ) 1�J!0 I40F 5#�2�� ���2�#J!�� � x2(ξ)

� K0� �����J2!��! ���1!:
��1� � 2#7 �����6�����8 ���0������ ,�;�,� �2�� ��2�I�48 ���1!� ���:
�1�0����!0�7 � �� 2!#! ,�,-� ���5�! ���1!�43 ��52� E0� ���8�0�� 9���:
6����#� 1�J!0 ��� �0F�7 ��#! �413 ����1�0�!�4 � wN,3 N;xu%�������3
;**,3;**+v3 w.xu� ��!���3 ;**+v ��� ���0��!��� �!0�� � 2��1!��4� �!�0�:
6������4�  �2�$�� 5� ���8 2���1��� � I4�0�� 1!�7HG!8�7 �� ��!1!�!1
5����6!8 9� �$!���8 �I#��0� u�1� �� 2!# -�.�-v�



L;
�����!��7 K8#!�� 2#7 9���6����#� u,�Ov ��0F ���0!1� �!#��!8�4�

�����!��8
∂

∂ξl

∂E

∂xn
ξl

= 0, n, l = 1, 2, 3, u,�<v
52! �� l �����2�0�7 ��11�������!� 
4��M!1 �4��J!��! 2#7 ���� ��2:
��8 �0 E �� xn

ξl

∂E

∂xn
ξl

=
∂

∂xn
ξl

[
kh(G−1g)]3/2

√
det G

33/2
√

det g
=

=
1

2·33/2

√kh(G−1g)
√

det(G−1g)

[

3
∂
kh(G−1g)

∂xn
ξl

−
kh(G−1g)

det g

∂ det g

∂xn
ξl

]

.

%��� ��2�4! �0 �#!2� 1�0��64 kh(G−1g) � ���!2!#�0!#7 det g �1!H0 ��2

∂
kh(G−1g)

∂xn
ξl

=
∂(Gjigij)

∂xn
ξl

= 2Gil∂xn

∂ξi
, i = 1, 2, 3,

∂ det g

∂xn
ξl

=
∑

αi,αj

(−1)N(α1,α2,α3)
∂xαi

∂ξi

∂xαj

∂ξj
, i, j 6=l, αi, αj 6=n, αl=n.

)2!�F 2#7 $��!# α1, α2, α3
3 �����1�HG��  ��$!��7 ,3;3-3 ���$!1 �! ���:

��2�HG�� 2��5 � 2��5�13 N(α1, α2, α3)
�I� ��$�!0 $��#� I!����72���3

�I�� �����4� ��!1� ����1�3 ���0��#!��41� � E0�8 0��8�� $��!#� %���
αi, αj

�I�� �!0 I!����72��3 !�#� αi>αj
��� i<j

� 
 u,�<v ��� 2�99!�!�:
6�������� �� ξl 1!0��$!���! ��1���!�04 Gij

7�#7H0�7 9���6�71� �0
�!�!1!��4� ξ

�

³¨î ï��¢¤��  �¤§�¢¼¾�  ¢��� �����
��0�!0�7 �0��4041 ������ �I ��#���7�3 ��� ��0��4� 5#�2��! �0�I��:
J!��! x(ξ) :P→Ω3  �2���!1�! ����!2�0��1 1���1� �6�� 9���6����#�
u,�Ov3 7�#7!0�7 5�1!�1��9� 1�1� 
!J2� 0!13 � w,<xu"�I4#!� � 2��3 ;**-v
I4#� ��#�$!�4 2��0�0�$�4! ��#���7 0�5�3 $0� ���#!2�!1�! �0�I��J!:
��! 7�#7!0�7 5#�I�#F�41 5�1!�1��9� 1�13 ����#F �7 #�MF ��9��1�:
6�H #���#F��5� �����0!�� �I �0�I��J!��� � !5� ���8�0��� �� 5����6��



L-
�I�� � � ����I�� �� K0� ��#���7 1�5�0 I40F ����#F ����4 2#7 �I!��!$!:
��7 �!�4��J2!����0� �!0��3 �����#F�� �!0�� �0���0�7 ����!2�0��1 �!�:
#� �6�� 5�1!�1��9��5� ����$��:5#�2��5� �0�I��J!��73 0�!� ��#!!���5�
� 5#�2��� �0�I��J!��8 ��J2�8 7$!8�� �!0�� ωP

� ����1!0��$!���8
�I#��0� P �� ���0�!0�0��HG�H 7$!8�� �!0�� ωΩ

� 9� �$!���8 �I#��0�
Ω
�
%��0F P � Ω

/ �5����$!��4! �2����7 �4! �I#��0� �
R

n 3  �14����7
��0��4� P � Ω 2�99!�1��9�4� %��0F x(ξ) : P→Ω �0�I��J!��! �#����
C

1 � �����!2#��� �#!2�HG!! �0�!�J2!��! u0!��!1� L � w,<xu"�I4#!� �
2��3 ;**-vv�
�́¢��¡� ³¨î¨³Ý ðÚÈÁÜ x(ξ) àËÒÀËÒËÊáÄË ËÁËÛÊÃÌÃÀÁ àÊÃÄÑâÚ ËÛÐÃØ

ÈÁÑ ∂P ÄÃ ∂Ω Ñ ÉÂËÛÑÃÄ ËÁËÛÊÃÌÀÄÑÉ

J = detx′(ξ) > 0, ξ ∈ P.

ñËàÍÃ x(ξ) è àËÒÀËÒËÊáÑÅÒ ÑÅ P ÄÃ Ω Ý
���¡��� ��¨�0�!�J2!��! E�����#!�0��! 9��1�#�����! 0!��!14 ,�L�,
2#7 �#�$�7 n=2, 3 I4#� 2��� ��� � w,.OxuzhYkbghgZ3 ,<<,v ��� 2���#��:
0!#F��1 ��#����3 $0� �0�I��J!��! x(ξ) �H�F!�0����!� 
 1!0�2! 2!9��:
1�6�8 w,*Nxu�]�bo� � 2��3 ,<<Nv3 w,NOxupYg] � 2��3 ;***v E0� #!114 ����#F:
 ���#��F 2#7 �I!��!$!��7 �!�4��J2!����0� �0�I��J!��7 � ��#�$�!14�
� !5� ��1�GFH �!0���

��#���7 5�1!�1��9���0� �!��!�4���5� �0�I��J!��7 �1!H0 �#!2�H:
G�8 ��2 u0!��!1� N � w,<xu"�I4#!� � 2��3 ;**-vv�
�́¢��¡� ³¨î¨Þ Ý ðÚÈÁÜ x(ξ) àËÒÀËÒËÊáÄË ËÁËÛÊÃÌÃÀÁ ∂P ÄÃ ∂Ω Ñ

ÉÇÐÉÀÁÈÉ ÐËÂÃÐÜÄÆÒ àËÒÀËÒËÊáÑÅÒËÒ ÑÅ P Ç Ω äàËÒÀËÒËÊáÑÅÒËÒ Ç
ËÂÊÀÈÁÄËÈÁÑ ÐÔÛËÎ ÁË×ÂÑ ÑÅ PçÝ ñËàÍÃ x(ξ) è àËÒÀËÒËÊáÑÅÒ ÑÅ P ÄÃ
Ω Ý

%�!2��#�J�13 $0� �I#��0F P �� I�0� �� �!�!�!�!��HG�!�7 ��2�I#�:
�0� Pi

ui=1, 2, . . ., mv 0��3 $0�



LL

P =
m
⋃

i=1

Pi,

� x(ξ) : P→Ω
/ �!��!�4���! �0�I��J!��!3 7�#7HG!!�7 5#�2��13 �#����

C
1 3 ��  �14����7� Pi

� ��J!��! �0�I��J!��7 x(ξ) ��Pi
�I� ��$�1 xi(ξ)

�
� 0!��!1 ,3; �40!��!0 �#!2�HG!! �0�!�J2!��! u0!��!1� < � w,<xu"�:
I4#!� � 2��3 ;**-vv�
�́¢��¡� ³¨î¨ê Ý ðÚÈÁÜ x(ξ) àËÒÀËÒËÊáÄË ËÁËÛÊÃÌÃÀÁ ∂P ÄÃ ∂ΩÏ Ñ ÍÐÉ

ÐÔÛËàË i=1, 2, . . ., m ÀÀ ÈÚÌÀÄÑÀ xi(ξ) àËÒÀËÒËÊáÄË ËÁËÛÊÃÌÃÀÁ ∂Pi
ÄÃ

xi(∂Pi)
ÑÏ ÂÊËÒÀ ÁËàËÏ

Ji = detx′
i(ξ) > 0, ξ ∈ Pi , i=1, 2, . . ., m.

ñËàÍÃ x(ξ) ÉÇÐÉÀÁÈÉ àËÒÀËÒËÊáÑÅÒËÒ ÑÅ P ÄÃ Ω Ý
�!��!1� ,�L�- 1�J�� ����#F ���0F 2#7 ��#�$!��7 2��0�0�$�4� ��#�:

��8 �!�4��J2!����0� 5!���E2��#F��8 �!0��� %��  �2����1 �0�I��J!���
5����64 �I#��0� ∂P �� ∂Ω3 !�#� 5����6� ��J2�5� E#!1!�0� �!0�� ∂PiuPi

/ ��I � ����1!0��$!���8 �I#��0� P v 5�1!�1��9�� �0�I��J�!0�7 ��
5����6� E#!1!�0� ∂Ωi

uΩi
/ 5!���E2� � 9� �$!���8 �I#��0� Ωv � 2#7 ��!�

E#!1!�0�� Ji= detx′
i(ξ)>03 ξ∈Pi

3 0� �� 0!��!1! ,�L�- 5#�I�#F��! ����$��:
5#�2��! �0�I��J!��! x(ξ) :P→Ω 7�#7!0�7 5�1!�1��9� 1�1� �#!2���:
0!#F��3 ��J�� �1!0F ��#���7 ��#�J�0!#F���0� 7��I���� �0�I��J!��7
Ji

��I� Pi
� 5!���E2� Ωi

3 �����#F�� 5�1!�1��9� 1 � ∂Pi
�� ∂Ωi

��2��:
 �1!��!0�7  �2���41� K0�0 ������ �I��J2�!0�7 � �#!2�HG!1 �� 2!#!�

³¨ò ï��¢¤��  �¤§�¢¼¾�  ¢��� ó����ì��  ¢½ ���½��
����1�0��1 M!�0�5�����H u2��5�! �� ����! 5!���E2��#F��7 �#� #��!8:
$�0�7v 7$!8�� � ����0����0�! x1, x2, x3 u�1� ���� ,�;�v3  �2���!1�H ��:
��!2�0��1 0��#��!8��5� �0�I��J!��7 !2���$��5� ��I� 0≤ξ1, ξ2, ξ3≤1 � 
����1!0��$!���5� ����0����0�� ξ1, ξ2, ξ3

r = w1+w2ξ
1+w4ξ

2+w5ξ
3+w3ξ

1ξ2+w6ξ
1ξ3+w8ξ

2ξ3+w7ξ
1ξ2ξ3, u,�,*v



L+
52! �!�0��4 wk

�1!H0 ��2

w1 = r1, w2 = r2 − r1, w3 = r3 − r2 − r4 + r1, w4 = r4 − r1,

w5 = r5 − r1, w6 = r6 − r2 − r5 + r1,

w7 = r7 − r3 − r6 − r8 + r2 + r4 + r5 − r1, w8 = r8 − r4 − r2 + r1

� ri=(x1
i , x

2
i , x

3
i )

/ ����2���04 �!�M�� 7$!8��� ��J2�7 � !! M!�0� 5��:
�!8 � �IG!1 �#�$�! 7�#7!0�7 #��!8$�0�8 ���!�����0FH �0���5� ���72���
��5#���� 0!��!1! ,�L�- 2#7 �!�4��J2!����0� �!0�� 2��0�0�$��3 $0�I4
2#7 ��J2�8 7$!8�� 7��I��� �0�I��J!��7 u,�,*v I4# ��H2� ��#�J�0!#F:
�41 ��� ��#����3 $0� ���0�!0�0��! 5����6  �2����

���!8$�0�7 7$!8�� ��!2�0��#7!0 � �!I7 2���#F�� �#�J�48 �IU!�0
� �0#�$�! �0 !! ���#�5� � 2��1!���1 �#�$�! / $!04�!��5�#F��8 7$!8���

 2��1!���1 �#�$�! 2#7 ����!��� �!�4��J2!����0� 7$!8�� 2��0�0�$��
 ��0F  ��$!��! 7��I���� J I�#��!8��5� �0�I��J!��73 �!�!��27G!5� !2�:
��$�48 ���2��0 � ����1!0��$!���8 �I#��0� � $!04�!��5�#F��H 7$!8��
� 9� �$!���8 �I#��0�3 � $!04�!� �!�M���� 7$!8��� )2!�F J !�0F #�:
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2 + w6ξ

3 + w7ξ
2ξ3, rξ2 = w4 + w3ξ

1 + w8ξ
3 + w7ξ

1ξ3,

rξ3 = w5 + w6ξ
1 + w8ξ

2 + w7ξ
1ξ2.
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��#���� �!�4��J2!����0� ��! ,* 0!0��E2���3 0� ������0 �!���!8 5����
��I� �� 1�J!� 0�#F�� �� �5�# 1!�FM�8 $!1 90o � %�� 90o �I� ���0�!����
0!0��E2�� �4��J2�H0�73 0��� � ��J2�1 � ��� ��! L �!�M��4 #!J�0 �
�2��8 �#�����0��

��I#�6� ,�,� ul / ��1!� �!�M��4�v

l
, ; - L + N O .

x1 *�*** *�,L, *�,*N :*�*-O *�;<- *�LLN *�*O; :*�*O-
I x2 *�*** :*�*N- :*�,LL :*�*., :*�;*. :*�;N- :*�;;+ :*�,N*

x3 *�*** *�*** *�;+; *�;+; *�*-. *�*-. *�;.. *�;..
x1 *�<<L *�-+- *�<,+ *�.<< *�-.O *�+;, *�;,+ *�,,-

II x2 *�N.N *�.O. *�-L, *�;-+ *�-*< *�L*- *�N<+ *�;<,
x3 *�<O* *�N+O *�,,O *�-<< *�+NO *�.LL *�+,L *�-N+

u�v uIv u�v
���� ,�+� �!�4��J2!���7 #��!8$�0�7 7$!8�� I 3 2�� ��2� u�v � uIv3 �
�4��J2!��48 ,;:5������ u�v � 0!1� J! �!�M���1��

�#!2�HG�! ���1!�4 � w<3 <Nxu� ��!���3 ;**Nv 2!1���0����H0 �� :
#�$�! 1!J2� 1��J!�0��1� �!�4��J2!��4� #��!8$�04� � ,;:5����4�
7$!!�� 
 0�I#� ,�, ����!2!�4 ����2���04 �!�M�� 2��� #��!8$�04� �!�4:
��J2!��4� 7$!!�� �$!8�� I 3 � �I��J!���7 �� ���� ,�+�3I3 ��#H���0� �
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��0���8 �I� ,;:5������� �4��J2!�4

�!�!���$!��� �#7 �!! �!��48 ,;:5������ �1!!0 ��1��!�!�!$!��! 5��:
�!83 �����#F�� ���0�!���8 0!0��E2� T2457

�4�!���0 � 2#7 �!5� 7��I�:
�� JT2457

=−0.00155 u�1� ���� ,�+�v� �$!8�� II � �I��J!�� �� ���� ,�N�
� �!! �I� ,;:5������� �4��J2!�43 0��� 2#7 ���0�!���� 0!0��E2���
JT2457

=−0.4736 � JT1368
=−0.1045

� � ���� ,�N ��2��3 $0� 7$!8�� II �1!!0
2���#F�� �4$����H 9��1�� )�1!0�13 $0� �!�I��2�1�! ��#���! �!�4��J:
2!����0� #��!8$�0�8 7$!8�� ��#H$�!0 �#!2�HG!! �!���!��0�� wO*xu�M�:
����3 ;**Ov

V9 + V10 > −
8
∑

m=1

Vm.

��� 1�J!0 I40F #!5�� ��#�$!�� � 9��1�#4 2#7 �IU!1� 5!���E2��#F��8
7$!8�� V5 wN<xu�M�����3 ;**,v

V5 =
1

2

10
∑

m=1

Vm.
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4I���� ���0��0 � 107

7$!!�� 
 �!���1 E���!��1!�0! ���$�#� ����!�7!0�7  ��� �IU!1� 2#7 ���F:
1� �5#��4� 0!0��E2��� u�1� $��#� 7$!!� �2��#!0���7HG�� E0�1� ��#�:
��H �� �0���1 �0�#I6! �  �5�#����1 �* � 0�I#� ,�;3 52! �0����8 ��J!
����!2!�4 2���4! � wN<3 ,<.xu�M�����3 ;**,3;**Lvv� K0� ��#���! 7�#7:
!0�7 �!�I��2�1413 ��E0�1� �! �2��#!0���7HG�! !1� 7$!8�� �0I���4��:
H0�7� K0� ��#���! ���1!�7#��F � $��#!���1 E���!��1!�0! � w,+NxusZtdd3
,<<*v� ��#!! ����!�7!0�7  ��� J 0��#��!8��5� �0�I��J!��7 ���!�!2��!
��J2�5� � 2�!��26�0� �!I!�3 � 6!�0�! M!�0� 5���!8 � ��1�8 7$!8���
K0� ��#���! 0��J! 7�#7!0�7 �!�I��2�1413 �� ��!1 !5� ��,� %��#! E0�:
5� ����!�7!0�7  ��� J �� �!I���� %����#F�� �2�#F �!I�� J !�0F ���2��:
0�$��7 9���6�7 �2��5� ����1!0�� ξ1, ξ2 �#� ξ3 3 0�  ��7 !5�  ��$!��7 ��
���6�� � ���!�!2��! �!I��3 #!5�� ���!2!#�0F �����1�!0 #� �� �0��6�:
0!#F�4!  ��$!��7 �� ��!1 �0�! �!� ���M!1 E0� ����!���� %��0F  �2��4
 ��$!��7 J(ξ1) � 0�$��� !2���$��5� �0�! �� ξ1=0, 1

2 , 1
3 �I� ��$!��4! ���

J0, J1/2, J1
���0�!0�0�!���� 	�#� �2�� � ��� �0��6�0!#F��3 0� 7$!8�� �0:

I���4��!0�7 ��� �4��J2!���7� �#7 ���2��0�$��8 9���6��

J = α(ξ1)2 + βξ1 + γ

��E99�6�!�04 ���!2!#7H0�7 �#!2�HG�1 �I�� �1y

α = 2(J0 + J1) − 4J1/2 , β = 4J1/2 − J1 − 3J0, γ = J0.

%��� ��2�0�7 �#!2�HG�7 ����!���y
,� !�#� α < 03 0�52� J > 0 �� �0�! �! ξ1∈[0, 1]�;� !�#� α > 03 0�52� 1���1�#F��!  ��$!��! ���!2!#7!0�7 � �����!��7

Jξ1 = 2αξ1 + β = 0 ,

�0��2� ��#�$�!1 �I�6���� 1���1�1� ξ1
min = −β/2α �

-� !�#� ξ1
min ∈ [0, 1]3 0�52� Jmin = −0.25β2/α+γ � ����!�7!0�7  ��� Jmin

�
L� !�#� ξ1

min /∈ [0, 1]3 0�52� J > 0 �� �0�! �! ξ∈[0, 1]
�
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�0 � ����!��!  ���� J �� �0�! ���3 ��!2��7HG�� �!�!2��4 ���0���:
��#�J�4� �!I!� �� ��J2�8 5���� � 6!�0�4 ���0�����#�J�4� 5���!8
u��!5� ,+v� K0� ����!��� �!�#� �!0�7 ���#�5�$�� ��#���H ��;� 	G! �2:
�� ��#���! ��L  ��#H$�!0�7 � ����!��!  ���� J �� �0�! ���3 ��!2�:
�7HG�� ���0�!0�0��HG�! 0�$�� ���0�����#�J�4� 5���!8 7$!8��3 �� :
I�04� �� 10×10 $!04�!��5�#F�����3 ��� 0�1 $0� ��J2�7 5���F ����:
1!0��$!���5� ��I� �� I���!0�7 �� 10×10 ���2��0��� 
�!5� ��#�$�!0�7
121·3=363 ����!���  � �4$!0�1 ;O �J! ����1�0�!��4� � ��#���7� ��;
� ��-� �#7 I�#FM!8 ��2!J���0� I4#� ���G!�0�#!�� 0���7 J! ����!�:
�� ��� �� I�!��� 5���� ��I� �� 100×100 ���2��0��3 �� �����7 ��+�
� 0�I#� ,�; ��2��3 $0� ��� �� ��#7!0 �0I����0F !G! 0�#F�� 0�� 7$!8���

�J�� ��� �0F3 $0� �! �#F0�04 E���!��1!�0� ����0�$!��� ���0��7H0
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�!�I��2�14! ��#���7 � �!���5� E���!��1!�0��

&�07 6�9�� � ���#!2�!1 �0�#I6! 0�I#� ,�;3 ��:��2�1�1�3 �! 7�#7!0:
�7 0�$�41 $��#�1 7$!!� 52! J>03 0!1 �! 1!�!! I�2!1 !! ����#F ���0F
� ��$!�0�! 0�����8� %���!2!��4! ���#!2�����7 ���� 4��H03 $0� � ��!�
7$!!�3 �2��#!0���7HG�� �!�I��2�1�1� ��#���H V1, . . . , V8 > 03 0�#F��
31.7% 7�#7H0�7 �!�4��J2!��41�3 � E0� 6�9�� ����0�$!��� �����2�!0
� 2���41� � w,<.xuf[bg|]�g3 ;**Lv� %���!��� ,* 0!0��E2��� ���4M�!0
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U = γ(Gijgji)
3/2 , V = rξ1·(rξ2×rξ3) , γ = 3−3/2
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det G.
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1+(r4−r1)ξ
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3+r1, 0 ≤ ξ1, ξ2, ξ3; ξ1+ξ2+ξ3 ≤ 1.
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∑
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1),

∂V

∂x2
5

= (x3
2 − x3

1)(x
1
4 − x1

1) − (x3
4 − x3

1)(x
1
2 − x1

1),

∂V

∂x3
5

= (x1
2 − x1

1)(x
2
4 − x2

1) − (x1
4 − x1

1)(x
2
2 − x2

1).

%����#F�� ��24�0!5��#F��! �4��J!��! E ��������0�� �0����0!#F:
�� ������0� ���0!14 ����2���0 ξ 3 2#7 ��0�#F�4� �!1� �5#��4� 0!0��E2:
��� 9��1�#4 2�99!�!�6�������7 U � V ��0���0�7 �!� 1!��41�� ��J:
�� 0�#F�� ���� �!�0� ���0�!0�0��HG�H  �1!�� ��2!�����
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��#!! �4�!2!1 9��1�#4 2#7 ���!2!#!��7 ��1���!�0 1!0��$!���5�

0!� ��� gij
� ���� ��2�4� �0 ��� ��� ��������1�6�� E �� I� ����1 0!0:

��E2�! T2457
u�1� ���� ,�-�v� �#7 E0�5� ����1�0��1 #��!8��! �0�I��J!��!

rh(ξ)3 �!�!��27G!! E0�0 I� ���48 0!0��E2� �� ���0�!���8 0!0��E2� T2457� ����0����0�� x1, x2, x3 u�1� ���� ,�;�v3

rh=
1

2
(r7 + r2 − r4 − r5)ξ

1+
1

2
(r7 + r4 − r2 − r5)ξ

2+
1

2
(r7 + r5 − r2 − r4)ξ

3+

+
1

2
(r2 + r4 + r5 − r7).

%��� ��2�4! �0 �!�0��:9���6�� rh(ξ) ����4

rh
ξ1 =

1

2
(r7+r2−r5−r4), rh

ξ2 =
1

2
(r7+r4−r5−r2), rh

ξ3 =
1

2
(r7+r5−r2−r4).

� �$!0�1 u,�.v ��#�$�!1 9��1�#4 2#7 ���!2!#!��7 ��1���!�0 1!0:
��$!���5� 0!� ��� gij

g11=
1

4

3
∑

k=1

(xk
7+xk

2−xk
5−xk

4)
2, g12=

1

4

3
∑

k=1

(xk
7+xk

2−xk
5−xk

4)(x
k
7+xk

4−xk
5−xk

2),

g22=
1

4

3
∑

k=1

(xk
7+xk

4−xk
5−xk

2)
2, g13=

1

4

3
∑

k=1

(xk
7+xk

2−xk
5−xk

4)(x
k
7+xk

5−xk
2−xk

4),

g33=
1

4

3
∑

k=1

(xk
7+xk

5−xk
2−xk

4)
2, g23=

1

4

3
∑

k=1

(xk
7+xk

4−xk
5−xk

2)(x
k
7+xk

5−xk
2−xk

4).

��82!1 ���� ��2�4! �0 gij
� �#7 �!�M��4 ; ��#�$�!1

∂g11

∂xk
2

=
1

2
(xk

7 + xk
2 − xk

5 − xk
4),

∂g12

∂xk
2

=
1

2
(xk

4 − xk
2),

∂g22

∂xk
2

=
1

2
(xk

5 + xk
2 − xk

7 − xk
4),

∂g13

∂xk
2

=
1

2
(xk

5 − xk
2),

∂g33

∂xk
2

=
1

2
(xk

4 + xk
2 − xk

7 − xk
5),

∂g23

∂xk
2

=
1

2
(xk

2 − xk
7),

∂2gii

∂(xk
2)

2
=

∂2g23

∂(xk
2)

2
=

1

2
,

∂2g12

∂(xk
2)

2
=

∂2g13

∂(xk
2)

2
= −1

2
.


�! �1!M���4! ���� ��2�4! �0 gij
����4 *�
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∂g11

∂xk
4

=
1

2
(xk

5 + xk
4 − xk

7 − xk
2),

∂g12

∂xk
4

=
1

2
(xk

2 − xk
4),

∂g22

∂xk
4

=
1

2
(xk

7 + xk
4 − xk

5 − xk
2),

∂g13

∂xk
4

=
1

2
(xk

4 − xk
7),

∂g33

∂xk
4

=
1

2
(xk

4 + xk
2 − xk

7 − xk
5),

∂g23

∂xk
4

=
1

2
(xk

5 − xk
4),

∂2gii

∂(xk
4)

2
=

∂2g13

∂(xk
4)

2
=

1

2
,

∂2g12

∂(xk
4)

2
=

∂2g23

∂(xk
4)

2
= −1

2
.

�#7 �!�M��4 + ��#�$�!1
∂g11

∂xk
5

=
1

2
(xk

5 + xk
4 − xk

7 − xk
2),

∂g12

∂xk
5

=
1

2
(xk

5 − xk
7),

∂g22

∂xk
5

=
1

2
(xk

5 + xk
2 − xk

7 − xk
4),

∂g13

∂xk
5

=
1

2
(xk

2 − xk
5),

∂g33

∂xk
5

=
1

2
(xk

7 + xk
5 − xk

2 − xk
4),

∂g23

∂xk
5

=
1

2
(xk

4 − xk
5),

∂2gii

∂(xk
5)

2
=

∂2g12

∂(xk
5)

2
=

1

2
,

∂2g13

∂(xk
5)

2
=

∂2g23

∂(xk
5)

2
= −1

2
.

�#7 �!�M��4 O ��#�$�!1
∂g11

∂xk
7

=
1

2
(xk

7 + xk
2 − xk

5 − xk
4),

∂g12

∂xk
7

=
1

2
(xk

7 − xk
5),

∂g22

∂xk
7

=
1

2
(xk

7 + xk
4 − xk

5 − xk
2),

∂g13

∂xk
7

=
1

2
(xk

7 − xk
4),

∂g33

∂xk
7

=
1

2
(xk

7 + xk
5 − xk

2 − xk
4),

∂g23

∂xk
7

=
1

2
(xk

7 − xk
2),

∂2gij

∂(xk
7)

2
=

1

2
.

%�� 2�99!�!�6��������  ��1!��0!#7 V ���1!�7!1 �����#� 2�99!:
�!�6�������7 ���!2!#�0!#!8� �#7 �!�M��4 ; ��#�$�!1

∂V

∂x1
2

=
1

2
[x2

4(x
3
7 − x3

5) + x2
5(x

3
4 − x3

7) + x2
7(x

3
5 − x3

4)],

∂V

∂x2
2

=
1

2
[x3

4(x
1
7 − x1

5) + x3
5(x

1
4 − x1

7) + x3
7(x

1
5 − x1

4)],

∂V

∂x3
2

=
1

2
[x1

4(x
2
7 − x2

5) + x1
5(x

2
4 − x2

7) + x1
7(x

2
5 − x2

4)].
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∂V

∂x1
4

=
1

2
[x2

2(x
3
5 − x3

7) + x2
5(x

3
7 − x3

2) + x2
7(x

3
2 − x1

5)],

∂V

∂x2
4

=
1

2
[x3

2(x
1
5 − x1

7) + x3
5(x

1
7 − x1

2) + x3
7(x

1
2 − x1

5)],

∂V

∂x3
4

=
1

2
[x1

2(x
2
5 − x2

7) + x1
5(x

2
7 − x2

2) + x1
7(x

2
2 − x2

5)].

�#7 �!�M��4 + ��#�$�!1
∂V

∂x1
5

=
1

2
[x2

2(x
3
7 − x3

4) + x2
4(x

3
2 − x3

7) + x2
7(x

3
4 − x3

2)],

∂V

∂x2
5

=
1

2
[x3

2(x
1
7 − x1

4) + x3
4(x

1
2 − x1

7) + x3
7(x

1
4 − x1

2)],

∂V

∂x3
5

=
1

2
[x1

2(x
2
7 − x2

4) + x1
4(x

2
2 − x2

7) + x1
7(x

2
4 − x2

2)].

�#7 �!�M��4 O ��#�$�!1
∂V

∂x1
7

=
1

2
[x2

2(x
3
4 − x3

5) + x2
4(x

3
5 − x3

2) + x2
5(x

3
2 − x3

4)],

∂V

∂x2
7

=
1

2
[x3

2(x
1
4 − x1

5) + x3
4(x

1
5 − x1

2) + x3
5(x

1
2 − x1

4)],

∂V

∂x3
7

=
1

2
[x1

2(x
2
4 − x2

5) + x1
4(x

2
5 − x2

2) + x1
5(x

2
2 − x2

4)].
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� 0!0��E2� T1368

u�1� ���� ,�;�v3 1�J�� ���1!�70F ��#�$!��4! 9��1�#4
2�99!�!�6�������7 U � V ��� ���0�!0�0��HG!8  �1!�! ��1!��� � #���

�!�!�F3 ��52� �4$��#!�� E � !! ���� ��2�4! � �!�M���� ,* 0!0��:
E2���3 1�J�� 9��1�����0F E#!1!�04 ���0!14 �����!��8 ��� ��FH0�:
������8 ���6!2��4 u,�,+v� %��0F #���#F�41 ��1!��1 �!�M�� 7$!8��
1, 2, . . ., 8 ���0�!0�0��H0 5#�I�#F�4! ��1!�� � #�� �!0�� n1, n2, . . ., n8

�
��52�  ��$!��! E � !! ���� ��2�4� � �!�M��! , 0!0��E2�� T1245

2�I��:
#7H0�7 � Dh � $#!��1 ���0!14 u,�,+v

Dh=Dh + E, [Rxi]n1
=[Rxi]n1

+ Exi, [Rxixj ]n1
=[Rxixj ]n1

+ Exixj , i, j=1, 2, 3.



N;
)2!�F ����#F �!0�7  ����F3 ����70�7 � 7 4��� ���5��11�������7� ���
��2�� �1!��!03 �����1!�3 $0� ����!  ��$!��! Dh �0�#� ����41 Dh+E

�
)��$!��73 �4$��#!��4! � �!�M���� ;3L � + 0!0��E2��3 2�I��#7H0:
�7 � Dh � ���0�!0�0��HG�1 $#!��1 [Rxi]n2

, [Rxixj ]n2

3 [Rxi]n4
, [Rxixj ]n4

3
[Rxi]n5

, [Rxixj ]n5

� ��$�� 0��J! ���0���!1 ��  ��$!��71� E � !! ���� :
��2�4�3 �4$��#!��41� � �!�M���� ��0�#F�4� < 0!0��E2����


!0�2 �!����!2�0�!��� �!�!����0�7 �� �!�0���0���������4! �!0���
��J�� 0�#F��  �2�0F ���0�!0�0��! 1!J2� #���#F�41 ��1!��1 �!�M��4
7$!8�� � 5#�I�#F�41 ��1!��1 � #� �!0���

³¨% &����� ¢� �¤¢½��¤¢ Dh

%�!J2! $!1 �!�!��2�0F � ����1�0�!��H I��F!���5� ���8�0�� 2����!0:
��5� 9���6����#� u,�,-v3  ���M!1 ��24�0!5��#F��H 9���6�H E � u,�Ov
� �2�I��8 2#7 ���#� � 9��1!� 
 ��#� ��������0���0� E �0����0!#F��
��!�I�� �����8 ����2���0 X3 � #HI�8 0�$�! ����1!0��$!���8 �I#��0�
P 1�J�� �4I��0F ���0!1� ����2���03 52! 1�0��6� G 7�#7!0�7 2��5�:
��#F��83 0�!�

E =
1

33/2

[
kh(G−1g)]3/2

√

det(G−1g)
=

1

33/2

(λ̃i gii)
3/2

√
det g

√

λ̃1λ̃2λ̃3

, u,�,Ov

52! λ̃i
/ ��I�0�!��4! $��#� 1�0��64 G−1 �

�����!2#��� �#!2�HG!! �0�!�J2!��!3 �9��1#!���! � ��2! 0!��!14
w<3<Nxu� ��!���3 ;**Nvy
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ÌÀÈÁÇÃ ÄÀÇÆÊËÌÍÀÄÄÆÖ ÈÀÁËÂÏ ÈËÈÁËÉÕÑÖ ÑÅ å(ØàÊÃÄÄÆÖ É×ÀÀÂ ÓÀÊÇËàË
ÑÐÑ ÇÁËÊËàË ÁÑÓÃÝ
£¢����������¤¢¨ %��0F �!��0���7 ,;:5�����7 7$!8��3 ���J!1 �!���:
5� 0��� u�1� ���� ,�;Iv3 �4��J2�!0�7� �#!2���0!#F��3 �4��J2�!0�7 ��
���8�!8 1!�! �2�� � �70� ���0��#7HG�� !! 0!0��E2���� K0� 1�J!0



N-
I40F �5#���8 0!0��E2�3 ���J!1 T1245

3 �#� ���0�!���8 0!0��E2� T2457
�

����1�0��1 ��������1�6�H 9���6�� u,�,Ov �� T1245
� T2457

� %��0F ���
�4��J2!��� �IU!1 0!0��E2�� �0�!1�0�7 � ��#H3 ��0���7�F ��� E0�1 ��:
#�J�0!#F�413 0�!� 7��I��� #��!8��5� �0�I��J!��7√ det g→0

� �#7 0�5�
$0�I4 Dh �! �0�!1�#��F � I!����!$���0�3 �!�I��2�1�3 $0�I4 $��#�0!#F
�4��J!��73 ��������1���HG!5� u,�,Ov3 0��J! �0�!1�#�7 � ��#H� ��4:
1� �#���1�3 2#7 0!0��E2�� T1245

��#�$�!1

λ̃1g11 + λ̃2g22 + λ̃3g33 = λ̃1(r2 − r1)
2 + λ̃2(r4 − r1)

2 + λ̃3(r5 − r1)
2 → 0,

u� ��#� ��������0���0� E �0����0!#F�� ������0� ��!8 ����2���03 ���:
#�5�$��7 ��������1�6�7 ����#F �!0�7 � 2#7 #HI�5� � ��0��M���7 -
�5#��4� 0!0��E2��� 7$!8��v3 � 2#7 0!0��E2�� T2457

�1!!1

λ̃1(r7 + r2 − r5 − r4)
2 + λ̃2(r7 + r4 − r5 − r2)

2 + λ̃3(r7 + r5 − r2 − r4)
2 → 0.

%����#F�� ��! λ̃i>03 0� ��! �!�M��4 0!0��E2�� 2�#J�4 �075���0F�7 �
0�$��� ��J248 � T1245

� T2457
�1!!0 � ��0�#F�41� L 0!0��E2��1� #�I�

�IG!! �!I�� #�I� 5���F� �#!2���0!#F��3 ��0��M�!�7 0!0��E2�4 0��J!
�4��J2�H0�73 � �� �IU!1 �0�!1�0�7 � *� �����J2�7 ���#�5�$�41 �I:
�� �13 ��#�$�!13 $0� 2#7 0�5� $0�I4 Dh �! �0�!1�#��F � I!����!$���0�
�!�I��2�1�3 $0�I4 �!�M��4 ��0�#F�4� L 0!0��E2��� �075���#��F � 0�$:
��� ����1 �I�� �13 ��! . �!�M�� 7$!8�� 2�#J�4 �075���0F�7 � 0�$���
%!�!I���7 ���#!2���0!#F�� ��! 7$!8�� �!0��3 ��#�$�13 $0� ��! !! � :
#4 I�2�0 �075���0F�7 � 0�$��3 � E0� ���0����!$�0 ��#���H ����0������
� #�� �� 5����6! �I#��0� ∂Ω

� �#7 7$!8�� �0���5� 0��� u�1� ���� ,�;�v
2��� �0!#F�0�� �����2�0�7 ���J�1 �I�� �1�

�

"#�5�2��7 I!����!$��1� I��F!�� �� 5����6! 1��J!�0�� �!�4��J:
2!��4� �!0��3 1�J�� ��2�I��0F 0���8 M�5 τ � ���6!2��! 1���1� �6��
u,�,+v3 $0�I4 �!0�� ��!52� ��0���#��F �!�4��J2!���8�

"��F!���! ���8�0�� 2����!0��5� 9���6����#� � 0�!�1!���1 �#�$�!
����#F ���#��F � wLLxu����!���3 ,<<Ov3 ��52� �1!�0� 0��#��!8��5� �0�I:
��J!��7 ��I� � M!�0�5������ I!�!0�7 ��I�� � ;L #��!8�4� �0�I��J!:
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 �2�$� 5����6� �I#��0� ∂Ω 2��J!0�7 � !! 9��1� ��G!�0�!��� � 1!�7!0:
�73 �!�I��2�1� ���G!�0�#70F �!�!�����!2!#!��! � #�� �� ∂Ω

� 
 wNxu� �:
�!���3 ;**-v 2#7 2��1!���5� �#�$�7 I4# ��!2#�J!� 1!0�2 ����0������
� #�� �2�#F 5����$��8 �����83 � ��0���1 ����#F �!0�7 ��#����7 1�:
��1� �6�7 9���6����#� u�1� �� 2!# ;�+v� �� �� ��#7!0 �0���0F ��$0�
���9��1��! �0�I��J!��! u���9��1��! �0�I��J!��! � 2���#��0!#F�41
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���0��!��7 2��1!��4� �!0�� � ��2��J�41� � #�1� �� 5����6! �I#��0�
����1�0����#��F ��#����7 1���1� �6�7 9���6����#� E�!�5�� 2!9��:
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$�04� ���!�����0!83  �2���!14� 1��J!�0��1 �����4� 0�$!�� ��J2�7
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��2�1��0� E0� �0��M!��! 1�J�� �1!�FM�0F� 
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,L3.<3<<xu� ��!���3 ;**;3;**-3;**O3;**.v� �!#!��8 9���6����# ����1�0:
����!0�7 � �IG!1 n:1!���1 �#�$�!3 �0��2� ��#�$�H0�7 9���6����#4
� �2��1!���13 2��1!���1 � 0�!�1!���1 �#�$�7�� �#7 0�5� $0�I4 ��:
�70F ���I!����0� ���0��!��7 �2��0���4� �!0�� � ��0��6��3 ��52� 1���:
0����7 9���6�7 �1!!0 �� �4�43 ����1�0����H0�7 1�2!#F�4! ���1!�4
2#7 �2��1!���5�3 2��1!���5� � 0�!�1!���5� �#�$�!�� ������ �#5���01
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����6�����7 ���0������  �2�$� ���0��!��7 �2��0���4� �!0�� � n:1!�:
��1 �#�$�! ����1�0����#��F � w+-3 ,N<xu���!8���3 ,<<,3,<<<v3 wLOxu���:
�!���3 ;**-v3 w,L3 <<xu� ��!���3 ;**O3;**.v� %��0F  �2��� 1��5��I�� �!
M � ����0����0�!

R
n+m �!�!1!��4� x̃=(x1, . . . , xn, f 1, . . . , fm)=

=(x1, . . . , xn+m)
� )2!�F n

/ �� 1!����0F !��#�2��� ����0����0��
R

n

�!�!1!��4� x=(x1, . . . , xn)3 m
/ $��#� ��1���!�0 1���0����8 �!�0��:

9���6�� f=(f 1, . . . , fm)3 �� ��0���8 �����2�0�7 �2��0�6�7 �!0��� ��J:
2�7 ��1���!�0� 1���0����8 9���6��  �����0 �0 xy f p=f p(x1, . . . , xn)3
p=1, 2, . . . , m

�
����1�0��1 5�1!�1��9��!3 �#����

C
1 3 �0�I��J!��! x̃(X) : Rn→R

n+m

������$!���8 �I#��0� C � ����0����0�� �!�!1!��4� X=(X1, . . . , Xn)
�� 1��5��I�� �! M � 1�0��6!8 ���I� ãi

j=∂xi/∂Xj 3 i=1, 2, . . ., n+m3
j=1, 2, . . ., n

� ����1�0��1 0��J! 5�1!�1��9��!3 �#����
C

1 3 �0�I��J!��!
x̃(ξ) : Rn→R

n+m ����1!0��$!���8 �I#��0� P u��I �#� ��71��5�#F�48
����##!#!���!2v � ����0����0�� �!�!1!��4� ξ=(ξ1, . . ., ξn) �� 1��5��I:
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�� �! M � 1�0��6!8 ���I� b̃i

j=∂xi/∂ξj 3 i=1, 2, . . ., n+m3 j=1, 2, . . ., n3
� �0�I��J!��! X(ξ) : Rn→R

n �I#��0� P �� C � 1�0��6!8 ���I�
ci
j=∂X i/∂ξj 3 i, j=1, 2, . . ., n

� �I#��0� C, P � 1��5��I�� �! M ��#�5�H0�7
�2����7 �41� � �5����$!��41�� �#7 �4��2� 9���6����#� �0�I��J!��!
x̃(X)  �2�!0�7 $!�! ��1�� �6�H 2��� �0�I��J!��8y �I��0��5� ξ(X) �
��71�5� x̃(ξ)

� 	�#� � �I#��0� C ���!2!#!�� �����#��!8��7 �!�4��J2!�:
��7 �!0��3  �2���!1�7 ����2���0�1� � #�� Xl

u 2!�F l
/ ��1!� � #�v3 0�

!! �I�� �1 � M I�2!0 0��J! �!�4��J2!���7 �!0��3 � ���!�6�7 ���#!2:
�!8 �� 9� �$!���H �I#��0F Ω � ����0����0�!

R
n �!�!1!��4� x 7�#7!0�7

�2��0����8 �!0��8�

f

x1

x2

M
ξ2

ξ1

x̃(ξ)

X2

X1

X(ξ) x̃(X)

C

P

Ω

���� ;�,� �#�$�8 n=2, m=1
�

�� ����;�, ���� �� ���1!� 2#7 �#�$�7 n=23 m=13 0�!� ���#7���8 1�:
��0����8 9���6�� f

� )2!�F !2���$�48 ����1!0��$!���8 ���2��0 P �
�#�����0� ξ1, ξ2 �0�I��J�!0�7 �� ������$!���H �I#��0F C � �#�����0�
X1, X2 3 � ��J2�7 � E0�� �I#��0!8 �0�I��J�!0�7 �� 1��5��I�� �! M3
��0���! ��0F ���!�����0F � 0�!�1!���1 ����0����0�! x1, x2, f

� )�2����7
�����#��!8��7 �!0�� � �I#��0� C � ��1�GFH �0�I��J!��7 x̃(X) 0����:
9��1���!0�7 � �!0�� � M3 � ���!�6�7 ���#!2�!8 �� �#�����0F x1, x2
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M

���� ;�;� �#�$�8 n=1, m=2
�

7�#7!0�7 �2��0����8 �!0��8 � 9� �$!���8 �I#��0� Ω
� �� ����;�; ��!2:

�0��#!� �#�$�8 n=13 m=23 ��52� 1���0����7 �!�0��:9���6�7 �1!!0 2�!
��1���!�04 f=(f 1, f 2)

� )2!�F !2���$�48 �0�! �� P �� ��� ξ �0�I��J�:
!0�7 �� �0�! �� C �� ��� X 3 � ��J248 � ��� �0�I��J�!0�7 �� #���H
M � 0�!�1!���1 ����0����0�! x, f 1, f 2 � %��!�6�7 �!0��3 ���0��!���8 ��
#���� M � ��1�GFH �0�I��J!��7 x̃(X)3 �� ��F x 7�#7!0�7 �2��0����8
�!0��8 � �2��1!���8 �I#��0� Ω

�
%��0��!��! �2��0����8 �!0�� ���G!�0�#7!0�7 � ��1�GFH 5�1!�1��9:

��5�3 �#����
C

1 3 �0�I��J!��7 x̃(X) : Rn→R
n+m �I#��0� C �� 1��5��I��:

 �!M ���  �2����1 5�1!�1��9� 1! 5����6 ∂C→∂M� ���G!�0�#7HG�!
�0�I��J!��! 9���6�� x̃(X) ����270�7 � ��1�GFH 1���1� �6�� 9���6�:
���#�� P���6����# !�0F ��0!5��# �0 9���6��3  ����7G!8 �0 ��������:
0�� 1!0��$!���5� 0!� ��� h̃ij

3 ����J2�!1�5� E0�1 �0�I��J!��!1� ��1:
���!�04 1!0��$!���5� 0!� ��� h̃ij

���!2!#7H0�7 � ��1�GFH 1�0��64
���I� h̃ = ã>ã

� ��������04 1!0��$!���5� 0!� ��� h̃ij
7�#7H0�7 ����:

����0�1� 0!� ��� (G−1g̃)ij
3 52! 1!0��$!���! 0!� ��4 g̃ = b̃>b̃ � G = c>c

 �2�H0�7 �0�I��J!��71� x̃(ξ) � X(ξ) ���0�!0�0�!���� 
��5��I�� �! M
7�#7!0�7 1���0���413 � ��E0�1� g̃ij

�� 4��!0�7 1���0���41 1!0��$!:
���8 0!� ���1�


 1��5��I�� �� M � 0�$�! � ����2���0�1� r̃=(x1, . . . , xn, f 1, . . . , fm)
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��1���!�04 1!0��$!���5� 0!� ��� g̃ij

 �2�H0�7 ���0��M!��71�

g̃ij = r̃ξi ·̃rξj , i, j = 1, 2, . . . , n,

52! r̃ξi=(x1
ξi, . . . , xn

ξi, f 1
ξi, . . . , fm

ξi ).
%����#F�� ��J2�7 ��1���!�0� 1���:

0����8 9���6�� f p=f p(x1, . . . , xn) �3 �#!2���0!#F��3

f p
ξi = f p

xjx
j
ξi , i, j = 1, . . . , n, p = 1, . . . , m,

0� �1!!1 2#7 ��1���!�0 1!0��$!���5� 0!� ���

g̃ij = αkl
∂xk

∂ξi

∂xl

∂ξj
,

52!
αkl = δkl +

∂f p

∂xk

∂f p

∂xl
, k, l = 1, . . . , n, p = 1, 2, . . . , m,

δkl
/ ��1��# ����!�!��� ��1���!�04 1!0��$!���5� 0!� ��� Gij

� 0�$�!
����0����0�� X1, . . . , Xn  �2�H0�7 �� ���#�5�$�41 9��1�#�1�

���J! ��� � � �� 2!#! ,�;3 2#7 ����0���������7 9���6����#� ��:
��#F �!1 ���1��������! I! �� 1!���! �0��M!��! ��������0� I1

� In

I1 =
kh(G−1g̃), In = det(G−1g̃)

2#7 9���6�� E

E =
1

nn/2

I
n/2
1

I
1/2
n

=
1

nn/2

[
kh(G−1g̃)]n/2

√

det G
√

det g̃
. u;�,v

��0!5����7 9���6�H E �� �I#��0� P 3 ��#�$�!1 9���6����# � 
wLOxu����!���3 ;**-v

D(x̃(ξ))=

∫

· · ·
∫

P

Edξ1 . . . dξn =
1

nn/2

∫

· · ·
∫

P

[
kh(G−1g̃)]n/2

√
det G√

det g̃
dξ1 . . . dξn.

u;�;v
P���6����# D ��������0!� �0����0!#F�� ��!�I�� �����8 ���0!1 ����:
2���0 x � X

�
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�2!7 ����0���������7 �2��0���4� �!0�� � ��1�GFH  ����� 9���:

6����#�� �� 1���0����1 1��5��I�� �� I4#� ��!2#�J!�� � w+-xu���!8:
���3 ,<<,v� 	�#� � u;�;v ����#F ���0F � ��$!�0�! Gij

!2���$�48 0!�:
 ��3 0� ��#�$�1 9���6����# ���9��1���0� �� 1���0����8 ���!�����0�
� w,N<xu���!8���3 ,<<<v�


 ����0�$!���� ���#�J!��7� ���52� �2�I�!! ����#F ���0F 2��5�H
�����6�����H ���0������  �2�$� ���0��!��7 �2��0����8 �!0��� ���:
�1�0����!0�7  �2�$� ���0��!��7 5�1!�1��9��5�3 �#����

C
1 3 �0�I��J!:

��7 x̃(ξ) : Rn→R
n+m ����1!0��$!���8 �I#��0�P �� 1��5��I�� �!M ���

 �2����1 5�1!�1��9� 1! 5����6 ∂C→∂M� ���G!�0�#7HG�! �0�I��J!:
��! 9���6�� x̃(ξ) ����270�7 � �! �#F0�0! 1���1� �6�� 9���6����#�
u,�Lv3 52! Gij(ξ)

/ E#!1!�04 ��11!0��$��8 ��#�J�0!#F�� ���!2!#!���8
1�0��643  �2����8 � ��J2�8 0�$�! P �

Þ¨Þ .¥ �ª�¢ ��§ ¤ ¢¾ ¢¡�� ¢¡ � ¾¤¥¡�� ¢¡ ��¥���ë

 E0�1 �� 2!#! ����1�0����H0�7 �0�I��J!��73 ��� ��#���� $0� Gij

7�:
#7!0�7 !2���$�41 1!0��$!���1 0!� ���1� 
 �2��1!���1 �#�$�!  �2�2�1
9���6�H E � ��2!

E =
1
√

I1

.

��52� 2#7 ���#7���8 1���0����8 9���6�� f �0�I��J!��! !2���$��5�
�0�! ��P �� ��� ξ �� #���HM � �#�����0� x, f �0���0�7 � ��1�GFH 1�:
��1� �6�� 9���6����#�3 ��#�$�!1�5� � u;�;v3 u9���6����# I4# ��!2:
#�J!� � w+-xu���!8���3 ,<<,vv

D =

∫

P

1

xξ

√

1 + c2
af

2
x

dξ. u;�-v

)2!�F � 6!#7� �����#!��7 �0!�!�FH �5�G!��7 � #�� �!0�� � �I#��07�
I�#FM�� 5��2�!�0�� �1!�0� 1���0����8 9���6�� f ����#F �!0�7 caf

�
K0� � ��$�!03 $0� 0�$�� ����0��#7H0�7 �����1!��� � 1!0���!3  �2���!:
1�8 5��9���1 caf

� 
�!2!��! ��E99�6�!�0� �2��0�6�� ca
� u-v �I��#��:



<,
#!�� 0!13 $0� $!1 I�#FM! E0�0 ��E99�6�!�03 0!1 I�#FM!5� �5�G!��7
� #�� �!0�� 1�J�� 2�I�0F�73 �1�3 �����1!�3 wLLxu����!���3 ,<<Ov�

�����!��! K8#!�� 2#7 9���6����#� u;�-v �1!!0 ��2

xξ

√

1 + c2
af

2
x = const. u;�Lv


 2��1!���1 �#�$�! � x=(x, y)3 ξ=(ξ, η) � ���#7���8 9���6�!8 f
� u;�;v ��#�$�!1 �I�IG!��48 9���6����# 5#�2���0�3 ��!2#�J!��48
� w+-xu���!8���3 ,<<,v3

D=
1

2

∫∫

P

(x2
ξ + x2

η)(1 + f 2
x) + (y2

ξ + y2
η)(1 + f 2

y ) + 2fxfy(xξyξ + xηyη)

(xξyη − xηyξ)
√

1 + f 2
x + f 2

y

dξdη.

u;�+v
P���6�� x(ξ, η)3 y(ξ, η)3 2��0��#7HG�! 1���1�1 D 3 ���G!�0�#7H0 �0�I:
��J!��! ����1!0��$!���5� ���2��0� P �� 1��5��I�� �!M u�1� ����;�,v3
��0���! 7�#7!0�7 ���!�����0FH 1���0����8 9���6�� z=f(x, y) � ���:
�0����0�! x, y, f

� �0�I��J!��! P→M 7�#7!0�7 �I��0�41 � 5��1���$!:
���1� �0�I��J!��H M→P � %�71�! 5��1���$!���! �0�I��J!��! M→P
��G!�0��!0 � 7�#7!0�7 2�99!�1��9� 1�13 �1�3 �����1!�3 w,.Lxuz�b]oZ3
�gt3 ,<O.v�

	�#� J! ����#F �!0�7 �!�0����7 1���0����7 9���6�7 f 3 0� � 
u;�;v ��#�$�!1 �I�IG!��48 9���6����# 5#�2���0�3 ��!2#�J!��48 �
w+-xu���!8���3 ,<<,v � ����1�0�����M�8�7 � w;3,L.xu� ��!���3 ����!���3
;***3;**;v3

D =
1

2

∫∫

P

α11(x
2
ξ + x2

η) + 2α12(xξyξ + xηyη) + α22(y
2
ξ + y2

η)

(xξyη − xηyξ)

√

1 +
m
∑

p=1
(f p

x)2 + (f p
y )2

dξdη, u;�Nv

52!
α11 = 1 +

m
∑

p=1

(f p
x)2, α12 =

m
∑

i=1

f p
xf p

y , α22 = 1 +
m
∑

p=1

(f p
y )2.


 w;.xu(#���!� � 2��3 ;**+v 2#7 �2��0�6�� �!0�� � �!�0���41 ��#71 ��:
��#F ���#��F �����!��7 K8#!�� 2#7 9���6����#� u;�Nv�
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Þ¨ê @©©�¢���¡�ª�� ß¥ �ª�¢ ��¢¤

 �2��1!���1 �� ��� ξ ����1�0����!0�7 �0�! �� ��71�8 #����3 ���0�7:
G�8 � N1−1 !2���$�4� �0�! ��� 4ξ=1

� P���6����# u;�-v �4$��#7!0�7
�� 9��1�#! ��71��5�#F�����

Dh =

N1−1
∑

i=1

1

(xξ)i+1/2

√

1 + c2
a(fx)2

i+1/2

, u;�Ov

52! ����#F �!0�7 �� ���0��7 ��������1�6�7 ���� ��2�4�

(xξ)i+1/2 =
xi+1 − xi

4ξ
= xi+1 − xi , (fx)i+1/2 =

fi+1 − fi

xi+1 − xi
. u;�.v


 2��1!���1 �#�$�! ����1�0��1 ����$��:I�#��!8��! �0�I��J!��!
!2���$��5� ���2��0� i≤ξ≤i+13 j≤η≤j+1 u 2!�F 1≤i≤N1

3 1≤j≤N2
v �

����1!0��$!���8 �#�����0� ξ, η �� $!04�!��5�#F��H 7$!8�� �� ���0��8
�!0�� � �#�����0� x, y 3 �I�� ������H � #�1� � ����2���0�1� (x, y)i,j

3
(x, y)i,j+1

3 (x, y)i+1,j+1
3 (x, y)i+1,j

3 ��0��4! �����1!�����4 �0 , 2� L� 

wLLxu����!���3 ,<<Ov 9���6����# u;�+v ��������1���!0�7 0���1 �I�� �13
$0�I4 !5� 1���1�1 2��0�5�#�7 �� �!0�! � �4���#4� $!04�!��5�#F�4�
7$!!�

Dh =

Nc
∑

n=1

4
∑

m=1

1

4
[Em]n , u;�<v

52! [Em]n
/  ��$!��! ��2��0!5��#F��5� �4��J!��7 � u;�+v3 �4$��#!���!

� m:1 �5#� ���2��0� n:8 7$!8��3Nc=(N1−1)(N2−1)
/ $��#� 7$!!� �!0���

	�#� 1��J!�0�� �4���#4� �!0�� �!���0�3 0� ���0!1� �#5!I���$!����
�����!��83  �������4� 2#7 ��J2�5� ���0�!��!5� � #�

Rx =
∂Dh

∂xn
= 0 , Ry =

∂Dh

∂yn
= 0, u;�,*v

un / ��1!� � #�v �1!!0 �� ���8�!8 1!�! �2�� �!M!��!3 7�#7HG!!�7 �4:
���#�8 �!0��8� �#7 !5� ����J2!��7 ����#F �!0�7 �0!��6�����7 ��� �:
�FH0�������7 ���6!2���3 ���#�5�$��7 u,�,+v3 ����1�0�!���8 � �� 2!:
#! ,�O 2#7 0�!�1!���5� �#�$�7� 
 wL;xu����!���3 �����$F7�3 ,<..v ��:
�� ���3 $0� � �#�$�! ���0��!��7 �����#��!8��8 �!0�� � ���� ��#F��8
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�I#��0� Ω I! �2��0�6�� u��52� fx=fy=0v 2����!0�48 9���6����# Dh

�1!!0 I!����!$�48 I��F!� �� 5����6! 1��J!�0�� �4���#4� �!0��� K0�
�I��#��#!�� 7��I����1 �0�I��J!��7 J=xξyη−xηyξ

3 ��0��48 �0��0 �  ��:
1!��0!#! u;�+v� 	�#� � ����8:#�I� 7$!8�� �!0�� �!�M��4 �1!G�H0�7 �
0���! ��#�J!��!3 $0� 7$!8�� �0�����0�7 ��$0� �!�4���#�8 u�!�4���#�7
$!04�!��5�#F��7 7$!8�� ����1�!0�7 ��� �4��J2!���7v3 �2�� � $!04:
�!� 0�!�5�#F�����3 �� ��0��4! 7$!8�� �� I���!0�7 2��5���#71�3 �4��J:
2�!0�73 !5� �#�G�2F3 �����7 0.5J 3 �0�!1�0�7 � ��#H � ���0�!0�0�!���
Dh→∞� "!����!$�48 I��F!� ������7!0�7 � � �#�$�! ���0��!��7 �2��:
0���4� �!0��3 ��52� 1���0����7 9���6�7 5#�2��73 f∈C1(Ω)3 �����#F��
�4��J!��! ��2  ����1 ����7 � u;�+v 7�#7!0�7 �5����$!��41 �� ��!8 �I:
#��0� Ω

� �2����3 !�#� f �����2#!J�0 �#���� �� �4��4� 9���6�83 $0�
�1!!0 1!�0� � �#�$�! ���$!0� 5��!�I�#�$!����  �2�$ 5� ���8 2���1���3
$��#!��� ���!2!#7!14! ���� ��2�4! fx, fy

�0����70�7 �!�5����$!��4:
1� � ���!�0���0� �� �4���� 
�#!2�0��! E0�5� � 9���6����#� Dh ��$! �:
!0 I!����!$�48 I��F!�3 $0� �����2�0 � ��!�04����H 7$!!� � ��0�����!
���$!0��� �#7 0�5� $0�I4 ��!2�0���0�0F �4��J2!��! 7$!!� �!0��3 ��:
��#F �!0�7 ��!6��#F��7 0!�����3 ���0�7G�7 � Q �1���J������R ���� :
��2�4� �0 1���0����8 9���6��3 ��!2#�J!���7 � wLLxu����!���3 ,<<Ov �
������#� ��������7 � wN3 ,L3.<xu� ��!���3 ;**;3;**-3;**.v� K0�0 ������
2!0�#F�� �� I���!0�7 � �� 2!#! ;�+�

Þ¨î ´��ë�¢��� �� ¡¢¾��� �¾�©��ª��

 ���0�7G!1 �� 2!#! ���� 4��!0�73 $0� ��� $��#!���1 �!M!���  �2�$�
��M� 2#7 �!#��!8��5� �����!��7 �!�!���� ��� ��I#H2!��� �!��0��4�
��#���8  ��$!��7 �!0�$��8 9���6�� � 7$!8��� ��2��J��8 �!0�� ��0�H0:
�7 �!� 1!��41�� ��52�  �2�$� ���0��!��7 �2��0����8 �!0�� 1�J�� ���:
�1�0����0F �02!#F�� �0 �������8  �2�$� 9� �$!���5� 1�2!#�������73
��� !�#� I4 ����#F ���#��F ���#�0�$!���  �2����7 1���0����7 9���:
6�7� K0� �� ��#7!0 ���#!2���0F �!��0��4! ��J�4! ���8�0�� 2����!0��5�
9���6����#�3 ��0��4! ������7H0�7 � � �IG!1 �#�$�! ��� ���$!0! 5�2:



<L
��2���1�$!���� 0!$!��8 � �� �4��1��

����1�0��1 ���0��!��! �2��0����8 �!0�� � �#�$�! �!M!��7 �2��1!�:
��5� �!#��!8��5� �����!��7 �!�!����� ��!I�!0�7 �!M�0F  �2�$� ��M� �
�� �4��41� ��$�#F�41� 2���41�

∂u

∂t
+ u

∂u

∂x
= 0 , u(x, 0) =

{

ul
��� x < 0 ,

ur
��� x ≥ 0 ,

ul > ur > 0 , u;�,,v

��52� �#!�� ������� 2��J!0�7 ���$�� �� ������0FH w=(ul+ur)/2
�

�#7 ���$!0� ����#F �!0�7 ��0!5��#F��! ���0��M!��!
∮

C

u dx − 1

2
u2dt = 0 , u;�,;v

��0���! �� 5#�2��� �!M!��7� E�����#!�0�� ����2��1� 2�99!�!�6��#F:
��1� �����!��H3 � � 0� J! ��!17 !1� �2��#!0���7H0 �� �4��4! �!M!:
��7� )2!�F ��0!5��������! �����2�0�7 �� #HI�1� ���0��� C

�

-

6

-

6
t

x
ic−2 ic−1 ic ic+1

n

n+1 δ

0 L
a a

1 2

3

x

u

r r

r

ul

ur + ul

2

u�v uIv���� ;�-� %�2��J��7 �!0�� u�v3 0�!�0�$!$��7 1�2!#F �2��0�6�� uIv�

�� �#�����0� �!�!1!��4� x, t ��!2!1 ��2��J��H �� ���0��H �!0:
�� u�1� ����;�-�v3 � M�5�1 �� x �� n:1 ��!1!���1 �#�! hi+1/2=xn

i+1−xn
i� �� n+1:1 �#�! hi+1/2=xn+1

i+1 −xn+1
i

3 � M�5�1 �� ��!1!�� 4t=tn+1−tn 3
52! n, i

/ ��#�J�0!#F�4! 6!#�$��#!��4! ��2!��4� �#7 �!�!�$!0�  ��:
$!��7 �!0�$��8 9���6�� �� n+1:1 ��!1!���1 �#�! ui+1/2 3 �0�!�!���5� �
6!�0�� ��0!���#�3 I�2!1 ����#F ���0F ��!1� ����(�2����� w--xu(�2����3
�7I!�F��83 ,<OOv3 ��0���7 ��#�$�!0�7 ��� ��������1�6�� ��0!5��#F��:
5� ���0��M!��7 u;�,;v3 ��52� ��0!5��������! �����2�0�7 �2�#F 5����:
64 $!04�!��5�#F���� � �!�M���1� � � #�� (i, n)3 (i+1, n)3 (i+1, n+1)3



<+

(i, n+1)

ui+1/2 =
1

hi+1/2

[

ui+1/2hi+1/2 −
4t

2
(u2

i+1 − u2
i ) − uihi + ui+1hi+1

]

, u;�,-v

52! ui, ui+1
/  ��$!��7 9���6�� �� #!��1 � �����1 ���6�� ��0!���#�3

hi=xn+1
i −xn

i
3 hi+1=xn+1

i+1 −xn
i+1

�

!��� �#!2�HG!! �0�!�J2!��!3 �9��1#!���! � ��2! 0!��!14 wN3

.<xu� ��!���3 ;**;3;**-v
�́¢��¡� Þ¨î¨³ ðÚÈÁÜ ÊÃÈ×ÀÁ ÓÊËÇËÍÑÁÈÉ ÄÃ ÈÀÁÂÀÏ ÚÅÐÆ ÂËÁËÊËÎ ÓÀÊØ

ÇËÄÃ×ÃÐÜÄË ÊÃÈÈÁÃÇÐÀÄÆ ÊÃÇÄËÒÀÊÄË È ÙÃàËÒ h Ñ ÓÊÑ ËÁÈÚÁÈÁÇÑÑ ÃÍÃÓØ
ÁÃâÑÑ ÍÇÑÌÚÁÈÉ ÈË ÈÂËÊËÈÁÜÔ ÓÀÊÀÒÀÕÀÄÑÉ ÈÂÃ×ÂÃ w Ý /ÃÐÀÀÏ ÓÚÈÁÜ
Ç ÒËÒÀÄÁ ÇÊÀÒÀÄÑ tn Ï ÂËàÍÃ ÇÂÐÔ×ÃÀÁÈÉ ÓÊËâÀÍÚÊÃ ÃÍÃÓÁÃâÑÑ ÚÅÐËÇÏ Ç
ÓÀÊÇÆÖ 0.5(N1−1) äN1èÄÀ×ÀÁÄËÀç ÑÄÁÀÊÇÃÐÃÖ ÅÄÃ×ÀÄÑÀ ÈÀÁË×ÄËÎ áÚÄÂØ
âÑÑ ÊÃÇÄË ul Ï Ã Ç ËÈÁÃÐÜÄÆÖ ur

Ý ñËàÍÃ ÓÊÑ ÓÀÊÀÈ×ÀÁÀ ÄÃ ÃÍÃÓÁÑÇÄËÎ
ÈÀÁÂÀ ÅÄÃ×ÀÄÑÉ ÈÀÁË×ÄËÎ áÚÄÂâÑÑ ÄÃ n+1ØÒ ÈÐËÀ ËÈÁÃÔÁÈÉ ÄÀÑÅÒÀÄØ
ÄÆÒÑÝ
£¢����������¤¢¨ 
�:�!��4�3  �1!0�1 $0�  �2�$� ��11!0��$�� �0��:
��0!#F�� 6!�0��#F��5� � #� ic=0.5(N1−1)+13 ������0F ��0���5� �����:
�7!0�7 �!� 1!���8 � �����8 w

� ����1�0��1 ��0!���# (ic−1, ic)
u�1�

����;�-�v� %��0F �� n+1:1 �#�! � !# ic−1 �1!�0�#�7 �� ����0�7��! δ �0
��#�J!��7 xn+1

ic−1=xn
ic−1+w4t3 52! �� ����2�#�7 I4 ��� �0��0�0��� �2��:

0�6��� %����#F�� �� n:1 �#�! hic−1/2=h3 0� �� n+1:1 �#�! hic−1/2=h−δ
�

)�1!0��3 $0� ���!�6�� I����4� �0���� $!04�!��5�#F��8 7$!8�� �� ��F
x ����4 hic=4tw � hic−1=4tw+δ �  �2��  ��$!��7 9���6�� �� ���:
6�� ��0!���#� � �!M!��7  �2�$� � �����2! �� �4�� uic−1=ul

3 uic=ur
3

��#�$�!1 � u;�,-v  ��$!��! �!0�$��8 9���6�� �� n+1:1 �#�!

uic−1/2 =
1

h − δ

[

hul −
4t

2

(

u2
r − u2

l

)

− (4tw + δ)ul + 4twur

]

=

=
1

h − δ

[

hul −
4t

2
(ur + ul) (ur − ul) + 4tw (ur − ul) − δul

]

= ul.

����8 J! �! �#F0�0 ��#�$�1 !�#� �� F1!1 uic=ul
�
�
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�#!2���0!#F��3 ��� ���0��!��� �2��0����8 �!0�� 1�J�� �! �!M�0F

�������H  �2�$�3 � ����0� ��#�5�0F  ��$!��7 9���6�� ����41� ul
�

��0!���#�� #!�!! 6!�0��#F��5� � #� ic
� ur

� ��0!���#�� ����!! �!5��
�2��0���HG�H�7 � �!M!��H �!0�� I�2!1 �0���0F �� �����! �!M!:

��7  �2�$� � 1���1� �6�� 9���6����#� u;�-v� 
 ��#� ��11!0���  �:
2�$� I�2!1 ����1�0����0F 0�#F�� #!��H ��#����� �!0��3 ���0�7G�H � 
0.5(N1−1) 7$!!�3 � 2#7 ����0�04 ��#�5�!13 $0� ��� ��2!�J�0 0�#F�� 0��
� #�3 0�!� ic=3

� K0� �! � 1!��0 �0���0��� �!M!��7� �IG�8 �#�$�8 ic>3
1�J!0 I40F  �0!1 #!5�� ��#�$!� �I�IG!��!1 E0�8 0�!�0�$!$��8 1�2!#�
�2��0�6��� %!�!82!1 � ����H ���0!1� ����2���03 2��J�G�H�7 �� ���:
���0FH w u����;�-Iv� 
 ���6!��! 1���1� �6�� 9���6����#� 5����$�4!
� #4 , � - 9���������4� %�#�J�� x1=03 ��#�$�1 x3=L3 52! L=2h3 h /
M�5 ��$�#F��8 �����1!���8 �!0��� ����2���0� x � #� 2 7�#7!0�7 �!�!:
1!���8 � ���!2!#7!0�7 � �! �#F0�0! �!M!��7 �����6�����8  �2�$�� )��:
$!��7 9���6�� u � E0�� 0�!� � #�� ���!2!#7H0�7 $!�! #��!8��H ��0!�:
��#76�H  ��$!��8 u � 6!�0��� ��0!���#�� �3 �#!2���0!#F��3 u1=u2=ul

3
u3=(ul+ur)/2

�

Þ¨ò ±¤¢½��¤� ¾������ ¢ì¢ ß¥ �ª�¢ ���

 ���0�7G!1 �� 2!#! ����1�0����H0�7 ���8�0�� 2����!0��5� 9���6��:
��#� � �2��1!���1 � $��0��1 2��1!���1 �#�$�!� 
 �2��1!���1 �#�$�!
���� 4��!0�73 $0�  �2�$� 1���1� �6�� u0�$�!! ������ E��0�!1�1�v 2��:
��!0��5� 9���6����#� ;�O �1!!0 2�� �!M!��7 � ��� 2��0�J!��� �!��0�:
��5�  ��$!��7 ��E99�6�!�0� �2��0�6�� ca

�I� �!M!��7 ���$�#� �#���:
H0�7 � �2��3 �  �0!1 ��� ��!#�$!��� ca

��$! �H03 $0� �����2�0 � ��#�:
�4����H 7$!8�� �!0��� �#7 0�5� $0�I4 ��#�$�0F �4���#48 9���6�:
���#3 0�!� �I!��!$�0F !2���0�!����0F �!M!��73 ����#F �!0�7 �!5�#7��:
 �6�7 9���6����#�� �!5�#7�� �����48 9���6����# �1!!0 I!����!$�48
I��F!�3 ��!2�0���G�HG�8 ��#��4����! 7$!!� ��� #HI�8 �0!�!�� �5�:
G!��7 �!0�� � ���!�0���0� �� �4�� 1���0����8 9���6��� 
 2��1!���1
�#�$�! ��1� ���70�! 1���1� �6�� 2����!0��5� 9���6����#� 1�J!0 �!
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�1!0F �14�#� � ��2� �0��0�0��7 �!M!��8� �!1 �! 1!�!!3 �0!��6�����7
���6!2���3 ���1!�7!1�7 2#7 �!M!��7 ���0!14 �#5!I���$!���� �����!:
��83 �� ��#7!0 ��#F�� �5�G�0F #���� �!0�� � �� �4��1 � 5����0�����0F
�!�4��J2!����0F !! 7$!!�� ��$�!1 � ����1�0�!��7 I�#!! ����0�5� �2��:
1!���5� �#�$�7�


 ��1��� 0�!�0�$!$��8 1�2!#� � ��$!�0�! 1���0����8 9���6�� ��:
��#F �!0�7 u

� ��������1�6�7 u;�Ov 9���6����#� u;�-v ���G!�0�#7!0�7
�� #!��8 ��#����! �!0��3 ���0�7G!8 � 2��� 7$!!�� �����!0�48 9���:
6����# �1!!0 ��2

Dh=
1

x
+

1

(L − x)
√

1 + c2
a(4u)2/(L − x)2

, u;�,Lv

52!
4u= |u3 − u2| =

∣

∣

∣

∣

ur + ul

2
− ul

∣

∣

∣

∣

=
1

2
|ur − ul| .

�#7 1���1� �6�� u;�,Lv ����#F �!0�7 1!0�2 �FH0���

xl+1 = xl − τ
∂Dh

∂x

(

∂2Dh

∂x2

)−1

, u;�,+v
52! �0!��6����48 ����1!0� τ≤1 � �!���7 ���� ��2��7 �1!!0 ��2

∂Dh

∂x
= − 1

x2
+

1

(L − x)2
[

1 + c2
a(4u)2/(L − x)2

]3/2
.

�� ����;�L ��!2�0��#!�4 5��9���  �����1��0!8 Dh � ∂Dh/∂x �0 x
2#7 �� #�$�4�  ��$!��8 ��E99�6�!�0� �2��0�6�� ca

��� ul=2 3 ur=1 �
M�5! ��$�#F��8 �!0�� h=0.1

� 
�2��3 $0� ��� ca=0 9���6����# Dh �1!!0
1���1�1 � 0�$�! xmin=0.13 $0� ���0�!0�0��!0 �����1!���8 �!0�!� %��
ca>0 9���6����# 0!�7!0 �4���#��0F3 ����!! 1���1�1� � ���!�0���0�
� #� 3 ��7�#7!0�7 1����1�13 �3 0���1 �I�� �13  �2�$� �� ����� E��0�!:
1�1� �! �1!!0 !2���0�!���5� �!M!��7� � !�#� � ��!#�$!��!1 ca

1���1�1
9���6����#� Dh �2��5�!0�7 ������3 $0� ���0�!0�0��!0 �1!G!��H � #� 2
� 33 0�!� �5�G!��H �!0�� �� �� �4�!3 0� 1����1�1 Dh �2��5�!0�7 �#!��
�0 � #� 33 $0� ���0�!0�0��!0 �� �!J!��H �!0��� 
 1��5�1!��4�  �2�:
$�� E0� 1�J!0 �����2�0F � �! ��1 �1!G!��71 � #�� �!0�� u�!�!����
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� 1���1�1� �� 1����1�1 � ���I���0 � ���6!��! �0!��6�8 �  �����1�:
�0� �0 ��$�#F��5� ���I#�J!��7v3 0�!� � �!�!�#!�04����H #���8 �!0�� �3
��� �#!2�0��!3 � �!��0�8$����0� �!M!��7 �������8  �2�$�� "�#!! 0�5�3
��� 2��0�J!��� ���0�$!���5�  ��$!��7 c01a �I� E��0�!1�1� �� ��0!���#!
(0, L) �#���H0�7 � 2�#!! ��$! �H0 u�1� �����H ca=0.2 �� ����;�Lv� �#7
0�5� $0�I4 ��80� c01a 3 �!�I��2�1� �������70F � ��#H �!���H � �0���H
���� ��2�4! �0 Dh � �!M�0F ���0!1� 2��� �����!��8 �0����0!#F�� x01
� c01a � �#7 ��� ���4� �4M! ����1!0��� ��#�$�1 x01'0.159 � c01a '0.185

�
%�� ca<c01a �� ����;�L� ��2��3 $0� Dh �� �!��0���1 ��0!���#! x 7�#7!0:
�7 1���0���� �� ���0�HG!8 9���6�!8 ��#�0F 2� 2��0�J!��7 1����1�1�
Dh � ����! ���!2!��! Dh 7�#7!0�7 ���!$�41 I��F!��13 ��0��48 ��!�70:
�0��!0 �4��2� � #� ;  � ��!2!#4 ��0!���#� 0<x<2 ��� ���G!�0�#!���
�0!��6�8� %�� ca>c01a E0�0 I��F!� �#!�� �0 � #� 3 ��$! �!0 � 1���1� �:
6�7 Dh �����2�0 � ��#��4����H �����8 7$!8���

u�v uIv

Dh ∂Dh/∂x

���� ;�L� )�����1��0� Dh u�v � ∂Dh/∂x uIv �0 ca
�


4��M!1 ��������1�6�H 2#7 9���6����#� � �IG!1 �#�$�!3 ��52�
#!��7 ��#����� �!0�� ���0��0 � 0.5(N1−1) 7$!!�

Dh =
[0.5(N1−1)]2

x
+

1

(L − x)
√

1 + c2
a(4u)2/(L − x)2

,



<<
52! L=0.5(N1−1)h

� K0�0 9���6����# 0��J! 7�#7!0�7 �2������1!0��$!:
���13 �����#F�� ��! ��0!���#4 ���1! ���8�!5� ������ �1!H0 �2�����:
��H 2#����

%�� ��!#�$!��� $��#� � #�� N1
���0�$!���!  ��$!��! ��E99�6�!�0�

�2��0�6�� c01a �1!�FM�!0�73 � xmin
�1!G�!0�7 �0 ic

�#!��� �����1!�3 ���
N1=101 �!#�$��� c01a '0.1263 $0� �1!�FM�!0 �� 1�J���0F �5�G!��7 �!0��
� �� �4���

�#7 0�5� $0�I4 �2!#�0F 9���6����# �4���#41 ��!2��#�J�13 $0�
��� ���F�������� x ���� ��2��7 ux

� u;�-v ��0�!0�7 �!� 1!���83 0�!� Q �:
1���J���!0�7R ���� ��2��7 �0 1���0����8 9���6��� K0�0 ���!1 I4#
��!2#�J!� � wLLxu����!���3 ,<<Ov3 � 0!��!0�$!���8 ���#� 2#7 �2��1!�:
��5� � 2��1!���5� �#�$�!� I4# ����!2!� � wN3.<xu� ��!���3 ;**;3;**-v�
�$�0�7 (ux)i+1/2

�!  ����7G!8 �0 x3 0�!� ��#�5�7 � u;�,Lv �4��J!��! ��2
 ����1 ����7 �!  ����7G�1 �0 x3 ����2�1 ���� ��2��H �0 ����5� 9���:
6����#� Dh

1

∂Dh
1

∂x
= − 1

x2
+

1

(L − x)2
√

1 + c2
a(4u)2/(L − x)2

. u;�,Nv

�0�I4 ��#�$�0F 7��48 ��2 Dh
1

u�� ��!1 !5� �!5�#7�� �����41 2��:
��!0�41 9���6����#�1v �����0!5����!1 u;�,Nv� �1!!1 u���0�7���7 ��:
0!5��������7 ��#�5�!0�7 �����8 ��#Hv

Dh
1 =

1

x
+

1

ca4u
ln

[

ca4u

L − x
+

√

1 +
c2
a(4u)2

(L − x)2

]

. u;�,Ov

%�!2�0��#!��4! �� ����;�+ 5��9��� Dh
1

� ∂Dh
1/∂x 2!1���0����H0

0�� ��J�4� ���8�0�� ����5� �#���� 9���6����#�� Dh
1
y

,� P���6����# Dh
1

7�#7!0�7 �4���#41 �� ��0!���#! (0, L) ��� #HI4�
 ��$!��7� ca

�
;� %�� ca → ∞ ��#�J!��! xmin

2#7 Dh
1
�0�!1�0�7 �#!�� � L

�
-� P���6����# Dh

1
�1!!0 I!����!$�48 I��F!� ��� #HI4� ca

3 ��!2�0���:
G�HG�8 ��#��4����! �����8 7$!8���



,**

u�v uIv

Dh
1

∂Dh
1
/∂x

���� ;�+� )�����1��0� Dh
1

u�v � ∂Dh
1/∂x uIv �0 ca

�

���8�0�� , 5����0���!0 ��G!�0������! !2���0�!���5� �!M!��7 ����:
�6�����8  �2�$� �� ��0!���#! (0, L)

� ��5#���� ���8�0�� ;3 � !# ; 1�J!0
���I#�J�0F�7 � � #� - �� #HI�! 1�#�! ����0�7��!� ����1 �I�� �13 1�:
2�9�6������ ���6!�� �4$��#!��7 �!���8 ���� ��2��8 �0 9���6����#�
�� 9��1�#! u;�,Nv3 ����2�0�7 �!M!��!  �2�$� 1���1� �6�� Dh �� ����1
�#���! �!5�#7�� �����4� 9���6����#�� Dh

1

� P���6����#4 � 2����5�
�#���� �I#�2�H0 I!����!$�41 I��F!��1 ��� #HI4� ca

� �� ��#7H0 �5�:
G�0F �!0�� � �I#��07� �� �4��� 1���0����8 9���6�� ���� ��#F�41 �I:
�� �13 $0� �  �2�$�� 1�2!#�������7 �� �4��4� 0!$!��8 2�#J�� �����:
2�0F � ��G!�0�!���1� ���4M!��H 0�$���0� ���$!0��� K0� 0�� ���8�0��
������7H0�7 � � �IG!1 �#�$�!3 ��52� �!0�� ��2!�J�0 N1

7$!!��
��!�0�$!$��7 1�2!#F �2��0�6�� ���� 4��!03 $0� �M�I�� �4$��#!:

��83 �I��#��#!���7 �� 1� 4����!1 �� �4�� � ��0!5��#F��8 ���1! L1�#� L2
�!2!0 �!I7 ��� Cd3 52! d

/ M����� �� 1� ����5� ���$��3 C / ���:
�0��0�� �#!2�HG!! �#!2�0��!  ��#H$�!0�7 � 0�13 $0� � 5��!�I�#�$!����
 �2�$�� ��#�$�! 2��� ���!2��� 7$!!�3 �2�� � ��0��4� ����2�0�7 �  ��!
�� 1� ����5� ���$��3 � 2��5�7 � �I#��0� 5#�2��5� 0!$!��73 �� 1!�4 ��:
0��4� �0#�$�H0�7 �� 1��5� �� 3 �! ����J�!0 0�$���0F �!M!��7� ����1
�I�� �1 �!0�� 1�J!0 �! ��3  � �2�� 7$!8��3 �5�G�0F�7 � �� �4���



,*,
����1�0��1 0!�!�F $��0�48 �#�$�8 ���0��!��7 2��1!��4� �2��0��:

�4� �!0��3 ��52� 2����!0�48 9���6����# 0��J! �2�!0�7 ��!�0� � �2��:
����1!0��$!���1�� %�!2��#�J�1 $0� 1���0����7 9���6�7 f � 9���6�:
���#! u;�+v  �����0 0�#F�� �0 �!�!1!���8 x

� 
 ��$!�0�! �I#��0� P I!�!1
��71��5�#F��� �� �0�����1� N1

� ,� %�� ���0��!��� �0�I��J!��7 P
�� �I#��0F Ω  �2�HG�! �0�I��J!��! 9���6�� �1!H0 ��2 x=x(ξ)3 y=aη
ug2�]Z[kv � fy=xη=yξ=0

� P���6����# u;�+v ���1!0 ��2 u 2!�F ��#�5�!1
a=1v

D =
1

2

1
∫

0

N1
∫

0

x2
ξ(1 + f 2

x) + 1

xξ

√

1 + f 2
x

dξdη =
1

2

N1
∫

0

x2
ξ(1 + f 2

x) + 1

xξ

√

1 + f 2
x

dξ. u;�,.v

��� � ���FM!3 �1!�0� f ����#F �!1 caf
� P���6����# u;�,.v �0#�$�!0�7

�0 �2��1!���5� u;�-v 2���#��0!#F�41 $#!��1
N1
∫

0

xξ

√

1 + c2
af

2
xdξ,

�4��J�HG�1 2#��� �����8 5��9��� 1���0����8 9���6�� caf
� �!$!���

y=const
� ��#�$�! E0�5� $#!�� ���!2!#7!0 �� ��6� ���8�0� �2��1!���5�

� 2��1!���5� �!5�#7�� �����4� 2����!0�4� 9���6����#���
"�2!1 ���2!�J���0F�7 ��!2��#�J!��83 ����#F �!14� � 0�!�0�$!$:

��8 1�2!#� �2��0�6��� ��������1�6�7 9���6����#� u;�,.v �� #!��8 ��:
#����! �!0��3 ���0�7G!8 � 2��� 7$!!�3 �1!!0 ��2

Dh=x+
1

x
+(L−x)

√

1+c2
a(4u)2/(L − x)2+

1

(L−x)
√

1+c2
a(4u)2/(L − x)2

.

�����!0�48 9���6����# Dh �I#�2�!0 0���1� J! ���8�0��1� ��� �
9���6����# � �2��1!���1 �#�$�!� �� ��0!���#! (0, L) ��� ca<c01a ��G!:
�0��!0 1����1�1 � 1���1�1 Dh 3 ��0��4! ��$! �H0 ��� ca>c01a u ��$!��!
c01a 3 ���!$��3 �0#�$�!0�7 �0  ��$!��7 2#7 9���6����#� u;�,Lvv�

�#7 �!5�#7�� �6�� Dh ��70F  �1���J���!1 ���� ��2��H (ux)i+1/2��� ����J2!��� ���� ��2��8 �0 ����5� 9���6����#� Dh
1
3 0�!� �$�0�!1



,*;
�4��J!��! ��2  ����1 ����7 �� �0���1 � 0�!0F!1 �#���!1�1 �!  ����7:
G�1 �0 x

� %�#�$�1
∂Dh

1

∂x
= 1− 1

x2
−
√

1 + c2
a(4u)2/(L − x)2+

1

(L − x)2
√

1 + c2
a(4u)2/(L − x)2

.

%����0!5������� 2����! �4��J!��! � ��#�J�� ���0�7���H ��0!5����:
����7 �����8 *3 ��#�$�1 7��48 ��2 Dh

1

Dh
1=

1

x
+x+

√

(L − x)2+c2
a(4u)2+

1

ca4u
(1−c2

a(4u)2)ln

[

ca4u

L−x
+

√

1+
c2
a(4u)2

(L − x)2

]

.

�� ����;�N ��!2�0��#!�4  �����1��0� Dh
1
� ∂Dh

1/∂x �0 x 2#7 �� #�$:
�4� ca

� �0#�$�! �0 �2��1!���5� �#�$�7 ���0��0 � 0�13 $0� ��� 0�#F��
�4��J!��! 1−c2

a(4u)2 �0�����0�7 �0��6�0!#F�413 0�!� � 2����1 �#�$�!
��� ca>1/4u=23 9���6����# 0!�7!0 �4���#��0F � � �!5� �!0 �0�6�����:
�4� 0�$!�� �� �!��48 � 5#72 ��J!0�73 $0� E0� ����!2!0 � ��#��4����H
�����8 7$!8�� ��� ���40�! ��80� 1���1�1 Dh

1
� ��1�GFH �0!��6���:

��8 ���6!2��4 u;�,+v� 
 2!8�0��0!#F���0� J! E0�5� �! �������2�0 ��
�#!2�HG!8 ���$��!� ��82!1 �0���H ���� ��2��H �0 Dh

1

∂2Dh
1

∂x2
=

1

x3
+

2(L − x)2 + c2
a(4u)2

(L − x)2
√

(L − x)2 + c2
a(4u)2

[

1

(L − x)2 + c2
a(4u)2 + 1

]

.

%�� �0�!1#!��� � #� ; � � #� -3 0�!� x � L3 �1!!1 L−x�ca4u �3
�#!2���0!#F��3 �0��M!��! �!���8 � �0���8 ���� ��2�4� � u;�,+v � 0�$:
���0FH 2� I!����!$�� 1�#�8 �!#�$��4 �����

(L − xl)
1 − c2

a(4u)2

1 + c2
a(4u)2 .

%����#F�� 1−c2
a(4u)2<03 0� xl �� ��J2�8 �0!��6�� ��#�$�!0 �����G!:

��!3 1!�FM!! $!1 ����0�7��! 2� �����5� � #� x3=L
� �#��� �����8 7$!8:

�� ��0�!0�7 I�#FM!8 ��#7 � 0�$���0FH 2� 1�M����5� ��#7 �#�  �2����8
0�$���0� �4$��#!��8 ��� #HI4� ca>1/4u

�
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u�v uIv

Dh
1

∂Dh
1
/∂x

���� ;�N� )�����1��0� Dh
1

u�v � ∂Dh
1/∂x uIv �0 ca

� 2��1!���1 �#�$�!�

%��I#�J!��! 0�!�0�$!$��8 1�2!#� �2��0�6�� ���1!��1� � � �IG!1
�#�$�! ��� ���$!0! �� �4��4� 2��1!��4� 0!$!��8� 
 ���!�0���0� #H:
I�8 0�$��3 #!J�G!8 �� #���� �� �4��3 1�J�� ����1�0����0F #���#F��H
2!���0��� ���0!1� ����2���0 � ��FH y 3 ������#!���8 �� ����0!#F��8 �
#���� �� �4�� � ����1�0����!1�8 0�$�!� ��52� � �!���1 ���I#�J!���
1�J�� �$�0�0F x=x(ξ)3 y=aη � ��!�!I�!$F 1�#41� $#!��1� fy, xη, yξ

�
��#�$�! E0�� 1�#4� $#!��� � 9���6����#! ��� 5!�!��6�� �!0�� �I�:
�#��#���!0 ���0�7���! 2��J!��! !! � #�� �2�#F �!��0��4� 0��!�0���8
���#� ��!2�!5� ��#�J!��7�

�0��3 � 2��1!���1 �#�$�! 1�J!0 ��� �0F�73 $0� �!5�#7�� �����48
9���6����# ���  ��$!��7� ca

I�#FM�� �!��0���8 �!#�$��4 �! I�2!0
�1!0F 1���1�1� � �0�6������4� 0�$!�� �!1 �! 1!�!! ���6!�� �!M!:
��7 ���0!14 �#5!I���$!���� �����!��8 u;�,*v � ��1�GFH �0!��6�����8
���6!2��43 ��2�I�� ��������8 � �� 2!#! ,�O ���6!2��! u,�,+v3 �����2�0
� ��#F��1� �5�G!��H #���8 �!0�� � ���!�0���0� �� �4���� %�� E0�1
7$!8�� �!0�� ��0�H0�7 �4���#41� I#�5�2��7 �I��F!����0�� �0!��6���:
��8 ���6!2��4� 
 2�#F�!8M!13 2#7 ���0���0� ��4#��3 I�2!1 �� 4��0F
���6!�� �!M!��7 ���0!14 u;�,*v u� 0��J! � 0�!�1!���1 �#�$�! ���0�!0:
�0��HG!8 ���0!143 ����1�0����!1�8 � �� 2!#! ;�,*v 1���1� �6�!8 2��:



,*L
��!0��5� 9���6����#�3 �! �����1� �0 0�5� ��G!�0��!0 1���1�1 9���:
6����#� �#� �!0�

Þ¨! @¾�©��ª�� � ©¢¡¢»�� ��ó� �� ¥��¤ � �� ·½����
%��1�0��13 $0� 2��0 ����#F �����! �����!��7 K8#!�� ��� ���0��!���
�2��0���4� �!0��� ��������1�6�7 �����!��7 K8#!�� u;�Lv �� 0�!�0�:
$!$��1 M�I#��! �1!!0 ��2

x = (L − x)

√

1 + c2
a(4u)2/(L − x)2,

�0��2� ��#�$�!1
xmin =

L

2
+

c2
a(4u)2

2L
,

�3 �#!2���0!#F��3 ��� ca4u=L ���� �82!0 ��#��4����! �����8 7$!8���

 2����1 �#�$�! I��F!�� �!0 � ��E0�1� � 1��5�1!��4�  �2�$��3 52! #�:
��� �!0�� ��#F�� ������#7H0�7 � ���!�0���0� #���� �� �4�� u�����1!�3
�2����8 ��#�4v �3 �#!2���0!#F��3 ���� ��2��7 �0 1���0����8 9���6��
f �� ������#!��H ���1�#� � �� �4�� 1!�7!0�7 �0 7$!8�� � 7$!8�!3 � �2:
��� 7$!8��� #���� �!0�� 1�5�0 !G! �! �5��0�0F�7 �  �2����8 0�$���0FH3
� 2��5�! 7$!8�� I�2�0 �J! �1!0F ��1��!�!�!$!��7� ����1 �I�� �13 ��:
��#F �����! �����!��8 K8#!�� 2#7 �2��0�6�� �!0�� �! �� ��#7!0 ��#F��
�5�G�0F �!0�$�4! #���� � ��G!�0�!��� ��!#�$�0F 0�$���0F ���$!0���

Þ¨" µ����� ¢¤�� ¥��¢¤  � ì�� �ª�

%���!2!��48 ���#� ���8�0� 2����!0�4� 9���6����#�� � �2��1!���1 �
2��1!���1 �#�$�7� ���� �#3 $0� ��� 7�#7H0�7 �!��5#�������41� 1!J:
2� ��I�83 0�!� ���G!�0�#7!1�! � �� ��1�GFH �5�G!��! �!0�� � �� �4��
1���0����8 9���6�� �������2�0 �� �� ��1� ���0�� �I#��0� Ω � �� !!
5����6! ∂Ω

� �#!2���0!#F��3 �� ����!0  �2�$� ��5#��������8 ����0����:
�� � #�� �!0�� ���0�� �I#��0� Ω � �� !! 5����6! ∂Ω

�
��G!�0��!0 �!���#F�� �����I�� ����0������ � #�� �!0�� �� 5����:

6! �I#��0� ∂Ω
� ��148 ����0�8 E0�  �2����! 9�����������! �����#�:
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E0�1 �#�$�! ��� �2��0�6�� � ���!�0���0� 0�$��3 52! �� �4� 1���0����8
9���6�� ��2��2�0 � 5����6! ∂Ω3 �� ����!0 �!��0�8$����0F ��� 5!�!��:
6�� �!0��3 ���I!��� ��� ���$!0! �!�0�6������4�  �2�$3 ��52� �� �4�
2��J!0�7 �� 5����6!3 � ��� �#!2�0��! �� ����!0 �!��0�8$����0F � ���:
$!0! �������8 9� �$!���8  �2�$��


0���8 �����I ���0��0 � ���1!�!��� I! ��#����8 1���1� �6�� ���
�!�!�$!0! ����2���0 5����$�4� � #��3 0�!� ���#�5�$�� ���0�!���1 � :
#�13 � ���!�0�������� ��#�$!���5� �!�0��� �2��5� � #� �� 5����6� ∂Ω
uÛÀÅÚÈÐËÇÄÃÉ ÒÑÄÑÒÑÅÃâÑÉ3 �1�3 �����1!�3 w,+,xu_g�¯t]kko3 ,<<<vv� ����8
�����I 1�J!0 ����#F ���0F�7 0�#F�� !�#� �� �4� ��2��2�0 � 5����6!
��$0� ��2 ��7141 �5#�1� 	�#�3 �����1!�3 � 5� ! �2����7 ��#�� �0��:
2�0 �0 5����64 �! ��2 ��7141 �5#�1 �#� ��2�!0 � �0��J�!0�7 �0 ∂Ω3
0� ��� �5�G!��� 5����$�4! � #4 �!�!�#!�04��H0�7 � ���14��HG�! �
��1 7$!8�� �!0�� �4��J2�H0�7�


 0�!0F!1 �����I! ����#F �!0�7 ���6!2��� 1���1� �6�� �2��1!�:
��5� 9���6����#� u;�-v uËÍÄËÒÀÊÄÃÉ ÒÑÄÑÒÑÅÃâÑÉ3 �1� wL-xu����!���3
,<<-vv� �� ��2!J�!! �!��4� 2��� � ���52� 1�J!0 ����#F ���0F�7 ���
�2��0�6��� ��3 ��� I4#� ���� ��� � �� 2!#! ;�+3 2����!0�4! 9���6��:
��#43 �2��1!��48 2#7 5����$�4� � #�� � 2��1!��48 2#7 ���0�!����3
7�#7H0�7 �!��5#�������41�� %�E0�1� ��� �2��0�6�� ��E99�6�!�0 ca

�
�0!��6����48 ����1!0� τ 2#7 ��� �����2�0�7 ��2I���0F �02!#F��3 $0�
0�!I�!0 2���#��0!#F��8 ��I�043 � E0�0 ���6!�� ���I!��� 0��2�!1�� ���
�!M!��� �!�0�6������4�  �2�$� ���0� �� �����2�0 � �!J!#�0!#F��1�
�1!G!��H � #�� �� 5����6! � 2�J! �� �!�!�#!�0�3 � �#!2���0!#F��3 �
�4��J2!��H 7$!!� �!0���


� ����!0 �!�I��2�1��0F � ��5#��������8 ����0�����! � #�� �!0��
���0�� �I#��0� Ω � �� !! 5����6! ∂Ω

� 
 ����1�0����!1�1 �����I! ���:
�0������ � #��3 ��0��48 I4# ��!2#�J!� � wN3.<3<*xu� ��!���3 ;**;3;**-v3
�!M�!0�7  �2�$� ��#����8 1���1� �6�� 2����!0��5� 9���6����#� ���
��#�$�� �5����$!��8 0��� ���!��0�3  �2�HG�� ∂Ω u�����I ÚÈÐËÇÄËÎ ÒÑØ
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ÄÑÒÑÅÃâÑÑv� �!�I��2�1� 1���1� �����0F �#!2�HG�8 9���6����#y

Dh
1 =

Nc
∑

n=1

4
∑

k=1

1

4
[Ek]i +

∑

l∈L
λlQl = Dh +

∑

l∈L
λlQl;

u;�,<v

 2!�F Dh �I� ��$�!0 9���6����# u;�<v �  �1���J!��41� ���� ��2�41�
�0 1���0����8 9���6��3 �5����$!��7 Ql=Q(xl, yl)=0  �2�H0 5����6�
�I#��0� ∂Ω3 λl

/ 1��J�0!#� ��5���J�3 L / 1��J!�0�� 5����$�4� � #��
�!0��� %����#F�� ��!2��#�5�!0�73 $0� 9���6�7 Q(x, y) 7�#7!0�7 2�9:
9!�!�6���!1�83 �$!��2��3 $0� 9���6����# Dh

1
������7!0 I!����!$�48

I��F!� �� 5����6! 1��J!�0�� �4���#4� �!0���
���0!1� �#5!I���$!���� �����!��83 ���#�5�$��7 u;�,*v3 0!�!�F 2�:

��#�!�� �5����$!��71� 0��� ���!��0�

Rx =
∂Dh

∂xn
+ λn

∂Qn

∂xn
= 0 , Ry =

∂Dh

∂yn
+ λn

∂Qn

∂yn
= 0 , Qn = 0 ,

 2!�F λn=0 !�#� ��1!� � #� n/∈L � �5����$!��7 0��� ���!��0�  �2��4
0�#F�� 2#7 5����$�4� � #�� n∈L�

����1�0��1 �����I 1���1� �6�� 9���6����#� � ��!2��#�J!���3 $0�
�4���#�7 �!0�� ��#�$!�� �� l:1 M�5! �0!��6�8� ����2���04 n:5� � #�
�� l+1:1 M�5! ��#�$�H0�7 � ����#F �����!1 �#!2�HG!8 ��� ��FH0����:
���8 ���6!2��4y

τRx+
∂Rx

∂xn
(xl+1

n − xl
n)+

∂Rx

∂yn
(yl+1

n − yl
n)+

∂Rx

∂λn
(λl+1

n − λl
n) = 0,

τRy+
∂Ry

∂xn
(xl+1

n − xl
n)+

∂Ry

∂yn
(yl+1

n − yl
n) +

∂Ry

∂λn
(λl+1

n − λl
n) = 0, u;�;*v

τQn+
∂Qn

∂xn
(xl+1

n − xl
n)+

∂Qn

∂yn
(yl+1

n − yl
n) = 0,

52!
∂Rx

∂xn
=

∂2Dh

∂x2
n

+ λn
∂2Qn

∂x2
n

,
∂Rx

∂yn
=

∂2Dh

∂xn∂yn
+ λn

∂2Qn

∂xn∂yn
,

∂Rx

∂λn
=

∂Qn

∂xn
,

∂Ry

∂xn
=

∂2Dh

∂xn∂yn
+ λn

∂2Qn

∂xn∂yn
,

∂Ry

∂yn
=

∂2Dh

∂y2
n

+ λn
∂2Qn

∂y2
n

,
∂Ry

∂λn
=

∂Qn

∂yn
.
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4�� �� � 0�!0F!5� �����!��7 ���0!14 u;�;*v �� ���0F yl+1

n −yl
n

�
��2�0���� !! � ��0��M�!�7 2��3 ��#�$�1 #��!8��H ���0!1� 2��� �����!:
��8

(

a11 a12

a21 a22

)(

xl+1
n − xl

n

λl+1
n − λl

n

)

=

(

a13

a23

)

,

52!

a11 =
∂Rx

∂xn
− ∂Rx

∂yn

∂Qn

∂xn

/

∂Qn

∂yn
, a12 =

∂Qn

∂xn
,

a21 =
∂Ry

∂xn
− ∂Ry

∂yn

∂Qn

∂xn

/

∂Qn

∂yn
, a22 =

∂Qn

∂yn
,

a13 = τ

[

∂Rx

∂yn
Qn

/

∂Qn

∂yn
− Rx

]

, a23 = τ

[

∂Ry

∂yn
Qn

/

∂Qn

∂yn
− Ry

]

.


�!27 �I� ��$!��7 4=a11a22−a12a21, 41=a13a22−a23a12
342=a11a23−

−a21a13
u�����#F�� Qn=03 �4��J!��7 2#7 a13, a23

�����070�7v3 ��#�$�1

xl+1
n = xl

n + 41/4, λl+1
n = λl

n + 42/4, u;�;,v
� yl+1

n
����2�0�7 � 0�!0F!5� �����!��7 ���0!14 u;�;*v� 	�#� �5����$!��7

�� �!M!�4 �0����0!#F�� y � ��2! Q(x, y)=y − q1(x)=03 0�52�
∂Qn

∂xn
= −∂gn

∂xn
,

∂Qn

∂yn
= 1,

� ���$!0�4! 9��1�#4 ����G�H0�7� �5����$!��7 1�5�0 I40F �� �!M!�4
�0����0!#F�� x � ��2! Q(x, y)=x − q2(y)=0 � 0�52�

∂Qn

∂xn
= 1 ,

∂Qn

∂yn
= −∂g̃n

∂yn
.


 E0�1 �#�$�! �#!2�!0 � 0�!0F!5� �����!��7 ���0!14 u;�;*v �4�� �0F
�� ���0F xl+1

n −xl
n

� ��2�0���0F !! � �!��4! 2��� %���!2!��4! �4M!
2�! 9��14  �2���7 5����64 1�5�0  �1!�70F �2�� 2��5�H� �����1!�3
�� �$��0��� 5����64 ��$0� ����##!#F�4� ��� x3 �#!2�!0 ����#F ���0F
�����!��! 5����64 y=q1(x)3 � 0�1 52! 5����6� ��$0� ����##!#F�� ��� y
�#!2�!0 I��0F x=q2(y)

�
	�#� 5����6� �I#��0� ∂Ω  �2��� ����1!0��$!��� x=x(t), y=y(t)

�#� 0�I#�$�� (x, y)n
3 0�52� 1�J�� ���1!�70F �#!2�HG�8 �#5���01� %��



,*.
���!2!#!��� ����2���0 n:5� � #� �� ��0!���#! (xn−1, xn+1)

�0���0�7 ��:
0!���#76�����7 ����I�#� t=t(x) ��  ��$!��71 � � #�� n−1, n, n+1

� � 
u;�;,v �4$��#7!0�7 ���1!J�0�$��!  ��$!��! x̃l+1

n
3  �0!1 � ��0!���#76�:

����8 9��1�#4 ���!2!#7!0�7 tn=t(x̃l+1
n ) � � ����1!0��$!���� 9��1�#

����$�0!#F�4!  ��$!��7 xl+1
n

3 yl+1
n

�
���5�8 �����I �����#!��7 2��J!��!1 5����$�4� � #�� ��� ����:

1!0��$!���1  �2���� 5����64 �I#��0� ∂Ω ���0��0 � �!M!��� ���0!14
�#5!I���$!���� �����!��8 uÓÃÊÃÒÀÁÊÑ×ÀÈÂÃÉ ÒÑÄÑÒÑÅÃâÑÉv

Rt = Rx
∂xn

∂tn
+ Ry

∂yn

∂tn
= 0

� ��1�GFH �FH0�������8 ���6!2��4

τRt +
∂Rt

∂tn
(tl+1

n − tln) = 0 .

)2!�F
∂Rt

∂tn
=

∂Rx

∂xn

(

∂xn

∂tn

)2

+
∂Ry

∂yn

(

∂yn

∂tn

)2

+

(

∂Rx

∂yn
+

∂Ry

∂xn

)

∂xn

∂tn

∂yn

∂tn
+

+Rx
∂2xn

∂t2n
+ Ry

∂2yn

∂t2n
, Rx =

∂Dh

∂xn
, Ry =

∂Dh

∂yn
.


 �#�$�! ���#�0�$!���  �2����8 1���0����8 9���6�� ��#����7 �
����1!0��$!���7 1���1� �6�� 2�H0 �2������4! �! �#F0�04� 
 0� J!
��!17 ���$!04 2��1!��4� 0!$!��8 5� � ���� �#�3 $0� ����0������ 5��:
��$�4� � #�� ��!2��$0�0!#F�!! �����2�0F � ����#F �����!1 ��#����8
1���1� �6��3 �����#F�� ���6!2��� ����1!0��$!���8 1���1� �6�� �!
��!52� �I!��!$���!0 ��5#��������H ����0������ � #�� ���0�� �I#��0� Ω
� �� !! 5����6! ∂Ω3 � !! ����#F �����! 1�J!0 ����!�0� � �4��J2!��H
7$!!� �!0�� �� 5����6!�

Þ¨$ @¾�©��ª�� � � ���������� ��¾�  ¢½ ¡¢ ��¢� ¢½ ß¥ �3
ª��

����1�0��1 ����0�8 ���1!�3 �##H�0����HG�8 �!��5#��������! � ��5#�:
�������! �5�G!��! � #�� ���0�� �I#��0� Ω � �2�#F !! 5����64 ∂Ω3 ��52�



,*<
2#7 ����0������ 5����$�4� � #�� ����#F �H0�7 �����I43 �������4! �
�� 2!#! ;�O� �0���0�7 �2��0����7 �!0�� � $��#�1 � #�� 51×51 � ���2��0!
0 ≤ x, y ≤ 13 ��52� 1���0����7 9���6�7  �2��� � ��2!

f(x, y) =

{

1 ��� y < 0.5 ,

0 ��� y ≥ 0.5 .

u�v uIv u�v

u5v u2v u!v
���� ;�O� �����I4 9����������4� � #�� u�v3u5v3 �2��1!���8 1���1� �:
6�� uIv3u2v3 I! ��#����83 ��#����8 �#� ����1!0��$!���8 u�v3u!v 1���1�:
 �6���


 u;�;*v �0!��6����48 ����1!0�  �2�!0�7 τ=0.15
� P��51!�04 �2��:

0���4� �!0�� ���#� #!��8 5����64 ∂Ω � ���!�0���0� �� �4�� f ��!2:
�0��#!�4 �� ����;�O� 
 �!���8 �!��� ���$!0�� ca=0.1 u�1� ����;�O�/;�O�v3
��52� ����#F �H0�7 �����I4 9����������4� � #�� u�1� ����;�O�v � �2:
��1!���8 1���1� �6�� u�1� ����;�OIv3 ����##!#F���0F 5��� ��0�#F�4�
#���8 �!0�� ����M�!0�73 � ��� ���1!�!��� I! ��#����83 ��#����8 �#�
����1!0��$!���8 1���1� �6�� ������7!0�7 u�1� ����;�O�v� 
� �0���8 �!:
��� ���$!0�� ca=0.15 u�1� ����;�O5:;�O!v� 
 �����I! 9����������4� � :
#�� u�1� ����;�O5v 5��� ��0�#F�4! #���� �!0�� � 5�I�H0�7 !G! I�#F:
M!� ����#F �����! �2��1!���8 1���1� �6�� u�1� ����;�O2v �����2�0 �



,,*
��!�!��# ���H� 5����$�4� � #�� 2��5 $!�! 2��5� �3 �#!2���0!#F��3 �
�4��J2!��H ���5����$�4� 7$!!�� 
 ���$!0! � ��1�GFH I! ��#����83
��#����8 �#� ����1!0��$!���8 1���1� �6�� u�1� ����;�O!v 5��� ��0�#F:
�4! #���� �!0�� ��$0� �#���H0�73 �� ��0�H0�7 ����##!#F�41� � �!0��
7�#7!0�7 �!�4��J2!���8� 
 E0�1 ���1!�! I! ��#����7 1���1� �6�7 2�:
!0 0���! J! �! �#F0�04 ��� � ��#����7 � ����1!0��$!���7 I#�5�2��7
0�1�3 $0� #���7 �� �4�� ��2��2�0 ��0�5���#F�� � 5����6! ∂Ω

�

u�v uIv u�v
���� ;�.� "! ��#����7 u�v3 �2��1!���7 uIv3 ��#����7 � ����1!0��$!���7
u�v 1���1� �6���


 �#!2�HG!1 ���1!�! #���7 �� �4�� ���#��!�� � 5����6! ∂Ω
� 
�:

��0����7 9���6�7 �1!!0 ��2

f(x, y) =

{

1 ��� y > 5x − 2 ,

0 ��� y ≤ 5x − 2 .��E99�6�!�0 �2��0�6�� ca=0.33 �0!��6����48 ����1!0� τ=0.1
� P��5:

1!�04 �2��0���4� �!0�� ���#� �!���!8 5����64 ∂Ω � ���!�0���0� �� :
�4�� f ��!2�0��#!�4 �� ����;�.� )2!�F ����#F �����! I! ��#����8 u�1�
����;�.�v � �2��1!���8 1���1� �6�� u�1� ����;�.Iv �����2�0 � �!�!��#:
 ���H 5����$�4� � #�� 2��5 $!�! 2��5� �J! $!�! �!���#F�� 2!�70:
��� �0!��6�8 �� �!0�!� ��#����7 � ����1!0��$!���7 1���1� �6�7 u�1�
����;�.�v �I!��!$���H0 �!�4��J2!����0F �!0��� �#7 ���#�0�$!���  �:
2����8 1���0����8 9���6�� E0� 2�� �����I� 2�H0 �2������4! �! �#F:
0�04�



,,,
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 �#�$�! n=3 9���6����# u;�;v3  �������48 �� 1��5��I�� �� M � ���:
�0����0�!

R
3+m 3 ���1!0 ��2

D =
1

33/2

∫∫∫

P

[
kh(G−1g̃)]3/2

√

det G
√

det g̃
dξ1dξ2dξ3. u;�;;v


 1��5��I�� ��M � 0�$�! � ����2���0�1� r̃=(x1, x2, x3, f 1, . . . , fm) ��1:
���!�04 1!0��$!���5� 0!� ��� g̃  �2�H0�7 ���0��M!��71�

g̃ij = r̃ξi ·̃rξj , i, j = 1, 2, 3, u;�;-v
52! r̃ξi=(x1

ξi, x2
ξi, x3

ξi, f 1
ξi, . . . , fm

ξi ).
%����#F�� ��J2�7 ��1���!�0� 1���0��:

��8 9���6�� f p=f p(x1, x2, x3) �3 �#!2���0!#F��3

f p
ξi = f p

xjx
j
ξi , i, j = 1, 2, 3, p = 1, . . . , m, u;�;Lv

0� �1!!1 2#7 ��1���!�0 1!0��$!���5� 0!� ���

g̃ij = αkl
∂xk

∂ξi

∂xl

∂ξj
, u;�;+v

52!

αkl = δkl +
∂f p

∂xk

∂f p

∂xl
, k, l = 1, 2, 3, p = 1, 2, . . . , m, u;�;Nv

δkl
/ ��1��# ����!�!��� ��1���!�04 1!0��$!���5� 0!� ��� Gij

� 0�$�!
����0����0�� X1, X2, X3  �2�H0�7 �� 9��1�#�1 ���#�5�$�41 u;�;-v�

��82!1 �4��J!��! 2#7 ���!2!#�0!#7 1�0��64 g̃
� %�2�0���� � det g̃

��E99�6�!�04 u;�;+v3u;�;Nv3 ���#! 2���#F�� 5��1� 2��� ��!�I�� �����83
��0��4! 2#7 ���0���0� ������!13 ��#�$�1

det g̃ =

(

1 +
m
∑

p=1

(f p
x1)

2 + (f p
x2)

2 + (f p
x3)

2

)

det g, u;�;Ov

52! gij
/ 1!0��$!���8 0!� ��3 ����J2�!148 �0�I��J!��!1 x(ξ) : R

3→R
3

����1!0��$!���8 �I#��0� P �� 9� �$!���H �I#��0F Ω
� ���I��� E0�5�

�0�I��J!��7 ���!�
√

det g = rξ1·(rξ2×rξ3),



,,;
52! r=(x1, x2, x3)

� 	�#� � u;�;Ov 2#7 ���#7���8 1���0����8 9���6�� f
�!�!80� � 2�99!�!�6�������H �� �!�!1!��41 ξi 3 0� ��#�$�1 9��1�#�
2#7 det g̃ 3 ����1�0�����M�H�7 � wOL3 �0�� ,*;x�

%�2�0���� u;�;Ov � u;�;;v3 ��#�$�1 ����$�0!#F�48 ��2 9���6����#�
D w,L<xuS�gZoZ|]3 ;**Lv

D =
1

33/2

∫∫∫

P

[
kh(G−1g̃)]3/2

√

det G

√

det g

√

1 +
m
∑

p=1
(f i

x1)2 + (f i
x2)2 + (f i

x3)2

dξ1dξ2dξ3. u;�;.v

%�� �0��0�0��� �2��0�6��3 ��52� ��! ��1���!�04 f i=const3 1��5��I��:
 �! M �����2�!0 � �I#��0FH Ω3 � u;�;.v �!�!��2�0 � 9���6����# u,�Ov�

Þ¨³) @©©�¢���¡�ª�� � ¡� �¡���ª�� ß¥ �ª�¢ ���
%�!2��#�J�13 $0� � �I#��0� Ω �!�I��2�1� ���0���0F �0���0�����:
�����H �2��0����H �!0�� � $��#�1 � #�� N1, N2, N3

�� 0�!1 ��:
��2���0�41 ������#!��71 i, j, k ���0�!0�0�!���� 
 ��$!�0�! �I#��0�
P ����1�0����!1 ��71��5�#F�48 ����##!#!���!2 � �!I��1� N1−13
N2−13 N3−1

� �#7 ��J2�8 #��!8$�0�8 7$!8��3 $��#� ��0��4� �����
Nc=(N1−1)(N2−1)(N3−1)3 ��������1�6�H 9���6����#� u;�;.v I�2!1
�����2�0F �� ,* I� ���4� 0!0��E2���3 ����1�0�!��4� � �� 2!#! ,�+� 

�! �#F0�0! ��#�$�1 2����!0�48 ���#�5 9���6����#�3 �� ���0��H 9���:
6�H

Dh =

Nc
∑

n=1

10
∑

m=1

1

10
[Em]n,

u;�;<v
52! [Em]n

/ ��24�0!5��#F��! �4��J!��! � u;�;.v3 �4$��#!���! 2#7 m:5�
0!0��E2�� n:8 7$!8���

	�#� 1��J!�0�� �!�4��J2!��4� �!0��3 ���0�7G�� � ,;:5����4�
7$!!�3 �! ���0�3 0� ���0!1� �#5!I���$!���� �����!��83  �������4� 2#7
���0�!���� � #�� �!0��3

Rxi =
∂Dh

∂xi
n

= 0 , i = 1, 2, 3, u;�-*v



,,-
�1!!0 �� ���8�!8 1!�! �2�� �!M!��!3 7�#7HG!!�7 �!�4��J2!���8 �!0:
��8� )2!�F n

/ 5#�I�#F�48 ��1!� � #� �!0��� �#7 ����J2!��7 E0�5� �!:
M!��7 �#!2�!0 ���1!�70F 1!0�2 I! ��#����8 1���1� �6�� 9���6�� Dh 3
� 7� � ��$!�0�! ��$�#F��5� ���I#�J!��7 �!�4��J2!���H �!0���

�#7 ����J2!��7 1���1�1� Dh ����#F �!0�7 I! ��#����7 1���1� �:
6�7� �1!7 �!�4��J2!���H �!0�� �� l:1 M�5! �0!��6�83 ����2���04 n:5�
� #� �!0�� �� l+1:1 M�5! �4$��#7H0�7 � ����#F �����!1 ��� ��FH0�:
������8 ���6!2��4 u,�,+v� �#7 ���G!�0�#!��7 �0!��6�����8 ���6!2��4
u,�,+v �!�I��2�1� �1!0F �4$��#70F �!��4! � �0��4! ���� ��2�4! � � #!
�!0�� �0 �� ���0��8 9���6�� Dh � ��� I4#� ��#�$!�4 � w,;3 ,Lxu� ��!:
���3 ;**O3;**.v � ����!2!�4 � �#!2�HG!1 �� 2!#!�

Þ¨³³ µ����� §� ß¢�¡¥�§
%�!2�0���1 ��24�0!5��#F��! �4��J!��! � u;�;.v � ��2! E = U/V 3 52!

U = γ(Gij g̃ji)
3/2 , V =

√

det g = rξ1·(rξ2×rξ3),

γ = 3−3/2
√

det G

(

1 +
m
∑

=1

(f p
x1)

2 + (f p
x2)

2 + (f p
x3)

2

)−1/2

.

�#7 ��#�$!��7 ���� ��2�4� �����#F �!1�7 �����#�1 2�99!�!�6�:
������7 �0��M!��7 9���6�8

Exi =
Uxi − EVxi

V
, Exixj =

Uxixj − 2ExiVxj − EVxixj

V
, i, j = 1, 2, 3.

����1�0��1 2�99!�!�6�������! $��#�0!#7 U

Uxm =
3

2
γ
(

Gij g̃ji

)1/2
Gkl ∂g̃lk

∂xm
, u;�-,v

Uxmxn =
3

2
γ
(

Gij g̃ji

)−1/2
[

1

2
Gij ∂g̃ji

∂xm
Gkl∂g̃lk

∂xn
+ Gij g̃jiG

kl ∂2g̃lk

∂xm∂xn

]

,

i, j, k, l, m, n=1, 2, 3
� %�� 2�99!�!�6�������� ���� ��2�4! f p

xj

�$�0�H0:
�7 9����������41�3 0�!� ���� ��2�4! �0 1���0����8 9���6��  �1���:
J���H0�7� %��$��4 E0�5� 2#7 �2��1!���5� � 2��1!���5� �#�$�!� �I��J:
2�#��F � �� 2!#! ;�+3 � 2#7 0�!�1!���5� ����1�0����H0�7 � �� 2!#! ;�,L�



,,L

 �� 2!#! ;�,* �01!$�#��F3 $0� ��������1�6�7 9���6����#� �����:

2�0�7 �� ,* I� ���4� 0!0��E2���� ����1�0��1 #��!8��! �0�I��J!��!
r̃h(ξ)3 �!�!��27G!! I� ���48 0!0��E2� T1245

� ����0����0�� ξ1, ξ2, ξ3 u�1�
���� ,�-Iv � ���0�!0�0��HG�8 �5#���8 0!0��E2� ,;:5�����8 7$!8��3 ��:
�0��!���8 � 1��5��I�� �� M � 

R
3+m � %�� E0�1 #��!8��! �0�I��J!��!

rh(ξ)3 0����9��1���HG!! E0�0 I� ���48 0!0��E2� � 0!0��E2� T1245
,;:

5�����8 7$!8�� � ����0����0�� x1, x2, x3 u�1� ���� ,�;Iv3 �1!!0 ��2

rh = (r2−r1)ξ
1+(r4−r1)ξ

2+(r5−r1)ξ
3+r1, 0 ≤ ξ1, ξ2, ξ3; ξ1+ξ2+ξ3 ≤ 1.

%�2�0���� ���� ��2�4! rh
ξi

� u;�;+v3 ��#�$�1 9��1�#4 2#7 ���!2!#!:
��7 ��1���!�0 1!0��$!���5� 0!� ��� g̃ij

g̃11 = αkl(x
k
2 − xk

1)(x
l
2 − xl

1), g̃22 = αkl(x
k
4 − xk

1)(x
l
4 − xl

1),

g̃33 = αkl(x
k
5 − xk

1)(x
l
5 − xl

1), g̃12 = αkl(x
k
2 − xk

1)(x
l
4 − xl

1),

g̃13 = αkl(x
k
2 − xk

1)(x
l
5 − xl

1), g̃23 = αkl(x
k
2 − xk

1)(x
l
5 − xl

1),

k, l=1, 2, 3
� ��E99�6�!�04 αkl

����270�7 � u;�;Nv3 � 2#7 �� �4$��#!:
��7 �!�I��2�1�  ��0F �� ���0�4! ���� ��2�4! (f i

xk)h � � #�� �!0��� ���
���!2!#7H0�7 ��J!�

%�� �4$��#!��� ���� ��2�4� �0 U �!�I��2�1� � u;�-,v �1!�0� xk

��2�0��#70F xk
i
3 52! i

/ ��1!� �!�M��4 0!0��E2�� T1245
� �#7 �!�M��4 ,

���� ��2�4! �0 g̃ij
����4

∂g̃11

∂xk
1

= 2αkl(x
l
1 − xl

2),
∂g̃22

∂xk
1

= 2αkl(x
l
1 − xl

4),
∂g̃33

∂xk
1

= 2αkl(x
l
1 − xl

5),

∂g̃12

∂xk
1

=2αkl(2x
l
1 − xl

2 − xl
4),

∂g̃13

∂xk
1

=2αkl(2x
l
1 − xl

2 − xl
5),

∂g̃23

∂xk
1

=2αkl(2x
l
1 − xl

4 − xl
5),

∂2g̃ij

∂xk
1∂xl

1

= 2αkl, k, l, i, j=1, 2, 3.

%��� ��2�4! � �!�M���� ;3L3+ �4$��#7H0�7 ���2�41 �I�� �1� ���
1�5�0 I40F �4��J!�4 $!�! ���� ��2�4! � �!�M��! ,3 $0� ��G!�0�!�:
�� �����G�!0 ��#�$!�0�� ��!��6�8 ��� �4$��#!��7�� �#7 �!�M��4 ;
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�4��M!1 ���� ��2�4!3 �!����4! ��#H
∂g̃11

∂xk
2

= −∂g̃11

∂xk
1

,
∂g̃12

∂xk
2

= −1

2

∂g̃22

∂xk
1

,
∂g̃13

∂xk
2

= −1

2

∂g̃33

∂xk
1

,
∂2g̃11

∂xk
2∂xl

2

= 2αkl,

k, l=1, 2, 3
�

���J! ���0���!1 � �!�M���8 L

∂g̃12

∂xk
4

= −1

2

∂g̃11

∂xk
1

,
∂g̃23

∂xk
4

= −1

2

∂g̃33

∂xk
1

,
∂g̃22

∂xk
4

= −∂g̃22

∂xk
1

,
∂2g̃22

∂xk
4∂xl

4

= 2αkl

� � �!�M���8 +

∂g̃13

∂xk
5

= −1

2

∂g̃11

∂xk
1

,
∂g̃23

∂xk
5

= −1

2

∂g̃22

∂xk
1

,
∂g̃33

∂xk
5

= −∂g̃33

∂xk
1

,
∂2g̃33

∂xk
5∂xl

5

= 2αkl.


4��J!��7 2#7 ���� ��2�4� �0  ��1!��0!#7 V ����!2!�4 � �� 2!:
#! ,�.� %����#F�� ��24�0!5��#F��! �4��J!��! E ��������0�� �0����:
0!#F�� ������0� ���0!14 ����2���0 ξ 3 2#7 ��0�#F�4� �!1� �5#��4� 0!0:
��E2��� 9��1�#4 2�99!�!�6�������7 U � V ��0���0�7 �!� 1!��41��
��J�� 0�#F�� ���� �!�0� ���0�!0�0��HG�H  �1!�� ��2!�����

%���!2!1 9��1�#4 2#7 ���!2!#!��7 ��1���!�0 1!0��$!���5� 0!� �:
�� g̃ij

�� I� ����1 0!0��E2�! T2457
u�1� ���� ,�-�v� �#7 E0�5� ����1�0��1

#��!8��! �0�I��J!��! r̃h(ξ)3 �!�!��27G!! I� ���48 0!0��E2� T2457
� ��:

�0�!0�0��HG�8 ���0�!���8 0!0��E2� ,;:5�����8 7$!8��3 ���0��!���8 �
1��5��I�� �� M� %�� E0�1 #��!8��! �0�I��J!��! rh(ξ)3 0����9��1�:
��HG!! E0�0 I� ���48 0!0��E2� � 0!0��E2� T2457

,;:5�����8 7$!8�� � 
����0����0�� x1, x2, x3 u�1� ���� ,�;�v3 �1!!0 ��2

rh =
1

2
(r7 + r2 − r4 − r5)ξ

1 +
1

2
(r7 + r4 − r2 − r5)ξ

2+

+
1

2
(r7 + r5 − r2 − r4)ξ

3 +
1

2
(r2 + r4 + r5 − r7).

%�2�0���� ���� ��2�4! rh
ξi

� u;�;+v3 ��#�$�1 9��1�#4 2#7 ���!2!#!:
��7 ��1���!�0 1!0��$!���5� 0!� ��� g̃ij
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g̃11 =
1

4
αkl(x

k
7 + xk

2 − xk
5 − xk

4)(x
l
7 + xl

2 − xl
5 − xl

4),

g̃22 =
1

4
αkl(x

k
7 + xk

4 − xk
5 − xk

2)(x
l
7 + xl

4 − xl
5 − xl

2),

g̃33 =
1

4
αkl(x

k
7 + xk

5 − xk
2 − xk

4)(x
l
7 + xl

5 − xl
2 − xl

4),

g̃12 =
1

4
αkl(x

k
7 + xk

2 − xk
5 − xk

4)(x
l
7 + xl

4 − xl
5 − xl

2),

g̃13 =
1

4
αkl(x

k
7 + xk

2 − xk
5 − xk

4)(x
l
7 + xl

2 − xl
5 − xl

4),

g̃23 =
1

4
αkl(x

k
7 + xk

4 − xk
5 − xk

2)(x
l
7 + xl

2 − xl
5 − xl

4),

k, l=1, 2, 3
�

%�� �4$��#!��� ���� ��2�4� �0 U �!�I��2�1� � u;�-,v �1!�0� xk

��2�0��#70F xk
i

� �#7 �!�M��4 ; ���� ��2�4! �0 g̃ij
����4

∂g̃11

∂xk
2

=
1

2
αkl(x

l
7 + xl

2 − xl
5 − xl

4),
∂g̃22

∂xk
2

=
1

2
αkl(x

l
5 + xl

2 − xl
7 − xl

4),

∂g̃33

∂xk
2

=
1

2
αkl(x

l
4 + xl

2 − xl
7 − xl

7),
∂2g̃ii

∂(xk
2)

2
=

1

2
αkk,

∂g̃12

∂xk
2

=
1

2
αkl(x

l
4 − xl

2),
∂g̃13

∂xk
2

=
1

2
αkl(x

l
5 − xl

2),
∂g̃23

∂xk
2

=
1

2
αkl(x

l
2 − xl

7),

∂2g̃12

∂(xk
2)

2
=

∂2g̃13

∂(xk
2)

2
=

1

2
αkk,

∂2g̃23

∂(xk
2)

2
= −1

2
αkk, i, j, l=1, 2, 3,

2#7 �1!M���4� ���� ��2�4� ∂2g̃ij

∂xk
2∂xl

2

=
1

2
αkl, l 6= k

�
�#7 �!�M��4 L �4��M!1 �!��#!�4! ���� ��2�4!3 �4��J!��4! $!�! 

���� ��2�4! � �!�M��! ;3
∂g̃11

∂xk
4

= −∂g̃11

∂xk
2

,
∂g̃22

∂xk
4

= −∂g̃22

∂xk
2

,
∂g̃33

∂xk
4

=
∂g̃33

∂xk
2

,
∂g̃12

∂xk
4

= −∂g̃12

∂xk
2

,

∂g̃13

∂xk
4

=
1

2
αkl(x

l
4 − xl

7),
∂g̃23

∂xk
4

=
1

2
αkl(x

l
5 − xl

4),

∂2g̃ii

∂(xk
4)

2
=

∂2g̃13

∂(xk
4)

2
=

1

2
αkk,

∂2g̃12

∂(xk
4)

2
=

∂2g̃23

∂(xk
4)

2
= −1

2
αkk.

�1!M���4! ���� ��2�4! �! � 1!�70�7�



,,O
�#7 �!�M��4 + ��#�$�!1
∂g̃11

∂xk
5

= −∂g̃11

∂xk
2

,
∂g̃22

∂xk
5

=
∂g̃22

∂xk
2

,
∂g̃33

∂xk
5

= −∂g̃33

∂xk
2

,
∂g̃13

∂xk
5

= −∂g̃13

∂xk
2

,

∂g̃23

∂xk
5

= −∂g̃23

∂xk
4

,
∂g̃12

∂xk
5

=
1

2
αkl(x

l
5 − xl

7),

∂2g̃ii

∂(xk
5)

2
=

∂2g̃12

∂(xk
5)

2
=

1

2
αkk,

∂2g̃13

∂(xk
5)

2
=

∂2g̃23

∂(xk
5)

2
= −1

2
αkk.

�#7 �!�M��4 O ��#�$�!1
∂g̃11

∂xk
7

=
∂g̃11

∂xk
2

,
∂g̃22

∂xk
7

= −∂g̃22

∂xk
2

,
∂g̃33

∂xk
7

= −∂g̃33

∂xk
2

,

∂g̃12

∂xk
7

= −∂g̃12

∂xk
5

,
∂g̃13

∂xk
7

= −∂g̃13

∂xk
4

,
∂g̃23

∂xk
7

= −∂g̃23

∂xk
2

,

∂2g̃ii

∂(xk
7)

2
=

∂2g̃12

∂(xk
7)

2
=

∂2g̃13

∂(xk
7)

2
=

∂2g̃23

∂(xk
7)

2
=

1

2
αkk.


4��J!��7 2#7 ���� ��2�4� �0  ��1!��0!#7 V ����!2!�4 � �� 2!#!
,�.� �#7 �0���5� ���0�!��!5� I� ����5� 0!0��E2��3 ��0��48 �0�I��J�!0:
�7 � 0!0��E2� T1368

u�1� ���� ,�;�v3 1�J�� ���1!�70F ��#�$!��4! 9��1�:
#4 2�99!�!�6�������7 U � V ��� ���0�!0�0��HG!8  �1!�! ��2!�����

�!�I��2�1� �4$��#70F �� ���0��H ���� ��2��H fh
xi

u�!����8 ��2!��
p 2#7 ���0���0� ���G!�3 � ��!2��#�J!��� $0� f

/ ���#7���7 9���6�7v
� � #�� �!0��� �#7 E0�5� �� �!M�1 ���0!1� u;�;Lv �0����0!#F�� fxi

fxi = b−1
ij fξj , i, j = 1, 2, 3, u;�-;v

52! b−1 / 1�0��6�3 �I��0��7 �� �0��M!��H � 1�0��6! ���I� ∂xi/∂ξj 2#7
�0�I��J!��7 P→Ω

� %��� ��2��7 2#7 �5#���5� 0!0��E2�� T1245
3 ��0���H

�I� ��$�1 (fh
xi)1

3 ���!2!#7!0�7 � u;�-;v � ����#F �����!1 ��������1�:
6�8 2#7 fh

ξj
� (xi

ξj)h

(xi
ξ1)h = xi

2 − xi
1, (xi

ξ2)h = xi
4 − xi

1, (xi
ξ3)h = xi

5 − xi
1, i = 1, 2, 3,

fh
ξ1 = f2 − f1, fh

ξ2 = f4 − f1, fh
ξ3 = f5 − f1.

)�0!1 fh
xi

�!�!��0!���#���!0�7 � � #! �!0�� � ����#F �����!1  ��$!:
��8 ���� ��2�4� (fh

xi)l
� ���F1� �5#��4� 0!0��E2���3 ���14��HG�� �
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E0�1� � #�

fh
xi =

8
∑

l=1

(fh
xi)lVl

(

8
∑

l=1

Vl

)−1

,

52! Vl
/ �IU!1 l:5� 0!0��E2���

	�#� ��� 1�2!#��������  ��$!��7 1���0����8 9���6��  �2��4 �
6!�0��� 7$!!�3 �� �#!2�!0 �!�!��0!���#�����0F � � #4 �!0���

���J! ��� � � �� 2!#! ;�; ���2�0�7 ��E99�6�!�0 �2��0�6�� ca
� �#7

E0�5� �1!�0� ��1���!�0 f i � ���$!0�4� 9��1�#�� ����#F �H0�7 caf
i �

����#��0!#F�� f i 1��M0�I���H0�7 0���1 �I�� �13 $0�I4 �� ���0F 1��:
��1�#F��5� � 1���1�#F��5�  ��$!��8 f i I4#� ����� 2#��! 2��5���#�
��71��5�#F��5� ����##!#!���!2�3 ��������5� �����5 9� �$!���8 �I#�:
�0� Ω3 0�!�

f i
max − f i

min =
[

3
∑

j=1

(xj
max − xj

min)
2
]1/2

.

�!�!�F3 ��52� �4$��#!�� E � !! ���� ��2�4! � �!�M���� 2!�70� 0!0:
��E2���3 1�J�� 9��1�����0F E#!1!�04 ���0!14 �����!��8 ��� ��FH:
0�������8 ���6!2��4 u,�,+v� %��0F #���#F�41 ��1!��1 �!�M�� 7$!8:
�� 1, 2, . . ., 8 ���0�!0�0��H0 5#�I�#F�4! ��1!�� � #�� �!0�� n1, n2, . . ., n8

�
��52�  ��$!��! E � !! ���� ��2�4� � �!�M��! , 0!0��E2�� T1245

2�I��:
#7H0�7 � Dh � E#!1!�0�1 ���0!14 u,�,+v

Dh = Dh + E, [Rxi]n1
= [Rxi]n1

+ Exi, [Rxixj ]n1
= [Rxixj ]n1

+ Exixj .

i, j=1, 2, 3
� )2!�F ����#F �!0�7  ����F3 ����70�7 � 7 4��� ���5��11���:

����7� ��� ��2�� �1!��!03 �����1!�3 $0� ����!  ��$!��! Dh �0�#� ���:
�41Dh+E

� )��$!��73 �4$��#!��4! � �!�M���� ;3L � + 0!0��E2�� 2�I��:
#7H0�7 �Dh � ���0�!0�0��HG�1 $#!��1 [Rxi]n2

, [Rxixj ]n2

3 [Rxi]n4
, [Rxixj ]n4

3
[Rxi]n5

, [Rxixj ]n5

� ��$�� 0��J! ���0���!1 ��  ��$!��71� E � !! ���� ��2:
�41�3 �4$��#!��41� � �!�M���� ��0�#F�4� 2!�70� 0!0��E2����

�#5���01 �!����!2�0�!��� �!�!����0�7 �� �!�0���0���������4! �!0:
��� ��J�� 0�#F��  �2�0F ���0�!0�0��! 1!J2� #���#F�41 ��1!��1 �!�:
M��4 7$!8�� � 5#�I�#F�41 ��1!��1 � #� �!0���
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 �#�$�7� ��52� ��� 1�2!#�������� �������8  �2�$� � 9� �$!���8 �I#�:
�0� Ω !! 5����6� ∂Ω 2��J!0�7 � 9��1� Ω ��G!�0�!��� � 1!�7!0�73 �!�I:
��2�1� ���G!�0�#70F �!�!�����!2!#!��! � #�� �� 5����6! ∂Ω

� ���J!:
��! � #�� ���0�� �I#��0� Ω � �� ∂Ω �#!2�!0 ���G!�0�#70F ��5#���������
�#7 E0�5� ����#F �!0�7 ��#����7 1���1� �6�7 2����!0��5� 9���6����:
#�3 ����1�0�!���7 � �� 2!#! ,�,;� �!�I��2�1� 1���1� �����0F �#!2�H:
G�8 2����!0�48 9���6����#y

Dh
1 =

Nc
∑

n=1

10
∑

m=1

1

10
[Em]n +

∑

r̃l∈∂Ω

λlQ(r̃l) = Dh +
∑

l∈L
λlQl.

)2!�F �5����$!��7 Ql=Q(rl)=0  �2�H0 ∂Ω3 λl
/ 1��J�0!#� ��5���J�3

L / 1��J!�0�� 5����$�4� � #�� �!0���
���0!1� �#5!I���$!���� �����!��83 ���#�5�$��7 u;�-*v3 0!�!�F 2�:

��#�!�� �5����$!��71� 0��� ���!��0�

Rxi =
∂Dh

∂xi
n

+ λn
∂Qn

∂xi
n

= 0 , i = 1, 2, 3, Qn = 0.

)2!�F λn=0 !�#� ��1!� � #� n/∈L � �5����$!��7  �2��4 0�#F�� 2#7 5��:
��$�4� � #�� n∈L�

����#F �!0�7 1!0�2 1���1� �6�� 2����!0��5� 9���6����#� Dh
1

�
��!2��#�J!���3 $0� �!�4��J2!���7 �!0�� ��#�$!�� �� l:1 M�5! �0!��:
6�8� ����2���04 n:5� � #� �� l+1:1 M�5! ��#�$�H0�7 � ����#F �����!1
��� ��FH0�������8 ���6!2��4 u,�,<v�

Þ¨³ê ���¡��§ ©¢���¢� �� ���¢�
Þ¨³ê¨³ �¢¾�¢¤¢¢¦��� �� ¢¦�����¨ 
 ����0����0�! x, y, z �I:

#��0F ��� � �5����$!�� �!���!8 ��#��9!��8 ��2���� r=1 � 6!�0��1 �
��$�#! ����2���0 � �#�����0FH z=03 ��!��� / ���!�����0FH3  �1!0�!:
1�8 ���G�HG!8�7 �����5 ��� z �!���!8 ��#������8 E##���� z>03

x2/a2 + z2/b2 = 1, a = 2, b = 9.
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K0� ��2�����I�� ��7 �I#��0F ����#F ���#��F 2#7 5!�!��6�� 2��1!�:
�4� �!0�� � w,+.xusZtdd3 pt��g|3 ,<<+v3 wLNxu����!���3 ;***v3 w,Nxu� �:
�!���3 ;**<v� �0���0�7 �!5�#7���7 �!0�� 61×61×51

� 
 �0#�$�! �0 6�:
#��2��$!���8 �!0��3 ��� ��#�$�!0�7 �! � �! �#F0�0! ���G!��7 2��1!�:
�4! �!0�� �����5 ��� z

� ��!1�0�$!���8 ��2 �� �I#��0F ��� � ��!2�0��:
#!� �� ����;�<3 52! ���� ��4 $!04�! 5����$�4! ����2���0�4! ���!����:
�0� i, j=1, 613 �����#�J!��4! � �#�����0� z=03 � ���!�6�7 ���!�����0�
k=1 u��#��9!��v �� E0� �#�����0F� �01!0�13 $0� #��!8$�04! M!�0�5���:
�4! 7$!8�� �!0��3 ���14��HG�! � $!04�!1 5����$�41 �!I��1 �I#��0�
i=1, j=1� i=1, j=61� i=61, j=1� i=61, j=61 �4��J2�H0�7 � #��!8$�04!
0�!�5�#F�4! ��� 14 u�1� ���� ,�.v�

x
y

i=1

j=61 i=61

j=1

k=1

���� ;�<�

u�v uIv
���� ;�,*� �!0�� 101×101 � ;� �I#��0�� 
!0�2
XYZ[\]^ u�v3 �����6����48 I��F!��48 1!0�2 uIv�

�#7 0�5� $0�I4 �6!��0F �#�J���0F �I#��0�3 ����1�0��1 ���$�#�
���0��!��! 2��1!���8 �!0�� � �!$!��� E0�8 �I#��0� �#�����0FH x=y

�
�!�1�0�7 �� 0� $0� ��5#���� 0!��!1! ��2 �� 5��1���$!���! �0�I��J!:



,;,

u�v uIv

Y

Z

X

���� ;�,,� ����2���0��7 ���!�����0F i=31 �!0�� I! �2��0�6�� u�v3 �
�2��0�6�!8 uIv�

��! 7�#7!0�7 2�99!�1��9� 1�13 �!0�� 101×1013 ��#�$!���7 1!0�2�1
XYZ[\]^ w;*,x3 �4��J2!��3 �1� ����;�,*� u 2!�F � �I��J!�4 0�#F�� ��J:
2�7 +:7 i � j #���7v� K0� �������2�0 � : � �M�I�� ��������1�6��
w,Nxu� ��!���3 ;**<v� 
����6����48 I��F!��48 1!0�2 2�!0 �!�4��J2!�:
��H �!0��3 �1� ����;�,*I3 �� � �$!�F �407��041� 7$!8��1� � �!���!8
5����64� ����H J! �!0�� 14 ��#�$�#� I4 � ����2���0��8 ���!�����0�
i=31 � 0�!�1!���1 �#�$�! !�#� I4 ����#F ���#� � ��$!�0�! Gij

!2�:
��$�48 0!� ��� %�E0�1� �����#7HG�8 1!0��$!���8 0!� �� Gij

��2I�:
��!0�7 0���1 �I�� �13 $0�I4 7$!8�� � �!���!8 5����64 �I#��0� �! I4:
#� �#�M��1 �407��041�3 �1� ����2���0��H ���!�����0F i=31 �!0�� ��
����;�,,��

)�2��4 2�! ���!�����0� � ����0����0�!

z1 = 3−5(x+0.8)(x+0.4)(x+0.2) , z2 = 3−5(y+0.8)(y+0.4)(y+0.2),



,;;

Z

X

Y

u�v uIv
���� ;�,;� 
�2 �!0�� ��� � u�v � !! 9��51!�0 uIv�

���!2!#7HG�! 9��1� �#�!� �4����� 5��2�!�0��� ��1���!�04 1���0��:
��8 9���6�� f i 3 i=1, 23 2#7  �2����8 0�$�� x, y, z �4$��#7H0�7 �� 9��:
1�#�1

f i =















1, !�#� z ≥ zi + δi

0.5(z−zi+δi)/δi, !�#� |z − zi| < δi

0, !�#� z ≤ zi − δi ,

u;�--v

52! δi = 0.02
√

1 + (zi/xi)2 � ����#F �!0�7 �I� ��$!��! x1=x3 x2=y
� ��:

E99�6�!�0 �2��0�6�� ca=0.015
�

�����#7HG�8 1!0��$!���8 0!� �� Gij
I!�!0�7 ����41 gij

� ��!24:
2�G!8 �0�2�� ���$!0�3 0�!� 2#7 �!0��3 ����!2!���8 �� ����;�,,�� ����!
 �2���! Gij

��� �4$��#!��7� I! �2��0�6�� �����2�0 � ������� �!2!:
��H E0�8 J! �!0��3 ��� 0�1 $0� 9���6����# Dh �����1�!0 �I��#H0��!
1���1�#F��!  ��$!��! �����! ,� %�E0�1� ��� ��2�#H$!��� �2��0�6��
 ��$!��! 9���6����#� I�2!0 ���0�� %�� ���0��!��� �!0�� ����#F �!0:
�7 2��J!��! � #�� �� 5����$�41 ���!�����071 � �!I��1 �I#��0�3 � �



,;-
�#�$�! �2��0�6�� 2���#��0!#F�� ��#H$�!0�7 2��J!��! ���F1� �5#��4�
0�$!� �I#��0� �� ����J���071 ��2���� r=1 � r=2 � �#�����0� z=0

� ��
����;�,,I � ����;�,; ����!2!�� �2��0����7 �!0��� %���!��� 5!���E2��#F:
��8 �2��0����8 �!0�� ���� �#�3 $0� ��! #��!8$�04! 7$!8�� 7�#7H0�7
�!�4��J2!��41��

Þ¨³ê¨Þ =¦����� 4¡����ó��5¨ �!5�#7���7 �!0�� 46×46×16 �0��:
�0�7 2#7 �I�#�$�� u�1� ����;�,-v� )2!�F 0��J!3 ��� � � �� 2!#! ;�,-�,3
$!04�! 5����$�4! ���!�����0� i, j=1, 46 #!J�0 � �#�����0� y=03 � ��:
�!�����0� k=1, 16  �1!0�H0�7 �I�� �HG�1� ��� ���G!��� �����5 ��� z
�� 180o � ����2���04 �����4� 0�$!� 2#7 �I�� �HG�� #���8 I4#� ��!2�:
�0��#!�4 ����"������8� %��0��!��! �!0�� I! �2��0�6�� � E0�8 �I#��0�
�����2�#��F � w;;xu"������3 �M�����3 ;**Nv� (!���E2��#F�4! 7$!8��3
���14��HG�! � 5����$�41 �!I��1 �I#��0� i, j=1� i=1, j=46� i=46, j=1�
i, j=46 �4��J2�H0�7 � #��!8$�04! 0�!�5�#F�4! ��� 14�

�� ����;�,-� ��!2�0��#!�� ��$�#F��7 �!0��� �� M!�0� 5����$�4� ��:
�!�����07� �!0�� �0���0�7 � ��1�GFH �����6�����5� I��F!���5� 1!0�:
2�3 �1�3 �����1!�3 wLLxu����!���3 ,<<Ov3  �0!1 � ����#F �����!1 0����:
9���0��8 ��0!���#76�� 5!�!����!0�7 �!0�� ���0�� �I#��0�3 � ��0���8
��#�$�!0�7 �!�4��J2!���7 �!0�� � ��1�GFH ���6!2��43 ��������8 �
�� 2!#! ,�,;� )�0!1 �!0�� �5#�J���!0�7 ���  �2���� �����#7HG!5� 1!0:
��$!���5� 0!� ��� Gij

0���1 �I�� �13 $0�I4 ���5����$�4! 7$!8�� �!
I4#� �#�M��1 �407��04 u�1� ����;�,-Iv� %��#! E0�5� ��2�#H$�!0�7 ���:
6!2��� �2��0�6��3 � 0!1 $0�I4 �5��0�0F �!0�� � 0�1 1!�0!3 52! ���0��
�I�#�$�� �1!!0�7 ��#�24M � 2��5�5� 1�0!���#� � �� 1!� 7$!!� � ��:
��0!#F��1 ������#!��� � ���!�����071 k=1, 16 u� ��J2�8 ��2��#F��8
��#��#�����0� � ����0!#F��1 ������#!��� � �I�� �HG�1v 2�#J!� I40F
1!�FM!� �#7 E0�5� ���#7���7 1���0����7 9���6�7 f  �2�!0�7 #��!8��
 ����7G!8 �0 �5#� 1!J2� ��7141� #���71� �I� ��$�HG�1� 5����64
��#�24M�� �2��0����7 �!0�� �� 5����$�4� ���!�����07� i, j=1, 463 k=1
���� ��� �� ����;�,-�3 � �� 5����$��8 ���!�����0� k=16 �� ����;�,-5�



,;L

X

Z

Y

I=1 J=1

J=46 I=46

K=1

u�v uIv

u�v u5v
���� ;�,-� ��$�#F��7 �!0�� � !2���$�41 1!0��$!���1 0!� ���1 Gij

u�v�
2���#��0!#F��! �����#!��! 9��1�8 7$!!� uIv� �2��0����7 �!0�� u�v� ��:
��2���0��7 ���!�����0F k = 16 u5v�



,;+
%���!��� #��!8$�04� 7$!!� ���0��!���8 �!0�� ���� �#�3 $0� ��� 7�#7:
H0�7 �!�4��J2!��41��

Þ¨³ê¨ê #�¼�¢©��¢� §½ �� �� �¥�¦� §¨ �!0�� 81×61×41
�0���0�7 � 1!J#���0�$��1 ����#! 0��I��4� )�2���!1 �����#7HG!5�
1!0��$!���5� 0!� ��� Gij

�I!��!$���!0�7 �5�G!��! ����2���0�4� ��:
�!�����0!8 �!0�� � #���0��1 0��I��4� %��!�����0F � ����0����0�! ��2�

y = c1(x − c2)(x − c3)(x − c4) + c5 , ci = const

���!2!#7!0 9��1� �#�7 �4����� 5��2�!�0��� ���#7���7 1���0����7
9���6�7 �4$��#7!0�7 �� 9��1�#�1 ���#�5�$�41 u;�--v� �2��0����7
�!0�� ��!2�0��#!�� �� ����;�,L�3 � 9��51!�0 5����$��8 ���!�����0�
k=41 �� ����;�,LI� %���!��� ���� �#�3 $0� ��! 5!���E2��#F�4! 7$!8��
�!0�� �!�4��J2!�4�

Þ¨³î =�¢¦�  ¢��� ©�� �¾�©��ª�� � ����§¤ §¡ ß¥ �ª��¡
�� 1�2!#F��1 ���1!�! ����1�0����H0�7 ���I!����0� ���0��!��7 �2��:
0���4� �!0��3 ��0��4! �� ����H0 ��� ���$!0! 0�!�1!��4� 5�2��2���:
1�$!����  �2�$ � �� �4��41 �!M!��!1� 
  ��1!��0!#! 9���6����#�
u;�;.v �����0�0��H0 ���� ��2�4! �0 1���0����8 9���6�� f u 2!�F f
���#7���7 9���6�7v� 	�#� f 0!���0 �� �4� ��� �!�!��2! $!�! �!��0�:
��H ���!�����0F �� �4��3 0� ��� �5�G!��� � #�� �2��0����8 �!0�� �
E0�8 ���!�����0� �2�� � ���� ��2�4�3 ���!2!#7!14� $��#!���3 I�2!0
�0�!1�0F�7 � ∞� K0� �����2�0 � ��$! ���!��H I!����!$��5� I��F!�� �
Dh � �4��J2!��H �!0��� 
 ���0�7G!1 �� 2!#! �I��J2�H0�7 1!���� 1
��$! ���!��7 I��F!�� � ��0� ��!�2�#!��7 �� ����HG�� ��� E0�1 0��2:
���0!8 �� ���#�5�� � �� 2!#�1 ;�+�

)2!�F ���#� ���!0�7 �#�$�8 �� �4���8 f ��� �!M!��� �!#��!8��:
5� �����!��7 �!�!���� � �2��1!���1 ���I#�J!���3 0�!� ��52� ����1�7
9���6�7  �����0 0�#F�� �0 �2��8 �!�!1!���8 x3 ��� 0�1 $0� ���0��!��!
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u�v
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k

i

X

Y

Z

uIv

���� ;�,L� �2��0����7 �!0�� � 1!J#���0�$��1 ����#! 0��I��4 u�v� 9��5:
1!�0 5����$��8 ���!�����0� k=41 uIv�



,;O
�!0�� ���G!�0�#7!0�7 � �I#��0� Ω � ����0����0�� x, y, z � ����#F ���:
��!1 9���6����#� u;�;.v� �!M�!0�7  �2�$� ��M� 2#7 �����!��7 �!�!��:
�� � �� �4��41� ��$�#F�41� 2���41� u;�,,v3 ��������7 � �� 2!#! ;�L�
���J! ��� � � �� 2!#! ;�L ����#F �!0�7 ��!1� ����(�2����� �� ��2��J:
��8 �!0�!� ��70F ����1�0����!1 0�#F�� 2�! 7$!8�� �!0��3 � �I��J!���8
�� ����;�-�3 52! � #4 ic−2, ic−1, ic

u 2!�F ic=3v 7�#7H0�7 � #�1� 0�!�:
1!���8 ��71��5�#F��8 �!0�� � ���0�7��41� M�5�1� �� y � z � �!��:
0��41  �2���41 $��#�1 7$!!� �� E0�1 2��1 ������#!��71� %!�!��27
� ��2��J��H ���0!1� ����2���03 2��J�G�H�7 �� ������0FH �� �4�� w
u�1� ����;�-Iv3 ��#�$�1 $0� � ���6!��! 1���1� �6�� 9���6����#� 5��:
��$�4! � #4 , � - 9���������43 � 2��J!0�7 0�#F�� � !# ;� %�#�J��
x1=03 ��#�$�1 x3=L3 52! L=2h3 h / M�5 ��$�#F��8 �����1!���8 �!0���
����2���0� x � #� 2 7�#7!0�7 �!�!1!���8 � ���!2!#7!0�7 � �! �#F0�0!
�!M!��7 �����6�����8  �2�$�� )��$!��7 9���6�� u � E0�� 0�!� � #��
���!2!#7H0�7 $!�! #��!8��H ��0!���#76�H  ��$!��8 u � 6!�0��� 7$!!�
�3 �#!2���0!#F��3 u1=u2=ul

3 u3=(ul+ur)/2
�

��#!! ����1�0��1 ��������1�6�H 9���6����#� u;�;.v �� E0�8 �!0:
�!3 ��52� � ��$!�0�! 1���0����8 9���6�� I!�!0�7 u3 �1��J!���7 ��
��E99�6�!�0 �2��0�6�� ca

3 1��5��I�� �! M  �2�!0�7 ����2���0�1�
x=(x, y, z, cau)3 � ����1!0��$!���7 �I#��0F P ��!2�0��#7!0 � �!I7 ��7:
1��5�#F�48 ����##!#!���!2 � �!I��1� N1

3,3,3 ������#!��41� �2�#F
��!8 ξ, η, ζ ���0�!0�0�!���� 
!0��$!���8 0!� �� Gij

7�#7!0�7 !2���$�41
0!� ���1� 
 ��#� �2��1!����0�  �2�$� u;�,,v 1���0����7 9���6�7 u �
u;�;.v  �����0 0�#F�� �0 �!�!1!���8 x

� ��52� �0�I��J!��! x(ξ):P→Ω
 �2�!0�7 9���6�71� x=x(ξ)3 y=aη 3 z=bζ u��#�5�!13 $0� ���0�7��4!
a=b=1v� ��52� ��1���!�04 1!0��$!���5� 0!� ��� g̃ij

����4

g̃11 = x2
ξ(1 + c2

au
2
x), g̃22 = 1, g̃33 = 1, g̃12 = g̃13 = g̃23 = 0.

P���6����# u;�;.v ���1!0 ��2

D=
1

33/2

1
∫

0

1
∫

0

N1
∫

0

(g̃11 + g̃22 + g̃33)
3/2

√

det g
√

1 + c2
au

2
x

dξdηdζ=
1

33/2

N1
∫

0

[x2
ξ(1 + c2

au
2
x) + 2]3/2

xξ

√

1 + c2
au

2
x

dξ.



,;.
��0!5��# �4$��#7!1 �� 9��1�#! ��71��5�#F����� �� �!0�! � 2��� 7$!:
!�� 
 �! �#F0�0! ��#�$�!1 �� ���0�48 9���6����# u���G!�4 ��E99�:
6�!�04 3−3/2 � ��7�#7HG�8�7 ���#! ��������1�6�� ,°;v

Dh =
2
∑

i=1

[(xξ)
2
i+1/2(1 + c2

a(ux)
2
i+1/2) + 2]3/2

(xξ)i+1/2

√

1 + c2
a(ux)2

i+1/2

4ξi+1/2 .

����#F �7 �� ���0�4! ���0��M!��7 2#7 ���� ��2�4�

(xξ)i+1/2 = (xi+1 − xi)/4ξi+1/2, (ux)i+1/2 = (ui+1 − ui)/(xi+1 − xi),

52! 4ξi+1/2=13 ��#�$�!1 � #!��8 � �����8 7$!8���

(xξ)3/2 = x, (ux)3/2 = 0, (xξ)5/2 = L − x, ca(ux)5/2 = β/(L − x);

 2!�F β=ca|u3 − u2|=0.5ca|ur − ul|
� ��52� 2����!0�48 9���6����# Dh

���1!0 ��2

Dh =
(x2 + 2)3/2

x
+

[

(L − x)2
(

1 + β2

(L−x)2

)

+ 2
]3/2

(L − x)
√

1 + β2

(L−x)2

, u;�-Lv

� ���� ��2��7 �0 Dh �1!!0 ��2
∂Dh

∂x
=

2
√

x2 + 2(x2 − 1)

x2
+

2(L − x)
√

(L − x)2 + β2 + 2

[(L − x)2 + β2]3/2
(1−(L−x)2−β2).

u;�-+v
�� ����;�,+ ��!2�0��#!�4 5��9���  �����1��0!8 Dh � ∂Dh/∂x �0 x

2#7 �� #�$�4�  ��$!��8 ��E99�6�!�0� �2��0�6�� ca
��� ul=2 3 ur=1 �

M�5! ��$�#F��8 �!0�� h=0.1
� )2!�F �1!!1 β=0.5ca

� %��!2!��! Dh ���#�:
5�$�� ���!2!��H Dh � �2��1!���1 � 2��1!���1 �#�$�7� 2#7 E0�8 1�2!:
#�3 ��������1� � �� 2!#! ;�+� 
�2��3 $0� ��� ca=0 9���6����# Dh �1!:
!0 1���1�1 � 0�$�! x=0.13 $0� ���0�!0�0��!0 �����1!���8 �!0�!� %��
ca>0 9���6����# 0!�7!0 �4���#��0F u�1� ����;�,+Iv3 ����!! 1���1�1�
� ���!�0���0� � #� - ��7�#7!0�7 1����1�1 �3 0���1 �I�� �13  �2�$� ��
����� E��0�!1�1� �! �1!!0 !2���0�!���5� �!M!��7� � !�#� � ��!#�$!:
��!1 ca

1���1�1 9���6����#� Dh �2��5�!0�7 ������3 $0� ���0�!0�0��!0



,;<
�1!G!��H � #� ; � -3 0�!� �5�G!��H �!0�� �� �� �4�!3 0� 1����1�1 Dh

�2��5�!0�7 �#!�� �0 � #� -3 $0� ���0�!0�0��!0 �� �!J!��H �!0��� %�� ��:
�0��!��� 0�!�1!��4� �!0�� E0� 1�J!0 �����2�0F � �! ��1 �1!G!��71
� #�� �!0�� u�!�!���� � 1���1�1� �� 1����1�1 � ���I���0 � ���6!�:
�! �0!��6�8v3 0�!� � �!�!�#!�04����H ����2���0�4� ���!�����0!8 �!0��
�3 ��� �#!2�0��!3 � �!��0�8$����0� �!M!��7 �������8  �2�$�� "�#!! 0�:
5�3 �� 2��0�J!��� �!��0���5� ���0�$!���5�  ��$!��7 c01a �I� E��0�!1�1�
�� ��0!���#! (0, L) �#���H0�7 � 2�#!! ��$! �H0 u�1� �����H ca=0.2 ��
����;�,+v� %�� ca>c01a 1���1� �6�7 Dh �����2�0 � ��#��4����H �����8
7$!8���

u�v uIv
���� ;�,+�

����1�0��1 ���!13 ��!2#�J!��48 � wLLxu����!���3 ,<<Ov � ����#F �:
���M�8�7 � �� 2!#! ;�+3 ��52� ��� 2�99!�!�6�������� Dh ���� ��2�4!
�0 1���0����8 9���6��  �1���J���H0�73 0�!� ux

��#�5�!0�7 �!  ����7:
G!8 �0 x

� ����2�1 ���� ��2��H �0 ����5� 9���6����#�3 �$�0�7 β/(L−x)
9����������41 � u;�-Lv3 0�!� �!  ����7G!1 �0 x

� %�#�$�!1
∂Dh

1

∂x
=

2
√

x2 + 2(x2 − 1)

x2
+

2(L − x)
√

(L − x)2 + β2 + 2

(L − x)
√

(L − x)2 + β2
(1−(L−x)2−β2).

u;�-Nv



,-*
�0�I4 ��#�$�0F 7��48 ��2 Dh

1
3 �����0!5����!1 u;�-Nv3 ��#�5�7 ��:

�0�7���H ��0!5��������7 �����8 ��#H� �1!!1

Dh
1 =

(x2 + 2)3/2

x
+

(1 − β2)
√

β2 + 2

β
ln
[

1 + β2 +
β2(β2 + 2)

(L − x)2
+

βA

(L − x)2

]

+

+A + β2 ln[1 + β2 + (L − x)2 + A], u;�-Ov

A =
√

(L − x)2 + β2
√

(L − x)2 + β2 + 2 .

u�v uIv
���� ;�,N�

�� ����;�,N� � ;�,NI ��!2�0��#!�4 5��9���  �����1��0!8 Dh
1

�
∂Dh

1/∂x �0 x
� 
�J��  ��#H$�0F �#!2�HG!!y

,� %�� ca<2 uβ<1v 9���6����# 7�#7!0�7 �4���#41 �� ��0!���#!
(0, L)

�
;� %�� ca→2 ����2���0� x3 �0�!$�HG�7 1���1�1� Dh

1
3 �0�!1�0�7 �

L3 ��41� �#���1�3 �!0�� 1�J!0 ��#F�� �5�G�0F�7�
-� Dh

1
�1!!0 I!����!$�48 I��F!�3 ��!2�0���G�HG�8 ��#��4����!

�����8 7$!8���



,-,
����! J! ���!2!��! ��I#H2�!0�7 � �2��1!���1 �#�$�!3 �� ��� #H:

I4�  ��$!��7� ca
u�1� �� 2!# ;�+v� %�� ca>23 ��52� � !# ; ���I#�J�!0�7

� � #� - �3 �#!2���0!#F��3 L−x→03 2�1�����HG�1 � u;�-Ov �0�����0:
�7 �0���! �#�5�!1�! � �0��6�0!#F�41  ����13 �����#F�� � E0�1 �#�$�!
1−β2<0

� �� ����;�,N� � ;�,NI ��2��3 $0� 9���6����# 0!�7!0 �4���#��0F
��� ca>2

� 
�J!0 ���� �0F�73 $0� ��� 1���1� �6�� 9���6����#� � ��:
1�GFH ���6!2��4 u,�,+v �����7 7$!8�� ��#���!0�7� �2����3 2� �!��0�:
��5�  ��$!��7 ca

E0�5� �! �������2�0 �� �#!2�HG!8 ���$��!� �#7 2��:
��8 1�2!#F��8  �2�$� �0!��6�����7 ���6!2��� u,�,+v 7�#7!0�7 1!0�2�1
�FH0��� � ����2���0� � #� ; �� l+1:1 M�5! �4$��#7!0�7 �� 9��1�#!

xl+1 = xl − τ
∂Dh

1

∂x

(

∂2Dh
1

∂x2

)−1

. u;�-.v

��82!1 �0���H ���� ��2��H �0 Dh
1

∂2Dh
1

∂x2
=

2√
x2 + 2

(

x+
1

x
+

4

x3

)

+
(L−x)[((L−x)2+β2)2+(L−x)2+β2]+4

0.5(L−x)2
√

(L−x)2+β2
√

(L−x)2+β2+2
.

%�� L−xl→03 ��0���� � �!���8 � �0���8 ���� ��2��83 ���0�!0�0�!�:
��3 0�#F�� $#!�4 ���72�� O((L−xl)−1) � O((L−xl)−2)3 ��#�$�1 � u;�-.v

xl+1 − xl = −τ
(β2 + 2)(1 − β2)

β2 + 4
(L − xl).

%����#F�� τ<1 � 1−β2<03 0� �$!��2��3 $0� �����G!��! xl+1−xl I�2!0
 ��!2�1� 1!�FM! ����0�7��7 2� � #� - 2� 0!� ��� ���� �! �4��#�!��
���!��0��

−(β2 + 2)(1 − β2)/(β2 + 4) = 1.

�� �!M�� E0� �����!��!3 ��#�$�1 β'1.565 �#� 2#7 ��M!5� ���1!��
ca'3.13

� ����1 �I�� �13 � ��0!���#!  ��$!��8 1≤β<1.565 u2≤ca<3.13v
2#��� �����8 7$!8�� I�2!0 ��0���0F�7 I�#FM!8 ��#7 � 0�$���0FH 2� 1�:
M����5� ��#7 �#�  �2����8 0�$���0� �4$��#!��8� %�� β≥1.565 �����7
7$!8�� ��#���!0�7� 
 E0�1 ���7�#7!0�7 �0#�$�! �0 2��1!���5� �#�$�73
52! xl ��� ���G!�0�#!��� �0!��6�8 u;�-.v ��#�$�!0 �����G!��! 1!�FM!!3
$!1 ����0�7��! 2� � #� - ��� #HI4� β≥1 u�1� �� 2!# ;�+v�



,-;
�0��3 ��G!�0��!0 0�� ��0!���#�  ��$!��8 ��E99�6�!�0� �2��0�6��

ca=2β/|ur − ul| 2#7 �� �4���8 1���0����8 9���6��� 
 �!���1 0<β<1
9���6����# Dh

1
�1!!0 I!����!$�48 I��F!�3 �I!��!$���HG�8 �!�4��J:

2!����0F �!0��� 
� �0���1 ��0!���#! 1≤β<1.565 ���7�#7!0�7 I��F!�:
���0F �0!��6�����8 ���6!2��43 �! �� ��#7HG�7 ��#����0F�7 �����8
7$!8�!� 
 0�!0F!1 ��0!���#! β≥1.565 ���!2��! � #4 �� �� �4! �0����4
�0 �� �4�� �#���H0�7 � �!0�� �4��J2�!0�7� �01!0�13 $0� �� ����0��!
�0���8 ��0!���# 0��J! �!���5�2!� 2#7 ���0��!��7 �!�4��J2!���8 0�!�:
1!���8 �!0��� ��������7 1�2!#F #!5�� �I�IG�!0�7 �� �#�$�8 N1−1 > 4
��0!���#�� �!0�� �� ��� x

�
����1�0�!��48 1!���� 1 �IU7��7!0 2��J!��! � #�� � 0�!�1!��4�

 �2�$�� 5�2��2���1��� � �� �4���8 1���0����8 9���6�!8 f
� 
 ���!�0:

���0� �!��0���8 0�$��3 #!J�G!8 �� ���!�����0� �� �4�� f 3 1�J�� ���:
�1�0�!0F #���#F��H 2!���0��� ���0!1� ����2���0 � ��FH x3 ������#!�:
��8 �2�#F ���1�#� � ���!�����0� �� �4��� ��52� � �!���1 ���I#�J!:
��� 1�J�� �$�0�0F x=x(ξ)3 y=aη 3 z=bζ � ��!�!I�!$F 1�#41� $#!��1�3
��2!�J�G�1� fy, fz

� %��!2!��! �2��0����8 �!0�� �  �����1��0� �0 ca���G!�0�#7!0�7 � ��1��� ����1�0�!���8 1�2!#��
�#7 0�5� $0�I4 � I!J�0F �4��J2!��7 �!0��3 � w;xu� ��!���3 ���:

�!���3 ;***v I4#� ��!2#�J!�� �5����$���0F �!#�$��� 5��2�!�0� 1���:
0����8 9���6�� f̃=caf

� ��!��� �� ��$�#F��8 �!0�! �4$��#7H0�7  ��$!:
��7 ���� ��2�4� � � #�� f̃h

x , f̃h
y , f̃h

z
�  �2�!0�7 1����1�#F�� 2����0�1�!

 ��$!��! 1�2�#7 5��2�!�0� 1���0����8 9���6�� Fmax=χ max(|∇f̃ |)3 52!
χ<1

/ �!��0��48 ��E99�6�!�03 ��2I���!148 � ���6!��! �$!0�� ��#!! �
���6!��! �2��0�6�� 5��2�!�0 9���6�� � � #�� �!�!�$�04��!0�7 �#!2�:
HG�1 �I�� �1y

∇f̃ ∗ =

{

Fmax∇f̃/|∇f̃ |, !�#� |∇f̃ | > Fmax,

∇f̃ , !�#� |∇f̃ | ≤ Fmax.

%�#�$!��4!  ��$!��7 f̃ ∗
x , f̃ ∗

y , f̃ ∗
z

����#F �H0�7 � u;�;<v �1!�0� f̃h
x , f̃h

y , f̃h
z

�
��������7 ���6!2��� �������#F��  �2���H 1���1�#F��8 0�#G��4 �#�7
I�#FM�� 5��2�!�0��3 ��������1���HG�� ���!�����0F �� �4�� f

�



,--

 2���#�!��! � ����1�0�!��41 �4M! ���1!��1 ���0��!��7 �2��0��:

�4� 0�!�1!��4� �!0�� � 1�2!#F�4�  �2�$�� � �#!2�HG!8 5#��! E99!�:
0�����0F �� ��I�0���4� �#5���01�� 2!1���0����!0�7 ��� �!M!��� 2��:
1!��4� �!�0�6������4�  �2�$ 5� ���8 2���1���3 ��52� 0!$!��! ��2!�:
J�0 �2���4! ��#�4 � ���0��0�4! �� �4�4�
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>?@A@ ê

6D±?BCC¹7 #B´=£ µ@±6B´@ =£C=#BµC=>= D
£Aï#BµC=>= ´B6BCD7 >@8@ D �µD?=-BCD9


 ���0�7G!8 5#��! ����4��!0�7 $��#!��48 1!0�2 ���$!0� 2��1!��4�
0!$!��8 �2!�#F��5� 5� � �� ��2��J�4� �!0���� �� ���0��7 ��!1� ��!2:
�0��#7!0 ��I�8 1�2�9���6�H ��!14 ����(�2����� w-,xu(�2����3 ,<+<v3
w-;xu(�2���� � 2��3 ,<ONv �0���5� ���72�� ��������1�6�� �� ����0���:
�0�� � ��!1!�� w,3 +3 N3 .+3 .N3 ../<*xu� ��!���3 ,<<O3;***/;**-v3 w;3 .L3
.O3<,3,L.xu� ��!���3 ����!���3 ,<<<3;***/;**;v3 w<;xuW�ghoZ]|3 S�gZoZ|]3
agZr3 ;**-v3 w<-xuW�ghoZ]|3 agZr3 ;**Lv� ��!1� �I�IG!�� �� �#�$�8 0!:
$!��8 5� � � �42!#!��!1 ��1�$!���8 E�!�5�� 2#7 ���$!0� 2!0���6���:
�4� ��#� wO3.xu� ��!���3 ;**L3;**+v3 w<-3<+xuW�ghoZ]|3 agZr3 ;**L3;**+v�
%�� E0�1  ��� 5��!��7 �� �!M�!0�7 �5�G!��!1 � #�� ��2��J��8 �2��:
0����8 �� ���0��8 �!0��� %�!2#�J!� 1���0��� ���HG�8 �#5���013 �1�
�� 2!# -�;3 � �#5���01 �!M!��7  �2�$� � �����2! �� �4�� 2#7 �����!��7
��1�$!���8 ���!0���3 �1� �� 2!# -�-� %���!2!�4 �72 0!�0��4� ���$!0��
2#7 �2��1!��4� � 2��1!��4�  �2�$3 2!1���0����HG�� E99!�0�����0F
����#F �����7 �2��0���4� �!0��3 � 0��J! ���1!�43 52! �2��0���4! �!0:
�� �� ��#7H0 �� �!M�0F 0����H �0���0��� �!M!��7 0!$!��8 5� � ��
� �4��1 � 5��!��!1�

ê¨³ �¢��� ¢¤�� ��¾��� ¾�� ¢¾ ¢¡�� ¢ì¢ ��¥���
���0!1� �����!��83 ����4��HG�7 0!$!��! �2!�#F��5� 5� � ��� ��#�$��
��1�$!���8 �!��6��3 �1!!0 ��2

∂σ

∂t
+

∂a

∂x
= c, u-�,v

σ=(ρ, ρu, E, ρZ)>, a=(ρu, ρu2 + p, u(E + p), ρuZ)>, c=(0, 0, 0,−ρZK)>.

)2!�F u
/ ������0F3 p

/ 2��#!��!3 ρ
/ �#�0���0F3 E

/ ��#��7 E�!�5�73
T

/ 0!1�!��0���3 Z
/ 2�#7 �!����!�5������M!5� 5��H$!5� �!G!�0��
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u0≤Z≤1v3 K / ������0F ��1�$!���8 �!��6��� %�#��7 E�!�5�7 �1!!0 ��2

E = ρ(e + 0.5u2) + qoρZ ,

52! e, qo
/ ���0�!��77 � ��1�$!���7 E�!�5�� !2���64 1���4 5� � ���0:

�!0�0�!���� 
 �����!��� ���0�7��7 �2!�#F��5� 5� � p=(κ−1)eρ , 52!
κ/ ���� �0!#F �2��I�043 �0��M!��! �2!#F�4� 0!�#�!1���0!83 ��!2��#�:

5�!0�7 ���0�7��41 � ��2! �!��6��3 0�!� �!  ����7G�1 �0 0!1�!��0��4
� ���0��� 5� �� �!1�!��0��� ��7 ��� � �#�0���0FH � 2��#!��!1 $!�! 
�����!��! ���0�7��7 T=p/ρR 3 52! R

/ 5� ���7 ���0�7���7�

 �#�$�! 5� � I! ��1�$!���8 �!��6��  �2�$� ��M� � ���!�0���0�

 �2���7 ��$�#F�4� 2���4� �1!!0 !2���0�!���! �!M!��! ��� �4��#�!:
���  ����� �!�I4����7 E�0����� �� �� �4���3 � 0��J! ��� ��#����3
$0� ���0�!��77 E�!�5�7 e=e(V, S) 7�#7!0�7 �4���#�8 9���6�!8 �0��:
��0!#F�� ����� ��5�1!�0��3 �2!#F��5� �IU!1� V =1/ρ � E�0����� S 3 0�!�
�2��#!0���7!0 �!���!��0��1

eV V > 0 , eV V eSS − e2
V S > 0

� 2���#��0!#F�� ��#���71 "!0!/
!8#7

eV S < 0 , eV V V < 0 .

�#7 �2!�#F��5� 5� � E0� ��#���7 �� e �4��#�!�4�
������0F ��1�$!���8 �!��6�� K  �����0 �0 0!1�!��0��4 T ��5#����

 ����� ��1�$!���8 ���!0���

K(T ) = Ko exp
(

−E+/T
)

, u-�;v
52! E+ / E�!�5�7 ��0���6��3 Ko

/ ����0��0� ������0�� ���52� E����:
�!�6��#F��7  �����1��0F u-�;v  �1!�7!0�7 I�#!! ����0�8 ���!0�$!���8
1�2!#FH

K(T ) =

{

0, !�#� T < T:;,
1/τo,

!�#� T > T:;,
u-�-v

52! T:; / 0!1�!��0��� ���6��������7 ��1�$!���8 �!��6��3 τo
/ 1��M0�I:

�48 1��J�0!#F�
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�#7 ����0���������7 $��#!���8 ��!14 �� ��2��J�4� �!0��� �!�I:

��2�1� ��0!5��#F��7 9��1�  ����� �����!��83 ��0���7 1�J!0 I40F ��:
#�$!��3 !�#� �����0!5������0F u-�,v �� ���� ��#F��8 �I#��0� Ω � �#��:
���0� x, t

∫

Ω

∫ (

∂σ

∂t
+

∂a

∂x

)

dxdt =

∫

Ω

∫

c dxdt ,

�  �0!1 �!�!80� � #!��8 $��0� � ���0����1� ��0!5��#�
∮

∂Ω

σdx − adt =

∫

Ω

∫

c dxdt , u-�Lv

52! ���0�� ∂Ω �5����$���!0 �I#��0F Ω
� �����!��7 u-�Lv ��!2�0��#7H0

��I�8 ��0!5��#F�4!  ����4 ������!��7 � ����4��H0 ��� 5#�2��! 0!$!:
��7 5� �3 0�� � �� �4��4!�


47���1 ����! 5����$�4! ��#���7 �!�I��2�1�  �2���0F ��� ���$!0!
5��!��7� %��0F 2!0���6�����7 ��#�� 2��J!0�7 �#!�� ������� � �0�����
�!����!�5������M!5� ����7G!5��7 5� � � ���1�#F��1 �!J�1! 5��!��73
0�!� �!J�1! �!�1!��:'�5! u�'v� %� �0��M!��H � �!�5��!�M!1� 5� �
2!0���6�����7 ��#�� 2��J!0�7 �� ��!�� ������8 ������0FH � ��!�!2�
�#!2�!0  �2���0F ��! $!04�! ����1!0�� 0!$!��7y u;=03 p; 3 ρ; 3 Z;=1

�

6

-

r

r

r

r

r

��71�7 �E#!7:
��!#F����

p
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5��!��!� �� (p, V )

/2��5��11!3 � �I��J!���8 �� ����-�,3 ��J�77 �2��I�:
0� (H5���� �0�!$�!0 �!�5��!�M!1� 5� �3 �!���77 / ��#���0FH ���2!0���:
�����M!1� 5� �� %��6!��3 �����27G�8 $!�! ���0�7��7 0, 1, 2 �� ��71�8
�E#!7:
��!#F����3 ���0�!0�0��!0 ���1�#F��1� �!J�1� 5��!��7 �'3 �
���6!��3 �����27G�8 $!�! ���0�7��7 0, 4, 53 / �!�!�J�0�8 2!0���6���:
��8 ��#�!� ����1�0��1 ���1�#F�48 �!J�1 5��!��7� 
 0�$�! '�5! u0�$:
�� ; �� ����-�,v �2��I�0� (H5���� �����2�!0 � � �E�0����8 ���2��0��
�!��6��3 ��0���7 � ���!2!#7!0 ������0F  ���� (∂p/∂ρ)s

� %�71�7 �E#!7:

��!#F���� ����!0�7 �2��I�04 (H5���� 2#7 ��#���0FH �5��!�M!5� 5� �
� 0�$�! ;� %�E0�1� 2!0���6�����7 ��#�� 2��J!0�7 ��  ������8 ������0FH
�0����0!#F�� �5��!�M!5� 5� � � �� �2�� �����0!���0��� �! �����2�0 ��
�!! � �2�� �#!2���0!#F��3 �� #!��8 5����6! �!0 �!�I��2�1��0�  �2���0F
5����$�4! ��#���7� �I4$�� � E0�1 �#�$�! ��� ���$!0��  �2�H0 175��!
5����$�4! ��#���7 �� ��! $!04�! ����1!0�� 0!$!��7 ∂f/∂x=0 uf=u, p, ρ
�#� Z v�


 �#�$�! �!�!�J�0�8 2!0���6�����8 ��#�4 ������0F ��#�4 1!�FM!
1!�0��8 ������0�  ���� � ���2��0�� �!��6��� �� ��#�� �� �0����4 �5�:
�!�M!5� 5� � �����2�0 �2�� �����0!���0��� � �� #!��8 5����6!  �2�!0�7
������0F ���M�73 �����7 ������0� ��#���0FH �5��!�M!5� 5� � u=u<= �


 ��$!�0�! 0!�0���8  �2�$� � 2�#F�!8M!1 ����#F �!0�7 1�2!#F �0�:
6�������5� 5��!��7 )!#F2���$�/�!81���/������ u)��v3 �1�3 �����:
1!�3 wL*xu)!#F2���$3 ��1���!!63 ,<++v3 ��52� � ���1�#F��1 �!J�1! ��#:
�� 2��J!0�7 �� ������0FH D>? � %�� �0�6�������1 �!J�1! �!��4! 0��
�I4����!��4� 2�99!�!�6��#F�4� �����!��7 u���v ���0!14 u-�,v ��:
0!5����H0�7 � ���270�7 � �#5!I���$!���1 ���0��M!��713 � ���#!2�!!
��� ��1�$!���8 ���!0��� ��0!5����!0�7 $��#!���� ����1 �I�� �13 �
#HI�8 0�$�! 2!0���6�����8 ��#�4 ����1!0�4 5� � 1�5�0 I40F ���!2!:
#!�4 � �4����8 0�$���0FH�
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ê¨Þ µ�� ¢�� �� �ë�¡�
�� ���0��7 ��!1� ����1�0����#��F � w,3 ;3 .3 <+xu� ��!���3 ,<<O3 ;***3
;**+v� �� �#�����0� �!�!1!��4� x, t ��!2!1 �� ���0��H ��2��J��H �!0:
��3 7$!8�� ��0���8 � 1�1!�04 ��!1!�� tn � tn+1 � �I��J!�� �� ����-�;3 �
M�5�1 hi+1/2=xn

i+1−xn
i
�� ��!1!���1 �#�! n � hi+1/2=xn+1

i+1 −xn+1
i

�� �#�!
n+13 � 0��J! � M�5�1 �� ��!1!�� 4t=tn+1−tn 3 52! n, j

/ ��#�J�0!#F�4!
6!#4! ��2!��4� 
 2�#F�!8M!13 ��� � � �� 2!#! ;�L3 0�1 52! �� 1�J�� I�:
2!1 ������0F ��2!�� �� ��!1!��3 ��2�� �1!��73 $0�  ����F ��2!��� ��!�:
�� ���0�!0�0��!0 ��!1!���1� �#�H n+13 � ��� � / �#�H n

� %��0F � 1�1!�0
��!1!�� tn  �2���  ��$!��! �!0�$�4� 9���6�8 fi+1/2=(u, p, ρ, Z)>i+1/2

��:
�!�!2��! �0�! �� i+1/23 0�!� � 0�$��� xn

i+1/2

� �����1!�3 � ��$!�0�! ui+1/2I!�!0�7 ���!2�!���!  ��$!��! u(x, tn) �� �0�! �! i+1/2

ui+1/2 =
1

hi+1/2

∫ xn
i+1

xn
i

u(x, tn)dx .

6

b b

bb

n+1

n+1/2

n
i i+1/2 i+1

t

xr

r r

r

-1 2

���� -�;� �$!8�� i+1/2 � 1�1!�04 ��!1!�� tn � tn+1 �

%��#! ��0!5��������7 ���0!14 u-�Lv �2�#F ���0��� $!04�!��5�#F��:
��3 � �I��J!���5� �� ����-�;3 ��#�$�!1 ���0!1� �� ���0�4� �����!��8

σi+1/2hi+1/2 − σi+1/2hi+1/2 − σi+1hi+1 + σihi + 4t(ai+1 − ai) =

= 0.54t(hi+1/2 + hi+1/2)c
n+1/2
i+1/2 ,

u-�+v

52! �!#�$��4 σi+1/2 � 704 � 0�$�! xn+1
i+1/2

3 � σi
3 ai

� σi+1
3 ai+1

/ � 0�$���
x

n+1/2
i

� x
n+1/2
i+1

���0�!0�0�!���3 hi=xn+1
i −xn

i

/ ���!�6�7 I�����8 �0����4
xn

i x
n+1
i

�� ��F x
� 
!#�$��� c

n+1/2
i+1/2

� 70� � 6!�0�! $!04�!��5�#F�����
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�#7 �!�!�$!0�  ��$!��8 f i+1/2 �� �!���!1 �#�! n+1 �� �0��41 ��:

�72��1 0�$���0� �!�I��2�1� �1!0F �4$��#70F ��0��� $!�! 5����$�4!
0�$�� 7$!8��3 0�!�  ��$!��7 fi

� fi+1
3 � 1�1!�0 ��!1!�� tn+1/2 � ���$!0

I�2!1 �����2�0F � 2�� E0��� �� ��!1! ��!2��0��:����!�0��� �� �!���1
E0��! ��!2��0�� ��#�5�!1 fi=f1,i+1/2

� fi+1=f2,i+1/2
3 0�!� ����41  ��$!��:

71 �� ���7� �0�! �� i+1/2 � 1�1!�0 tn �1!�0� tn+1/2 3 �1� ����-�;� �#7
���!2!#!��7 �!#�$�� f1,i+1/2

3 f2,i+1/2
����#F �!0�7 #��!8��7 ��0!���#7:

6�7

f1,i+1/2 = fi+1/2−0.5δfi+1/2hi+1/2 , f2,i+1/2 = fi+1/2+0.5δfi+1/2hi+1/2.
u-�Nv

%��� ��2��7 δfi+1/2
���!2!#7!0�7 $!�! ����1�5�0!#F�4!  ��$!��7

f̃1,i+1/2
3 f̃2,i+1/2

�� ���6�� �0�! ��

δfi+1/2 = (̃f2,i+1/2 − f̃1,i+1/2)/hi+1/2 . u-�Ov

���1�5�0!#F��!  ��$!��! �� #!��1 ���6! �0�! �� f̃1,i+1/2

����2�0�7
� �� #�J!��7 f � �72 �!8#��� � ���!�0���0� 0�$�� xn

i
2� $#!��� 0�!:

0F!5� ���72�� 1�#��0�3 � 2#7 f̃2,i+1/2
� ���!�0���0� xn

i+1

f̃1,i+1/2=fi+1/2 −
hi+1/2(fi+1/2 − fi−1/2)

hi+1/2 + hi−1/2
−

h2
i+1/2(f

′

i+1/2 − f
′

i−1/2)

4(hi+1/2 + hi−1/2)
,

f̃2,i+1/2=fi+1/2 +
hi+1/2(fi+3/2 − fi+1/2)

hi+3/2 + hi+1/2
−

h2
i+1/2(f

′

i+3/2 − f
′

i+1/2)

4(hi+3/2+hi+1/2)
.

u-�.v


 u-�.v ��J2�7 ��1���!�0� ���� ��2��8 f
′

i+1/2
���!2!#7!0�7 � ��1�GFH

����6��� 1���1�#F�4� ���� ��2�4� w+*xu��#5��3 ,<O;v� �����1!�3 2#7
������0� u �1!!1

u
′

i+1/2 =

{

u
′

i , !�#� |u′

i| ≤ |u′

i+1|
u

′

i+1 , ���$! ,

52! u
′

i
�4$��#7!0�7 � �� ���0��5� ���0��M!��7

u
′

i =
2(ui+1/2 − ui−1/2)

(hi+1/2 + hi−1/2)
.



,L*
��#!! ����#F �!0�7 ��!2#�J!���7 � w,;,xui]\o\\g3 X]]~^gh~3 ,<.Lv

�5#�J���HG�7 ���6!2��� ����!�0������ f̃1,i+1/2
� f̃2,i+1/2

� �#7 E0�5� ��
�0�! �! (xn

i , x
n
i+1)

�0���0�7 ��0!���#76�����7 ����I�#� 2#7 ��J2�8 � 
��1���!�0 �!�0��� f

� �����1!�3 2#7 ������0� U �1!!1

U(ζ) = a0 +a1ζ +a2ζ
2, ζ=(x−xn

i+1/2)/hi+1/2, xn
i ≤x≤xn

i+1, −1/2≤ζ≤1/2,

%���I�#� �����1�!0 �� ���6�� �0�! �� �#!2�HG�!  ��$!��7y
U(−1/2)=u1,i+1/2

3 U(1/2)=u2,i+1/2
� ��!2�!!  ��$!��! ui+1/2

�4$��:
#7!0�7 �� 9��1�#!

ui+1/2 =

∫ 1/2

−1/2

U(ζ)dζ .

��E99�6�!�04 ����I�#4 I!��0�7 ����41�

a1 = ũ2,i+1/2 − ũ1,i+1/2, a2 = 3(ũ1,i+1/2 + ũ2,i+1/2) − 6ui+1/2.

�0���0�7 ��#���!3 $0� ����I�#� �! 2�#J�� 2��0�5�0F ���!5� E��0�!:
1�1� ���0�� �0�! ��� 
 ���0����1 �#�$�! �����2�0�7 ����!�0������
 ��$!��8 ũ1,i+1/2, ũ2,i+1/2

2#7 �I!��!$!��7 1���0�����0� ����I�#4� K0�
1�J!0 �������2�0F � 2��� �#�$�7�y
�v ui+1/2

�! #!J�0 ���0�� ��0!���#�  ��$!��8 �0 ũ1,i+1/2
2� ũ2,i+1/2

� 

E0�1 �#�$�! ����I�#�  �1!�7!0�7 �0�! ��1 ��71�8 U(ζ)=ui+1/2

3 0�!�

ũ1,i+1/2 = ũ2,i+1/2 = ui+1/2 , !�#� (ũ2,i+1/2 − ui+1/2)(ui+1/2 − ũ1,i+1/2) ≤ 0 ;

Iv ui+1/2
����2�0�7 ���0�� ��� ����5� ��0!���#�3 �� #!J�0 2��0�0�$��

I#� �� � ũ1,i+1/2
�#� ũ2,i+1/2

� 
 E0�1 �#�$�! ��2����#7!0�7 ũ1,i+1/2
�#�

ũ2,i+1/2
u0�3 ��0���! #!J�0 2�#FM! �0 ui+1/2

v �#!2�HG�1 �I�� �1
{

ũ1,i+1/2 = ui+1/2 + 2(ui+1/2 − ũ2,i+1/2) , !�#� a2
1 < −a1a2 ,

ũ2,i+1/2 = ui+1/2 + 2(ui+1/2 − ũ1,i+1/2) , !�#� a2
1 < a1a2 .

%��#! E0�5� � u-�Ov ���!2!#7!0�7 δfi+1/2
3 � � u-�.v ����270�7

����1�5�0!#F�4!  ��$!��7 f̃1,i+1/2
� f̃2,i+1/2

� ����#��0!#F�� ��#�5�!1
c

n+1/2
i+1/2 =cn

i+1/2

� �!�!�F ���1!J�0�$�4!  ��$!��7 f̄
i+1/2 � 1�1!�0 ��!1!:

�� tn+1 1�5�0 I40F �4$��#!�4 � u-�+v�



,L,
�� �0���8 �0�2�� ����!�0�� 2#7 ���!2!#!��7 ��0���� $!�! ���7

7$!8�� �!M�!0�7  �2�$� � �����2! �� �4��3 �� �! � 1�1!�0 tn 3 ��� I4#�
��!2#�J!�� � ��!1! ����(�2����� w-,xu(�2����3 ,<+<v3 w-;xu(�2���� � 2��3
,<ONv3 � � 1�1!�0 tn+1/2 � �� �!��2��J��8 �!0�! �!M�0F  �2�$� � �����2!
�� �4�� � 1�1!�0 tn+1/2 I4#� ��!2#�J!�� � wN-xu��2�����3 ,<.Ov� �#7
��#�$!��7 ��!2�����2�4�  ��$!��8 ���$�#� �4$��#7!1  ��$!��7 9���:
6�8 �� ���7� 7$!8�� � 1�1!�0 ��!1!�� tn+1 3 ����#F �7 2#7 E0�5�f̄ i+1/2

� ���� ��2�4! � n:5� �#�7 δfi+1/2
�� 9��1�#�13 ���#�5�$�41 u-�Nv� 
 7�

��!2�!! �0 ���!�4�  ��$!��8 �� �#�7� n � n+13 ��#�$�!1 ��!2�����2�4!
�!#�$��4

f
n+1/2
1,i+1/2 = 0.5

[

fi+1/2 + f̄
i+1/2 − 0.5δfi+1/2(hi+1/2 + hi+1/2)

]

,

f
n+1/2
2,i+1/2 = 0.5

[

fi+1/2 + f̄
i+1/2

+ 0.5δfi+1/2(hi+1/2 + hi+1/2)
]

.

u-�<v

K0�0 �#5���01 �4$��#!��7 ��!2�����2�4� �!#�$�� �� �!��2��J��8 �!0:
�! I4# ��!2#�J!� � wN-xu��2�����3 ,<.Ov�

)��7 ��!2�����2�4! �!#�$��4 f
n+1/2
2,i−1/2

� f
n+1/2
1,i+1/2

� �I!�� �0���� � #� i3
1�J�� ���!2!#�0F ���#!�����2�4! �!#�$��4 f

n+1/2
i

� f
n+1/2
i+1

2#7 ���$!0�
��0���� $!�! ���7 7$!8��3 �!M�7  �2�$� � �����2! �� �4�� u�1� ��:
J! �� 2!# -�-v� %�2�0���� �� � u-�+v3 ��#�$�1 ����$�0!#F�4! �!#�$��4
����1!0��� 0!$!��7 f i+1/2 � 1�1!�0 tn+1 �

��������7 ��!1� �1!!0 �0���8 ��72�� 0�$���0� �� ����0����0�� �
��!1!�� ��� ��#����3 $0� 0!$!��! 5#�2��! �� ��!8 �$!0��8 �I#��0� �
�!0�� ��� ������1!���73 0�!�

hi+1/2 − hi−1/2 = o(hi+1/2) .

%�� ��#�$�� ��#F�4� � �#�I4� �� �4��� � �!M!��� 9��1�#F�48
���72�� 0�$���0� ��!143 �6!����!148 � ��0!5��#F��8 ���1! L1

3 �1�
w-+xu(�2����3 ,<<Ov3 ���J�!0�7 2� �!���5� w,xu� ��!���3 ,<<Ov�
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�2!#�������! �����2�0�7 � ��!2��#�J!���3 $0� �  ��! 5��!��7 2!0���:
6�����8 ��#�4 �� 1!G!�� �!���#F�� � #�� �!0�� u�#� #���8 �!0�� � 2��:
1!���1 �#�$�!v� �� ��71�8 �E#!7/
��!#F����  ��� 5��!��7  ��#H$!��
1!J2� 0�$��1� , � ; �#� L � +3 �1� ����-�,� ����1 �I�� �13 ���0�7G�7
1�2!#F �0�!$�!0 �!�#F��1� 9� �$!���1� ���6!���3 ��52� ���$�#� �����:
2�0 �2����7 ��#�� u�!�!��2 � 0�$�� * � , �#� � * � Lv3 �� �5�!��HG�7
5� 3 �  �0!1 �2!0 ���6!�� 5��!��7� 
 E0�8 1�2!#� 1�J�� ����#F ���0F
 �2�$� � �����2! �� �4�� 2#7 �!5��H$!5� 5� �3 �����#F�� � 1�1!�0 �!:
�!��2� $!�! �2����H ��#�� ��1�$!���7 �!��6�7 !G! �! ��$�#��F�

)�2�$� � �����2! �� �4�� 2#7 �2!�#F��5� 5� � �� �!��2��J��8 �!0�!
I4#� ����1�0�!�� � w-,xu(�2����3 ,<+<v � �� ��2��J��8 �!0�! � w-;xu(�2�:
��� � 2��3 ,<ONv ��� ��#���� ���0�7��0�� ��!2�����2�4� �!#�$�� ������
� �#!�� �0 �� �4��� )2!�F ���1!�7!0�7 0� J! ��!1�3 � 0�8 0�#F�� �� :
��6!83 $0� �!M�!0�7  �2�$� � 1�1!�0 ��!1!�� tn+1/2 � �� �!��2��J��8
�!0�! �!M�0F  �2�$� � �����2! �� �4�� � 1�1!�0 tn+1/2 I4#� ��!2#�J!��
� wN-xu��2�����3 ,<.Ov� %��0F �#!�� � ������ �0 � #� i3 �!�!1!G�HG!5�:
�7 �� ������0FH wi

3  �2��4 ��!2�����2�4!  ��$!��7 f
n+1/2
2,i−1/2

� f
n+1/2
1,i+1/2

3
� �0���0��� �� ����HG!5� ���#! �����2� �� �4�� ��0�1�2!#F��5� 0!:
$!��7 �1!!0 ��23 � �I��J!��48 �� ����-�-� �� ����-�- ���� ��4 �70F
�� 1�J�4� �#�$�!� ��#�J!��7 �0�! �� (x

n+1/2
i , xn+1

i ) �0����0!#F�� ��#:
����8 �0���0��4 ��0�1�2!#F��5� 0!$!��7�


  �����1��0� �0 0�5� � ����H  ��� 0!$!��7 ����2�!0 � !# i � 1�:
1!�0 tn+1 �4I���H0�7 ���#!�����2�4!  ��$!��7 f

n+1/2
i

u � ���#H$!��!1
Z

n+1/2
i

v� 
 ��$!�0�! f
n+1/2
i

I!�!1 �#!2�HG�H �!#�$���y
,�

f
n+1/2
i = f

n+1/2
2,i−1/2

3 !�#� wi < d@A 3 52! d@A / ������0F #!��8 �2����8 ��#:
�4�
;�

f
n+1/2
i = f 2

3 !�#� d@A < wi < d01 3 52! f 2

/ �!#�$��4 ����1!0���  �
�2����8 ��#��83 d01

/ ������0F ���0��0��5� �� �4���
-�

f
n+1/2
i = f 3

3 !�#� d01 < wi < d
BA1 3 52! f 3

/ �!#�$��4 ����1!0��� �
�I#��0� 1!J2� ���0��0�41 �� �4��1 � #!��8 �����0!���0���8 � ��#�!
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r r r r

r

r

t

x

�
 �� 
�

f
n+1/2
2,i−1/2 f

n+1/2
1,i+1/2

i, n+1/2

1 2 3 4
5

���� -�-� %70F �� 1�J�4� �#�$�!� �����#�J!��7 �0�! �� (x
n+1/2
i , xn+1

i )
�0����0!#F�� ��#����8 �0���0��4 ��0�1�2!#F��5� 0!$!��7� �
 / �2��:
��7 ��#��3 �� / ���0��0�48 �� �4�3 
� / �!!� ��#� �� �!J!��7� ��$��
1, . . ., 5 ��� 4��H0 �� ��#�J!��! � #� i � 1�1!�0 tn+1 �

�� �!J!��73 �1!HG!8 ������0F d
BA1 �L�

f
n+1/2
i = ϕ(x/t)3 !�#� d

BA1 < wi < dCA1 3 52! dCA1
/ ������0F �����8 �����0!:

���0��� � ��#�! �� �!J!��7� )2!�F ����1!0�4 ��0��� ����$�04��H0�7
� ��#�! �� �!J!��7 �  �����1��0� �0 ��0�1�2!#F��8 �!�!1!���8 x/t�+�

f
n+1/2
i = f

n+1/2
1,i+1/2

3 !�#� wi > dCA1
�

%����#F�� 2#7 �����!��7 ��1�$!���8 ���!0���3  ��������5� � ��:
���0!���0�$!���8 9��1!3

∂Z

∂t
+ u

∂Z

∂x
= −ZK

�����0!���0���8 7�#7!0�7 dx/dt=u3 2#7 ���!2!#!��7 Z
n+1/2
i

����#F �!1
��#���! �� �� �4�! w.xu� ��!���3 ;**+v

Z
n+1/2
i =

{

Z
n+1/2
2,i−1/2,

!�#� wi < d01,
Z

n+1/2
1,i+1/2,

!�#� wi > d01,
u-�,*v

�1� ����-�L � � �I��J!��!1 2��� �� 1�J�4� �#�$�!� ��#�J!��7 �0�! :
�� (x

n+1/2
i , xn+1

i ) �0����0!#F�� ��#����8 �0���0��4 ��0�1�2!#F��5� 0!:
$!��7�



,LL

r

r r

t

x

��

Z
n+1/2
2,i−1/2 Z

n+1/2
1,i+1/2

i, n+1/2

1 2

���� -�L� �� / ���0��0�48 �� �4�� ��$�� 1, 2 ��� 4��H0 �� ��#�J!��!
� #� i � 1�1!�0 tn+1 �

ê¨î ï��¢½��¤¢��� �ë�¡§

!#�$��� M�5� �� ��!1!�� � 7$!8�! i+1/2 ���!2!#7!0�7 �� 9��1�#!
w-;xu(�2���� � 2��3 ,<ONv

4ti+1/2 =
hi+1/2

max(dCi − wi+1 , −d
B
i+1 + wi)

. u-�,,v
)2!�F dCi � d

B
i+1

/ ������0� �������0���!��7 ��1�8 �����8 � ��1�8 #!��8
��#� ��� �����2! �� �4��3 ���0�!0�0�!���3 � � #�� i � i+13wi

/ ������0F
�!�!1!G!��7 � #� i

� P��1�#� u-�,,v �1!!0 7��48 9� �$!���8 �14�# �
�6!����!0 ��!173 � 0!$!��! ��0���5� �� 1�G!��7 �0 #!��5� � #� 7$!8��
2��0�5��0 �����5� ��2��J��5� � #�3 � 0��J! ��!173 � 0!$!��! ��0���5�
�� 1�G!��7 �0 �����5� � #� 7$!8�� 2��0�5��0 #!��5� ��2��J��5� � #��
� E0�� 2��� ��!1!� �4I���!0�7 1���1�#F��!�

T�5 4t �� 0!��G!1 ��!1!���1 �#�! tn �6!����!0�7 � ��2!

4t = ν min
i

4ti+1/2 . u-�,;v
��E99�6�!�0  ����� ν u� ��5#�7 4$��8 #�0!��0��! / ��E99�6�!�0
�����0�/P��2�����/�!��v !�0F �������� �� �!#��!8���0F  �2�$� � ��2:
I���!0�7 E���!��1!�0�#F����#7 ��!14 ����(�2����� � w-;3 �0�� ,--x ���:
�!2!�� E1����$!���7 9��1�#� 2#7 ν

� ��1 J! � D,O ����!2!� ���1!�3 52!
����#F �!0�7 ���0�7���! ν=0.9

� �#7 ��!1 �4����5� ���72�� 0�$���0�
�#!2�!0 I��0F ν=0.5 � ���52� 2�J! 1!�FM!� %����#F�� M�5 4ti+1/2

 �:
����0 �0  ��$!��8 ����1!0��� ��0��� �� ���7� 7$!8�� u� �� ��1�GFH



,L+
�!M�!0�7  �2�$� � �����2! �� �4�� � ����270�7 ������0�3 ����#F �!:
14! � u-�,,vv � ������0� � #��3 ��� ����!2!��� ���$!0�� ��#�$!���! ��
��!242�G!1 M�5!  ��$!��! 4t ����#F �!0�7 �� �#!2�HG!1 M�5!�

ê¨ò ±����¡� ¥��¤ � �½ ¾�� ¾¤¥¡�� ¢ì¢ ��¥���
���0!1� �����!��83 ����4��HG�7 0!$!��! �2!�#F��5� 5� � ��� ��#�$��
��1�$!���8 �!��6�� � 2��1!���1 �#�$�!3 � 2!���0���8 ���0!1! ����2�:
��0 �1!!0 ��2

∂σ

∂t
+

∂a

∂x
+

∂b

∂y
= c, u-�,-v

σ=(ρ, ρu, ρv, E, ρZ)>, a=(ρu, ρu2+p, ρuv, u(E+p), ρuZ)>,

b=(ρv, ρuv, ρv2+p, v(E+p), ρvZ)>, c=(0, 0, 0, 0,−ρKZ)>,

52! u � v
/ ��1���!�04 ������0�� %�#��7 E�!�5�7 ���!2!#7!0�7 ���

E = ρ[e + 0.5(u2 + v2)] + qoρZ.

���$!0 ���G!�0�#7!0�7 �� �����! ��0!5��#F�4�  ������ ������!��73
�1!HG�� ��2 w-;xu(�2���� � 2��3 ,<ONv

∫∫

∂V

© σ dxdy + a dydt + b dtdx =

∫∫

V

∫

c dxdydt . u-�,Lv

)2!�F � #!��8 $��0� ��0!5��������! �����2�0�7 �� ���!�0��������8  �:
1���0�8 ���!�����0� ∂V 3 �5����$���HG!8 �IU!1 V 3 5�1!�1��9��8 �9!:
�! � ����0����0�! x, y, t

�

ê¨! µ�� ¢�� �� �ë�¡�
%��0F � 9� �$!���8 �I#��0� ���0��!�� �!5�#7���7 �!0��3  �2����7 ����:
2���0�1� � #�� (x, y)i,j

3 i=1, 2, . . ., N1
3 j=1, 2, . . ., N2

� 1�1!�04 ��!1!��
tn � tn+1 � �#7 ��������11�6�� u-�,Lv ����#F �!0�7 �2!7 � w-;xu(�2����
� 2��3 ,<ONv � �!��0��41� 2���#�!��71�� %��1!��1 u-�,Lv � �02!#F��1�



,LN
5!���E2��3 � �I��J!���1� �� 9�5�-�+3 52! ��J�!! � �!���!! ��������7
��0F $!04�!��5�#F��7 7$!8�� i+1/2, j+1/2 � 1�1!�04 tn � tn+1 ���0�!0:
�0�!���� %��#! ��0!5��������7 ��#�$�1

σi+1/2,j+1/2S1′2′3′4′ − σi+1/2,j+1/2S1234+

+Q411′4′ + Q233′2′ + Q122′1′ + Q344′3′ = c
n+1/2
i+1/2,j+1/2V , u-�,+v

52! σi+1/2,j+1/2 � σi+1/2,j+1/2
/  ��$!��7 ����1!0��� 0!$!��7 � 6!�0�! $!:

04�!��5�#F��8 7$!8�� � 1�1!�04 tn+1 � tn 3 S1′2′3′4′
� S1234

/ �#�G�2F
7$!8��3 0�!� �#�G�2� ��������8 5!���E2��3 V / �IU!1 5!���E2��� ��J2�7
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n+1
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32

2
′ 3

′

1
′

4
′

i, j i, j+1

i+1, j i+1, j+1

���� -�+� �$!8�� �!0�� i+1/2, j+1/2 � 1�1!�0� tn �� tn+1  �1!0�!0 5!�:
��E2� � ����0����0�! x, y, t

�

� $!04�!� �!�0���4� �!#�$�� Q122′1′
3Q411′4′

3Q233′2′
3Q344′3′

� u-�,+v ��!2:
�0��#7!0 ���!2�!��4! ��0��� 1���43 �1��#F��3 E�!�5�� � 1���4 �!�5!�0�
$!�! ���0�!0�0��HG�H � I����4� 5���!8 � ������#!��� �!�0��� ��!M:
�!8 ���1�#�� 
 ���0�!0�0��� � ��2!���1� I!��0�7  ��$!��7 ����1!0���
� 6!�0��� I����4� 5���!8 5!���E2��� �����1!�3 �!#�$��� Q122′1′

�1!!0
�#!2�HG�H �0���0���y

Q122′1′ = σ
n+1/2
i+1/2,jS

xy
122′1′ + a

n+1/2
i+1/2,jS

yt
122′1′ + b

n+1/2
i+1/2,jS

tx
122′1′ . u-�,Nv

)2!�F (σ, a,b)
n+1/2
i+1/2,j

����270�7 $!�!  ��$!��7 ����1!0��� f 3 � 7:
04� ���!�!2��! �0����4 ,; $!04�!��5�#F��8 7$!8�� � 1�1!�0 tn+1/2 3
Sxy

122′1′, S
yt
122′1′, S

tx
122′1′

/ �#�G�2� ���!�6�8 5���� 122′1′ �� ���0�!0�0��H:



,LO
G�! ����2���0�4! �#�����0�3 �4$��#7!14! �� 9��1�#�1

Sxy
122′1′ =

∫∫

122′1′ dxdy = 0.5[(x2′ − x1)(y1′ − y2) − (x1′ − x2)(y2′ − y1)] ,

Syt
122′1′ =

∫∫

122′1′ dydt = 0.54t(y2′ + y2 − y1 − y1′) ,

Stx
122′1′ =

∫∫

122′1′ dtdx = −0.54t(x2′ + x2 − x1 − x1′) .

&���M!! ���I#�J!��! 2#7 �IU!1� 5!���E2�� 2�!0 ��!2�!! �0 �#�G�2�
7$!8��3 �1��J!���! �� M�5 4t

V = 0.5(S1′2′3′4′ + S1234)4t ,

52!3 �����1!�3 S1234=0.5[(x3 − x1)(y4 − y2) − (x4 − x2)(y3 − y1)]
�

�#7 ����J2!��7  ��$!��8 �!#�$�� �� �#�! n+1 ����#F �!0�7 �#5�:
��013 ���#�5�$�48 �2��1!���1� � �� 2!#� -�;3 � ���1!�!��!1 1���:
0��� ���HG!8 ���6!2��4 � ��!2��#�J!��� � #��!8��1 �����!2!#!���
����1!0��� ���0�� ��J2�8 7$!8�� �2�#F ����2���0�4� #���8 i+1/2 �
j+1/2

�����7 i+1/2 ���0��#!�� � �0�! ���3 ��!2��7HG�� �!�!2��4 ���:
0�����#�J�4� �0���� 7$!!�� �����1!�3 2#7 7$!8�� i+1/2, j+1/2 0���8
�0�! �� ��!2��7!0 �!�!2��4 �0���� ,; � -L u�1� 9�5�-�+v� ����1 J! �I:
�� �1 9��1���!0�7 ����2���0��7 #���7 j+1/2

� �� M�5! ��!2��0�� 2#7
���!2!#!��7 (σ, a,b)

n+1/2
i+1/2,j

� u-�,Nv I!��0�7  ��$!��7 ����1!0��� 0!$!��7
f ���!�!2��! �!I�� 12 � 1�1!�0 tn 3 �4$��#7!14! �� �!���8 9��1�#! � 
u-�Nv �2�#F #���� j+1/2

� T�5 �� �!0�! �2�#F #���� j+1/2 ��� 9����:
�������1 ��2!��! i � 1�1!�0 tn ���!2!#7!0�7 �� 9��1�#!

hj+1/2=
1

2

√

(xi,j+1+xi+1,j+1−xi,j−xi+1,j)2+(yi,j+1+yi+1,j+1−yi,j−yi+1,j)2,

� ���#�5�$�� ���!2!#7!0�7 hi+1/2
/ M�5 �2�#F #���� i+1/2

� %�� �4$��:
#!��� �!�0��� cn+1/2 ����1!0�4 0!$!��7 I!��0�7 � 6!�0�! ��J�!8 5����
5!���E2���

���!2!#�� ��! $!04�! ��0��� Q �� I����4� 5���7�3 �4$��#�1 ���:
1!J�0�$�4!  ��$!��7 f̄

i+1/2,j+1/2 � u-�,+v�
�� M�5! ����!�0�� �!#�$��4 (σ, a,b)

n+1/2
i+1/2,j

3 ���27G�! � u-�,Nv3 �!�I:
��2�1� �4$��#70F � 6!�0�! 5����3 0�!� ���!�!2��! �!I�� 12 � 1�1!�0



,L.

tn+1/2 � �!M!��7  �2�$� � �����2! �� �4�� � �$!0�1 ������0� 2��J!��7
E0�5� �!I�� 7$!8��� P��1�#4 2#7 ����J2!��7 2���4� �!#�$�� ����!:
2!�4 � w-;3 D;Lxu(�2���� � 2��3 ,<ONv� �01!0�1 #�MF3 $0� �� �!�I��2�:
1� ���1!�70F 2#7 1�1!�0� ��!1!�� tn+1/2 ��� � � �2��1!���1 �#�$�!�
%�� ���!2!#!��� c

n+1/2
i+1/2,j+1/2

 ��$!��7 f
n+1/2
i+1/2,j+1/2

 �2�H0�7 ��� ��!2�!!
�0 f i+1/2,j+1/2

� f̄
i+1/2,j+1/2 �

T�5 �� ��!1!�� 4t ���!2!#7!0�7 � ��#���7 ��0�8$����0� �� ��:
2��J�4� �!0���3 �1� w-;xu(�2���� � 2��3 ,<ONvy

4t = ν min
i,j

4t′i+1/2,j+1/24t′′i+1/2,j+1/2

4t′i+1/2,j+1/2 + 4t′′i+1/2,j+1/2
, u-�,Ov

52! 4t′i+1/2,j+1/2,4t′′i+1/2,j+1/2
/ 2����0�14! ��2��1!��4!� M�5�3 �4$��:

#7!14! � u-�,,v3 � ������#!��� ����2���0�4� #���8 i � j ���0�!0�0�!�:
��3 ��E99�6�!�0  ����� ν=0.5

�

ê¨" µ�����§ ���� �� ì��� ¦�� ë�¡�����¢½ �� �����

 �����2�14� ��J! ���1!��� �M�I�� ‖Er‖L1

�!M!��7 2#7 �!0�$��8
9���6�� fh �0����0!#F�� 0�$��5�  ��$!��7 f E � �2��1!���1 �#�$�! �4:
$��#7!0�7 �� 9��1�#!

‖Er‖L1
=

∫

Ω

|fh(x) − f E(x)|dx ≈

≈
N1−1
∑

i=1

4xi

jmax
∑

j=1

∣

∣

∣
fi+1/2 + qjhi+1/2f

′
i+1/2 − f E(xi+1/2 + qjhi+1/2)

∣

∣

∣
,

 2!�F N1
/ $��#� � #�� �!0��3 �0�! �� (i, i+1) 2!#�0�7 �����1!��� ��

jmax=100 $��0!83 qj=(j−0.5)/jmax−0.5 � 4xi=hi+1/2/jmax
� %��� ��2��7

f ′
i+1/2

�4$��#7!0�7 � ��1�GFH #��!8��8 ��0!���#76��

f ′
i+1/2 =

fi+3/2 − fi+1/2

hi+3/2 + hi+1/2
+

fi+1/2 − fi−1/2

hi+1/2 + hi−1/2
.


 2��1!���1 �#�$�! 9��1�#� 2#7 �4$��#!��7 �M�I�� �1!!0 ��2

‖Er‖L1
=

∫ ∫

Ω

|fh(x, y) − f E(x, y)|dxdy ≈
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F G FG FFF FF
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���� -�N�

≈
N1−1
∑

i=1

N2−1
∑

j=1

∣

∣fi+1/2,j+1/2 − f E(xi+1/2, yj+1/2)
∣

∣4Si+1/2,j+1/2 ,

52! 4Si+1/2,j+1/2
/ �#�G�2F 7$!8���

ê¨"¨³ 8�¾��� ¢ ���©�¾� ����§¤� H¨ �#!2�HG�8 ���$!0 I4#
����!2!� � 6!#FH ����!��� ���72�� ���2�1��0� ��!14 ��� ���$!0! ����:
1!0��� 5� � � ��#�! �� �!J!��73 �I�� �HG!8�7 �  �2�$! � �����2! �� :
�4��� 
 ��$�#F�48 1�1!�0 ��!1!�� t=0 �2!�#F�48 5� �

κ=1.4 �1!!0
�#!2�HG�! ����1!0�4y

(u, p, ρ) =

{

(1, 10, 8) , ��� x < 0 ,

(1.5, 1, 1) , ��� x ≥ 0 .
%�� t>0 ��0�1�2!#F��7 ���0��� �� ����HG!5� 0!$!��7 �1!!0 ��23 � �I:
��J!��48 �� ����-�N� �!04�! #�$� (
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4
�� I���H0 �!���HH ��:

#��#�����0F �� �70F �I#��0!8� 
 �I#��07� S3SS3SSS3SV �1!!1 ���0�7��4!
0!$!��73 � � �I#��0� V / 6!�0���������H ��#�� �� �!J!��7� ��$� (

1� (
2
7�#7H0�7 #���71� �#�I�5� �� �4�� �#� ��!2!#F�41� �����0!��:

�0���1�3 �1!HG�1� ���#��4 w1=x/t=−0.3228756 � w2=1.1818377
� ���:

0��0�48 �� �4� (
3
�1!!0 ���#�� w3=2.25392783 �2����7 ��#�� (

4
�1!!0

���#�� w4=3.2190952
� 
 �I#��07� SSS � SV �1!!1  ��$!��7 u=2.2539278

� p=2.29607373 ρIII=1.7811368, ρIV =2.7967348
�

���$!0 �����2�#�7 �� ��2��J��8 �����1!���8 �!0�! � �I#��0� ��#:
�4 �� �!J!��7 � �42!#!��!1 � ���6!��! �!M!��7 ��!2!#F�4� �����0!:
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N ‖Er‖L1
·107 r1 ‖Er‖L∞

·107 r∞;* ;-,+;+ � ,L,<,O �
L* +.,-+ ,�<< -LN-L ;�*-
.* ,L+.. ,�<< <--- ,�.<
,N* -NOL ,�<< ;O*; ,�O<
-;* <LL ,�<N <,- ,�+N

���0�� (
1
� (

2
� 1�1!�0� ��!1!�� t=0.13 ��52� I4#�  �2��4 ��$�#F�4!

��#���7 �� �0�! �! ,; u�1� ����-�Nv3 2� t=0.4 u�0�! �� -Lv� �! �#F0�04
���$!0�� ����!2!�4 � 0�I#�-�,� )2!�F N

/ $��#� ��0!���#�� �!0�� ��
x
� �M�I�� ‖Er‖L1

� ‖Er‖L∞

� ����J2!��� �#�0���0� ρ �����0!�� �H0
�#�I�H � ��#F��H u#���#F��Hv ���2�1��0F �!M!��7 � 0�$��1� ρE 3 52!

‖Er‖L∞
= max

i
|ρi+1/2 − ρE(xi+1/2)|.


 �#�$�! 2��� ���$!0�� � M�5�1� h, τ � 0.5h, 0.5τ ���72�� �#�I�8 ���2�:
1��0� ���!2!#7!0�7 �� 9��1�#!

r1 =
1

ln 2
ln

‖Er(h, τ)‖L1

‖Er(0.5h, 0.5τ)‖L1

� ���#�5�$�� �4$��#7!0�7 ���72�� ��#F��8 ���2�1��0� r∞
� � 0�I#�,

��2��3 $0� ���72�� �#�I�8 ���2�1��0� r1
���!� 2��1� %��72�� ��#F��8

���2�1��0� r∞
�!1��5� 1!�FM! ;3  � ���#H$!��!1 ���#!2�!5� ���$!0��

ê¨"¨Þ 8�¾��� ¢ ���©�¾� ����§¤� HH¨ ����1�0����!0�7 �2��1!�:
��! 0!$!��! �2!�#F��5� 5� � � ��$�#F�41� 2���41�

(u, p, ρ) =

{

(0, 1, 1) , ��� 0≤x < 0.5 ,

(0, 0.1, 0.125) , ��� 0.5≤x≤1 ,

�0��M!��! 0!�#�!1���0!8
κ=1.4

� ��0�1�2!#F��! 0!$!��! ��� t>0 ��#H:
$�!0 ��#�� �� �!J!��73 ���0��0�48 �� �4� � �2����H ��#��� ���$!0
 �2�$� ��M� �����2�0�7 2� t=0.25 �� �0�! �! (0, 1)

� ���#� ��0!���#��
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ca n τ ‖Er‖L1
‖Er‖A1L1

‖Er‖01L1
‖Er‖@AL1* NO / *�**+<;N *�**;;;< *�**;;+N *�**,LL,

, ,;O *�N *�**L,;+ *�**,+;< *�**,O;- *�***.OL
; ,O< *�N *�**;<+* *�**,**; *�**,-L* *�***N*.
L ;-N *�-+ *�**;LL- *�**,;;* *�***<O+ *�***;L<
. -,< *�-+ *�**,O.O *�***<,- *�***O;+ *�***,L<

��$�#F��8 �����1!���8 �!0�� N=60
� %����#F�� � ���6� ���$!0� �2��:

��7 ��#�� ��$0� 2���2�0 2� �����5� ���6� �0�! ��3 ������ 2�I��#7!0�7
!G! ,* ��0!���#��3 $0�I4 ���#H$�0F �#�7��! �����8 5����64 �� � #43
���075���!14! �  ��� ���$�� ��� �2��0�6���

%�� �2��0�6�� � ��$!�0�! 1���0����8 9���6�� ����#F �!0�7 �#�0:
���0F3 �����#F�� ρ 0!���0 �� �4� ��� �!�!��2! $!�! ���$�� � ���0��0:
�48 �� �4�� �� ��J2�1 M�5! �� t ���G!�0�#7!0�7 +* �0!��6�8 �� �!0�!�
��� �#��F3 $0� ����#F �����! ���0!��7 ���2�1��0�

max
i

∣

∣

∣
xp+1

i −xp
i

∣

∣

∣
< δ , 52! δ ≈ 10−5−10−4

2#7 ��0������ �0!��6�����8 ���6!2��4 1���1� �6�� 9���6����#� Dh

���#�5�$��8 u,�,+v 2�!0 I ��#FM�H �M�I���
�����!2!#!��! �#�0���0� � 1�1!�0 t=0.25 ����!2!�� �� ����-�O�� 


0�I#�-�; ��!2�0��#!��  �����1��0F �M�I�� ‖Er‖L1

3 �4$��#7!1�8 2#7 ρ3
�0 ��E99�6�!�0� �2��0�6�� ca

� )2!�F n
/ $��#� M�5�� �� t3 τ

/ �0!��:
6����48 ����1!0� � ���6!2��! 1���1� �6�� 9���6����#�� 
�2�� $0�
��� ca=8 �M�I�� �1!�FM�!0�7 � -�-; �� �3 2�#F�!8M!! ��!#�$!��! ca

�!
2�!0 ��!#�$!��7 0�$���0��

�0�I4 ����#!2�0F �#�7��! �2��0�6�� �� 0�$���0F �� �!M!��7 �� :
#�$�4� ��#���4� �0���0�� �4$��#7#��F �M�I��3 �����#���!1�7 � �I:
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u�v uIv

u�v u5v
���� -�O� )�2�$� � �����2! �� �4�� u�v3 ���!�0���0F ��#�4 �� �!J!��73
���14��HG!8 � �!�� 1�G!���1� ��0��� uIv3 ���0��0�48 �� �4� u�v3
�2����7 ��#�� u5v� ��#�M��7 #���7 / 0�$��! �!M!��!3 ” ◦ ” � ” + ”

/
�!M!��! �� �����1!���8 � �2��0����8 uca=8v �!0��� ���0�!0�0�!����

#��0� ��#�4 �� �!J!��73 ���0��0��5� �� �4�� � ���$��

‖Er‖A1L1
=

∫ xa

0

|ρh − ρ
�
|dx, ‖Er‖01L1

=

∫ xb

xa

|ρh − ρ
�
|dx,

‖Er‖@AL1
=

∫ 1

xb

|ρh − ρ
�
|dx,

52!
xa = 0.5(dCA1 + d01)t , xb = 0.5(d01 + d@A)t,

dCA1, d01, d@A
/ ������0� �������0���!��7 ���8�!8 �����8 �����0!���0��� �

��#�! �� �!J!��73 ���0��0��5� �� �4�� � �2����8 ��#�4 ���0�!0�0�!�:
��� K0� �M�I�� 0��J! ��!2�0��#!�4 � 0�I#�-�;� �� ����-�OI ���� ��
9��51!�0 �!M!��7 � ���!�0���0� �I#��0�3 52! ��#�� �� �!J!��7 ���:
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14��!0 � �!�� 1�G!���1� ��0���� � 0�I#�-�; ��2��3 $0� �� ��2��J��8
�!0�! �M�I�� ‖Er‖A1L1

�1!�FM�!0�7 � ;�LL �� � I#�5�2��7 I�#!! 0�$��1�
��!2�0��#!��H �!M!��7 � ���!�0���0� �#�I�5� �� �4�� � � ; �� � 1!�F:
M!1� M�5� �� ����0����0��� T����� �� 1� 4����7 ���0��0��5� �� �4:
�� �� �2��0����8 �!0�! 0��J! �1!�FM�!0�7 u�1� ����-�O�v3 $0� �� ��#7:
!0 �1!�FM�0F �M�I�� ‖Er‖01L1

� -�,, �� �� �01!0�13 $0� ��� ����#F �:
����� ��!14 �0���5� ���72�� 0�$���0� ���0��0��7  ��� �� 1� 4��!0:
�7 �� ��!1!�!13 �� �����1!���8 9�����������8 �!0�! ������6����#F��
t1/3 wL.xu������ � 2��3 ,<.*v� 
����1�#F�48 �4�5�4M � 0�$���0� 2�:
�0�5�!0�7 � ���!�0���0� ���$��3 ‖Er‖@AL1

�1!�FM�!0�7 � <�NO �� I#�5�:
2��7 �1!�FM!��H M�5� �� x ���1!��� � . �� � ��2��#!��H ��6�##7:
6�8  � �2����8 ��#��83 �1�#�0�2� ��0��4� �� �����1!���8 �!0�! 2�:
�0�5�!0 1.8% u�1� ����-�O5v� �01!0�1 ��I�0� w++xu��1�����83 
�J����
� 2��3 ,<<-v3 52! ��2��#!��! ��6�##76�8 � ���!�0���0� �� �4��� �!M!:
��7 ���G!�0�#7#��F  � �$!0 ��5#��������5� � �!M!��!1 2��J!��7 � #��
�2��0����8 �!0��� ����1 �I�� �13 �� ��2��J��8 �!0�! 1����1�#F�48
�4�5�4M � 0�$���0� ��#�$!� � ���!�0���0� ���$��3 1���1�#F�48 / �
�I#��0� ��#�4 �� �!J!��7� 
 w,O,x ujg�|oZ�Yo � 2��3 ;***v 2���48 ���:
1!� I4# 0��J! ���$�0�� �� ��2��J��8 �2��0����8 �!0�!� %�� 0���1 J!
N �M�I�� ‖Er‖L1

3 �4$��#7!1�7 2#7 ρ3 �1!�FM�#��F � 1.09−1.81 �� � �
 �����1��0� �0 �� #�$�4� ����#F �!14� 1���0���4� 9���6�8�

ê¨"¨ê ±¤��ë�¤¥�¢¤¢� ���� �� ¤ �� ���¨ �#!2�HG�8 0!�0 ��:
�� 4��!0 ����8 �4�5�4M � �0��M!��� ��!��0����8 ��170� ��1�FH0!��
� ��!1!�� 1�2!#�������7 1�J!0 2�0F ���1!�!��! ���6!2��4 �2��0�6��
�� �����!��H � ���$!0�1�3 �����2�141� �� ��� ������1!��4� 9����:
������4� �!0����


 �#����8 ����# ��2�!0�7 �#!�� �2!�#F�48 5� � ����1!0��1�
(M, p, ρ)∞=(2.5, 1, 1)3 52! M

/ $��#� 
���3
κ=1.4 u�1� ����-�.v� 
�!���

� ��� � �1!!0�7 2�� �#���3 �5�# ���#��� ��J2�5� ���!� 5o � ��0���:
���M!!�7 0!$!��! �1!!0 �#!2�HG�H �0���0���� ��! �����!2��!��4! �
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�!�M���1 �#��F!� �2���4! ��#�4 �!�!�!��H0�73 �0��J�H0�7 �0 �0!���
����#�3 ��70F �!�!�!��H0�7 � 0�2�3 2!#7 �I#��0F 0!$!��7 �� �!���#F��
��2�I#��0!8 � ���0�7��41� ����1!0��1� ��0���3 ��0��4! 1�5�0 I40F
0�$�� �4$��#!�4�

�� �!���8 �0�2�� ���$!0 ���G!�0�#7!0�7 �� ��� ������1!���8 �!0�!3
���0��!���8 � ��1�GFH �����6�����5� I��F!���5� 1!0�2� wL;xu����!�:
��3 �����$F7�3 ,<..v3 2� �4��2� �!M!��7 �� �0�6�������!  ��$!��!� ��
�0���8 �0�2�� ��2�#H$�!0�7 ���6!2��� �2��0�6��� 	2���0�!��41 ��2:
I���!141 � ���6!��! ���$!0� ����1!0��1 7�#7!0�7 ��E99�6�!�0 �2��:
0�6�� ca

� �#7 0�5� $0�I4 ��#�$�0F �����1!���! �5�G!��! #���8 �!0��
� �2���41 ��#��1 �� ��!8 �I#��0�3 ca

��2I���!0�7  ����7G�1 #��!8��
�0 x

� �#7 ��#�$!��7 1����1�#F��8 0�$���0� ���$!0�� �!�I��2�1� ���:
G!�0��0F �0 �!���#F��� ��0!� 2� �!���#F��� 04�7$ �0!��6�8 �� �!0�!
�  �����1��0� �0 !! �� 1!���3 �IU!2��!��4� � �!M!��!1 5� �2���1�$!:
���8  �2�$�� �� ��J2�1 ��!1!���1 M�5! �����2�0�7 �2�� �0!��6�7 ��
�!0�! �3 �#!2���0!#F��3 ���$!0 ����1!0��� 0!$!��7 �� ����1 ��!1!���1
�#�! �����2�0�7 2��J24 �� ��!1 7$!8��1� 
�!17 ���25����� #���8 �!0:
�� � �2���41 ��#��1 ���0��#7!0 ���72�� � I�#!! ��!1!�� ���$!0� �!���8
�0�2��� �#7 �2��0�6�� � #�� �� 5����6! ����#F �!0�7 1!0�2 ��#����8
1���1� �6���

���$!0 0!$!��7 � ����#! �����2�0�7 �� $!04�!� ���#!2���0!#F�� � :
1!#F$!��4� �!0��� � $��#�1 � #�� 65×173 129×333 257×65 � 513×129

�

 ��$!�0�! 1���0����8 9���6�� ����#F �!0�7 ρ

� �� ����-�. ����!2!�4
- �2��0���4! �!0��� )2!�F �!���7 �0�2�7 �4��2� �� �0�6�������! �!M!:
��! ��� t=15  ���1�!0 ,O-< M�5�� �� ��!1!��� ��E99�6�!�0 �2��0�6��
 �2�!0�7 ����41

ca=0.2 − 0.15(15 − x)/15.

%�2�#H$!��! ���6!2��4 �2��0�6�� 2�!0 2��0�0�$�� ��#F��! �5�G!��!
� #�� �!0�� �J! $!�! ;** M�5�� �� t � �4�5�4M �� 0�$���0� � ; �� �
u�1� 9��51!�0 �!0�� �� ����-�<�3 52! 2��17 �!�!�!��HG�1��7 2��5���#F:
�41� ��7141� #���71� ��� ��4 ��#�J!��7 �2���4� ��#� 2#7 0�$��5�
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���� -�.� �2��0����7 �!0�� 65×17 u�v3 129×33 uIv � 257×65 u�v � #���
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u�v uIv
���� -�<� P��51!�04 �!0�� 257×65 $!�! ;** M�5�� u�v3 ;;** M�5�� uIv�

�!M!��7v� �� � 2��5�8 �0����4 �� ����-�<� ��2��3 $0� #���� �!0�� !G!
�!2��0�0�$�� �5��0�#��F � �� �4��1 � ���!�0���07� �!�!�!$!��8 �2��:
�4� ��#�� %����2�0�7 ���G!�0��0F !G! ;*** M�5�� �� t3 $0� 2�!0 2�:
��#��0!#F�48 �4�5�4M �� 0�$���0� � ;�+ �� � u�1� 9��51!�0 �!0�� ��
����-�<Iv� %���!2!��4! �� ����-�< 9��51!�04 �2��0����8 �!0�� ����:
 4��H03 $0� ��� � � �2��1!���1 �#�$�! �2����7 ��#�� �� 1� 4��!0�7 ��
0�� 7$!8��� 
 ���!�0���0� �� �4��� 7$!8�� �$!�F � ��!� �� ���������
����!2!���5� � �� 2!#! ;�+ ���#� � 1�J�� ��� �0F $0� �M�I��3 �I��#��:
#!���7 �� 1� 4����!1 �2���4� ��#�3 �1!�FM�!0�7 �� 1��5� �� � "#�5�:
2��7 �2��0�6�� �1�#�0�2� ��6�##76�8 � �!M!���  � �2���41� ��#��1�
�1!�FM�!0�7 � 2!�70�� �� �

)��7 0�$��! �!M!��! 1�J�� ���$�0�0F �M�I�� ||Er||L1

3 �6!����!1�H
�� �#�0���0�� )�����1��0F ||Er||L1

�0 ��#�$!�0�� 7$!!� �!0�� ��!2�0��:
#!�� � 0�I#�-�-� %���!2!��4! � 0�I#�-�- 2���4! ���� 4��H03 $0� �2��:
0�6�7 �� ��#7!0 ��!#�$�0F 0�$���0F ���$!0�� � L �� � �� ��1�8 5��I�8
�!0�! � � + �� �� ��0�#F�4�� � 2��5�8 �0����4 ��2��3 $0� �2��!��!
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���� -�;,� �2��0����7 �!0�� 101×141
� 
���0����7 9���6�7 ρ

�

��� z=0, 1
� %��0������ � 70� � w,N-xupgZr[okb3 poVo¯to3 ;***v� %!�����:

$�#F�� 5� �����0�7 � �1!!0 ����1!0�4 (p, ρ)2=(1, 1) ����H2�  � ���#H:
$!��!1 �9!�4 � 6!�0��1 � 0�$�! (0, 0, 0.4) � ��2����1 0.2

� 
��0�� �9!:
�4 (p, ρ)1=(5, 1)

� �0��M!��! 0!�#�!1���0!8
κ=1.4

� ��$�#F�48 �� �4� �
2��#!��� �4 4��!0 �I�� �����! �2����8 ��#�43 2��J�G!8�7 � �0�����
�0 6!�0�� �9!�43 0��5!�6��#F��5� �� �4�� � ��#�4 �� �!J!��73 2��:
J�G!8�7 � 6!�0�� �9!�4� �2����7 ��#�� 2��0�5�!0 �0!���3 �0��J�!0�7
�0 ���3 � ��1�2!8�0��!0 � 0��5!�6��#F�41 �� �4��1 � 0�2� � 1�1!�:
0� t=0.7 � �I#��0� 0!$!��7 �� ����H0 �!���#F�� �2���4� ��#� � ��#F:
�48 0��5!�6��#F�48 �� �4�3 ����J�HG�8 �I#��0F �� ��8 �#�0���0� �
���!�0���0� �!�����$�#F��8 �9!�4� �� 0!� ��� ���� �2����7 ��#�� �!
2��0�5#� �0!��� z=03  �2�$� 7�#7!0�7 �9!��$!��� ��11!0��$��83 ���#!
E0�5� ������7!0�7 ��!��7 ��11!0��7 � ��FH x, y=0

� ���$!0 �����2�0�7 �
��!��11!0��$��8 ���0�����! � �I#��0� (x, z)∈[0, 1.4]×[0, 1]

� �� ��� x=0
�0���0�7 ��#���! ��11!0���3 �� �0!���� ��#���! �0��J!��73 �� #����
x=1.4  �2�H0�7 �!�� 1�G!��4! ����1!0�4 ��0���� � �#���� 2��#!��7
� ��0!���#! p=0.775−1.5 � M�5�1 4p=0.0125 � 1�1!�0 t=0.73 ���$�0��:



,N.
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 �!���8 �!��� ���$!0�� � �2��0�6�!8 � ��$!�0�! 1���0����8 9���:
6�� f ����#F �!0�7 2��#!��! p

� �� ����-�,<I � -�,. ���� ��4 � �#���� p
� �2��0����7 �!0��� )2!�F ��� ��0!�����4! ���$��3 0�� � ��#�4 �J�0�7
$!0�� �I� ��$!�4 �5��0��M�1��7 #���71� �!0��� %����#F�� p �!$��:
�0��0!#F�� � 0��5!�6��#F�41 �� �4��13 �2��0����7 �!0�� �! �5�G�!0�7
� ��1� 
 �#!2�HG�� ���$!0�� � ��$!�0�! 1���0����8 9���6�� ����#F �:
!0�7 �#�0���0F ρ

� � �#���� �#�0���0� � ��0!���#!  ��$!��8 ρ=0.2−1.3
� M�5�1 4ρ=0.01253 ���$�0����8 �� ��71��5�#F��8 � �2��0����8 �!0:
���3 ����!2!�4 �� ����-�;*� � -�;*I ���0�!0�0�!���� )2!�F �� �2��0��:
��8 �!0�! 101×141 0��5!�6��#F�48 �� �4� �I� ��$!� �$!�F $!0�� u�1�
����-�;,v�

� ����!2!��4� ���1!��� ��2��3 $0� �2��0����7 �!0�� �45#72�0 ���
��I�� I#����3 5����64 ��0��4� ���!2!#7H0�7 ��0�1�0�$!��� �5�G�H:
G�1��7 ����2���0�41� #���71�� 
��0�� ��J2�5� I#��� �!0�� I#� �� �
��� ������1!���8�

ê¨$ µ�����§ ���� �� ì��� � ë�¡�����¢½ �� ����¢½
ê¨$¨³ =¾ ¢¡�� �� ¾��¢ �ª�� ¤ ��¼�¡� 6�©¡� �3-¥ì�¨

����1�0����!0�7 ���6!�� �0�6�������5� �������0���!��7 2!0���6�� ���
�� #�J!��� � ��� � ��!2!3 �1!HG!8 ���0�� 25% � ��� � 75% ���#���2�3
��� ��1��0��8 0!1�!��0��!3 �1� w,;;xui]\o\\g � 2��3 ,<.Nv3 w,*+xu�oZ:Whk�Y3
,<.<v� 
�#�� �2!0 �#!�� �������� %���1!0�4 ��#���0FH �5��!�M!5� 5�:
 � �#!�� � �!�5��!�M!5� ������ �!�!2 2!0���6�����8 ��#��8 � !2���6��
�(�	 �#!2�HG�!y

(u, p, ρ, Z) =

{

(4.162·104, 6.27·106, 1.945·10−3, 0) ��� x → −∞
(0, 8.321·105, 1.201·10−3, 1) �!�!2 ��#��8,

u-�,.v
���� �0!#F �2��I�04

κ=1.43 5� ���7 ���0�7���7 R=13 ��1�$!���7 E�!�:
5�7 qo=5.196·109 � ����#F �!0�7 ����G!���7 ���!0�$!���7 1�2!#F u-�-v �
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τo=1.717·10−10 � T:;=1.155·109 � 
 E0�1 �#�$�! M�����  ��4 �!��6�� ��:
�0��#7!0 ���1!��� 5·10−5 � ���$!0 �����2�0�7 �� �!0�! � ,** 7$!!�� %�
1!�! ���2��J!��7 ��#�4 ������ 7$!8�� 2�I��#7H0�7 � �!0�!3 � �#!��
�I���H0�7� 
 ��$�#F�48 1�1!�0 t=0 #!��7 5����6� �0�0��0 �� ����0�:
7��� L* 7$!!� �0 0�$�� x=03 ���0�!0�0��HG!8 ���� ���9�#7 ��#�4 �
1�2!#� )��3 ����#F �!1�8 � ��$�#F�4� ��#���7�� �� #!��8 5����6! �0�:
�70�7 175��! 5����$�4! ��#���73 � �� �����8  �2�H0�7  ��$!��7 �!�5�:
�!�M!5� 5� � �!�!2 ��#��8� 
� ��!� �#�$�7� � ��#���� u-�,;v  �2�!0�7
��E99�6�!�0  ����� ν=0.5

�
%!��48 ���$!0 �����2�#�7 �� �����1!���8 9�����������8 �!0�! �

M�5�1 h=5·10−6 u ��� 5��!��7  ���1�!0 ,* 7$!!�v � ��� 4t=5·10−12 �
%��9�#� 2��#!��7 � �#�0���0� � 1�1!�0 t=10−8 ����!2!�4 �� ����-�;;�
�M�I��3 �6!����!1�7 � ���1! L1

�0����0!#F�� �!M!��7 )�� � ��0!�:
��#! 0.008<x<0.0113 ����!2!�� � 0�I#�-�L�

��I#�6� -�L�
�!0�� �M�I�� 2#7 p

�M�I�� 2#7 ρ�����1!���7 3 h=5·10−6 1.22·102 3.28·10−8

�2��0����73 hmin=1.56·10−6 1.37·102 4.00·10−8

�#7 �0���5� ���$!0� �� 5��I�8 �!0�! � h=5·10−5 u�2�� 7$!8�� �  ��!
5��!��7v � 4t=5·10−11 �! �#F0�04 � 1�1!�0 t=10−7 ��!2�0��#!�4 ��
����-�;-� %�� � ���9�#! ��#�4 �0��0�0��!0 � ������0F ��#�4 ���!2!:
#7!0�7 �!�!���� %��#!2�!! �IU7��7!0�7 0!13 $0� ��� 2��0�J!��� 0!1�!:
��0��4 � 7$!8�!  ��$!��7 T:; �������2�0 ��#��! �42!#!��! ��1�$!���8
E�!�5�� � �2��5 9���0� ��#�4 ������ �� �2�� 7$!8���

��!0�8 ���$!0 �����2�#�7 � �2��0�6�!8� ��$���#�7 ���$!0 �� �����:
1!���8 �!0�! h=5·10−5 ��� �����!2!#!��� ����1!0��� ��5#���� u-�,.v�
%��#! 2��0�J!��7 ��0������M!5��7 �!J�1� ��#�$!���! �!M!��! � ��:
2�6��������7 �1 �2��0����7 �!0�� ����#F ���#��F � ��$!�0�! ��$�#F:
�4� 2���4� ��� 2�#F�!8M!1 1�2!#��������3 ���$! I4#� I4 ��#�$!:
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�� �!�����#F��7 ������0F 2!0���6�����8 ��#�4� 
 ��$!�0�! 1���0��:
��8 9���6�� I��#��F Z �  �2���#�7 ��E99�6�!�0 �2��0�6�� ca=0.7

� ��
��J2�1 M�5! �� t �����2�#��F ;* �0!��6�8 �� �!0�! � ��� 1���1� �6��
9���6����#�  �2���#�7 �0!��6����48 ����1!0� τ=0.4

� �! �#F0�04 2#7
t=10−7 ��!2�0��#!�4 �� ����-�;L � � 0�I#�-�L� 
�2��3 $0� ���� 2��#!��7
� �#�0���0� �1!H0 I�#FM�H �1�#�0�2�3 $!1 � �#�$�! 9�����������8
�!0�� �� ����-�;;3 ��#!2�0��! 0�5� $0� 1���1�#F�48 �� 1!� 7$!8�� �
���!�0���0� ���� 2��0�5�!0 hmin=1.56·10−6 3 0�!� � 3.2 �� � 1!�FM!3 $!1
M�5 �!0�� 2#7 ����-�;;� �0��3 �� 1!� 7$!8�� �  ��! 1����1�#F��5� 5��:
2�!�0� �1!�FM�!0�7 � -; �� � �� �����!��H � M�5�1 ��$�#F��8 �!0���
T�5 �� ��!1!�� �1!�FM�!0�7 ���1!��� � E0�8 J! ������6��3 $0� �#!:
2�!0 � ��#���7 ��0�8$����0� u-�,,v� 
 2!8�0��0!#F���0� E99!�0����!
�1!�FM!��! h �������2�0 ���1!��� � L+ �� 3 �����#F�� �!�!2 2!0���6�:
����8 ��#��8 u�J! $!�! ; 7$!8��v h=7.1·10−5 3 � � ���6!  ��4 5��!��7
h=2.5·10−5 � �!�1�0�7 �� #�$M!! �� �!M!��! ����3 �M�I�� 2#7 Q�2��:
0����5�R �!M!��7 �!1��5� I�#FM!3 $!1 2#7 �����1!���8 1!#��8 �!0�� �
h=5·10−6 u�1� 0�I#�-�L�v� K0� �IU7��7!0�7 �!2��0�0�$�41 $��#�1 � #��
�!0��3 �����#�J!��4� � 5#�2��8  ��! 5��!��7 ��� �2��0�6��� �!1 �!
1!�!! I#�5�2��7 �2��0�6��3 �� �!0�! � ��$�#F�� � ,* �� I�#!! 5��I�83
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��#�$!�� ��$0� 0���! �� 0�$���0� �!M!��! ��� � �� 1!#��8 9���������:
��8 �!0�!� ��0!�!��� ����#!2�0F �0���0��� ��2��J��8 �!0��3 ��0���7
�#!2�!0 ���!2!��H �!M!��7� �� �0����4 �2����8 ��#�43 52! �!M!��!
1!�7!0�7 ���$��13 �!0�� �! �� �5�G�!0�7� �� �0����4  ��4 5��!��73 52!
�!M!��! 1!�7!0�7 �#����3 M�5 �!0�� 1!�7!0�7 0��J! ���0!�!����

ê¨$¨Þ C�¥��¢½��¤�� ©����¼���� ¤¢� � ¤ ¢¾ ¢¡�� ¢¡ ����3
 ��¨ 
 wL*xu)!#F2���$3 ��1���!!63 ,<++v 5�����0�7 � 0�13 $0� �!�!:
�J�0�7 2!0���6�����7 ��#�� 1�J!0 �������0���70F�7 � �0�6�������1
�!J�1! ��� ��#����3 $0� � �2� 2��5�!0�7 ���M!�F3 �! �� ��#7HG�8 �I:
�� ��4��0F�7 ��#�! �� �!J!��7� %� J!3 ���$�#� E���!��1!�0�#F��3 �
 �0!1 � 0!��!0�$!���3 �1�3 �����1!�3 w,-+xunhdoZ{o�|3 ,<NLv3 w,NLxupoo3
zko^ghk3 ,<<*v3 I4#� ���� ���3 $0� � �!��0���1 2���� ��! ����1!0���
�!�!�J�0�7 ��#�� 1�J!0 I40F �!��0�8$���8�


 w,-Nxu`Y�|okk3 X]]~3 ,<NNv3 w,*<xu�]th\Y]t� � 2��3 ,<<,v3 w,O<xu�tYh|3
,<<Lv � 2�� I4# ����!2!� ���$!0 �2��5� 0���5� �!J�1� � ���!0�$!���8
1�2!#FH u-�;v 2#7 ������0� �!��6��� )2!�F I! �� 1!��4! ����1!0�4 ��:
0��� �� �0��M!��H �  ��$!��71 � �!�5��!�M!1 5� ! �!�!2 ��#��8 0����4y
(u, p, ρ, Z);=(0, 1, 1, 1)3 qo=503 E+=503 Ko=230.753 κ=1.23 R=13 �0!�!�F
�!�!�J�0�7 (Do/D>?)2=1.63 52! Do

/ ������0F �2����8 ��#�4 � 1�1!�0
t=0

� 
�2!#�������! �����2�#��F � �!��2��J��8 ���0!1! ����2���0 �
�!���1 �#�$�! �� 9�����������8 �!0�!3 � �� �0���1 � �42!#!��!1 �� �:
5�!��HG!8 �2����8 ��#�43 ��52� �����1!���7 �!0�� 2��J!0�7 �� �����:
�0FH �2����8 ��#�4 �� 
 �I��� �#�$�7� M�5 h=0.053 $0� ���0�!0�0��!0
�� 1!G!��H ;* 7$!!� �� ��#�M����� ���9�#7 ��#�4 L1/2

� �!M!���
)��3 ��0���! ����#F ���#��F � ��$!�0�! ��$�#F�4� 2���4�� ��$�#F��7
�!0�� ���0��0 � ,** 7$!!�� �� #!��8 5����6!  �2��� ������0F ���M�7
2#7 �!M!��7 )��3 0�!� u=u<= 3 � 175��! ��#���7 2#7 ��0�#F�4� ����1!0:
����

�#7 �!���5� ���$!0� �� ���� -�;+ ���� ���  �����1��0F 2��#!��7 ��
���! 2!0���6�����8 ��#�4 �0 ��!1!�� u��#�M��7 #���7v� 
�2��3 $0�
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���2�$!���1� ��#F��6�71�� �#7 �����!��7 ��!�0���1� �01!$!�4 1��:
��1�#F�4! � 1���1�#F�4!  ��$!��7 2��#!��7 ��� ��#F��6�7�3 � 704!
� w,*<xu�]th\Y]t� � 2��3 ,<<,v3 52! ����#F ���#��F ��!1� llj udYo�o^Y[o
dghg{]\Y� cokb]~v $!0�!�0�5� ���72�� ��������1�6�� �� x � ���$!0 ���:
��2�#�7 �� 9�����������8 �!0�! � 0���1 J! h ��� �42!#!��� �� �5�!:
��HG!8 �2����8 ��#�4� %�!2�0��#!��4! �� ����-�;+ �! �#F0�04 ���J�
� 2���41�3 ��#�$!��41� ���� �41 �$!0�1 �� ��!1�1 �� ;:5� �� L:8
���72�� ��������1�6�� �� x w,*<xu�]th\Y]t� � 2��3 ,<<,v3 w,O<xu�tYh|3
,<<Lv� �! �#F0�04 �0���5� ���$!0� � �42!#!��!1 �2����8 ��#�4 �� ���:
��1!���8 ��2��J��8 �!0�! ��!2�0��#!�4 �� ����-�;N� 
 �I#��0� �� ��:
0�8 �!��0�8$����0� �! �#F0�04 ����0�$!��� �2!�0�$�4  ��$!��713 ��:
#�$!��41 �� ��!1! llj � �42!#!��!1 �2����8 ��#�4 w,*<xu�]th\Y]t� �
2��3 ,<<,v3 �01!$!��4! �� ����-�;N ��!�0���1��
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�#��� �$!0��8 �I#��0� LIJ u�#� $��#� 7$!!�v ���!2!#7!0�7 �0�#!:
J�����!1 �����8 �����0!���0���3 ����27G!8 � �����5� � #� �!0�� u�
�#�$�! �42!#!��7 �� �4�� E0� �2����7 ��#��v3 � #!��8 �����0!���0�:
��3 ����27G!8 � #!��5� � #� �!0��� ����1 �I�� �13 ��� 1�2!#��������
�� 9�����������8 �!0�! ������ $!�! ���!2!#!��4! ��0!���#4 ��!1!��
2�I��#7H0�7 7$!8��� �#!�� 7$!8�� �I���H0�73 �����#F�� #!��7 �����0!:



,OL
���0���3 ����27G�7 � #!��5� � #� �!0��3 2��J!0�7 ������� � : � ��#F:
��6�8 ������0F �2����8 ��#�4 D �!���0�7���� %�E0�1� 2#��� �$!0��8
�I#��0� � 1�1!�0� ��!1!�� t �6!����!0�7 �� 9��1�#!

LIJ(t) = LIJ(0) − (u<= − c<=) t +

t
∫

0

D(τ)dτ , u-�,<v

52! LIJ(0)
/ ��$�#F��7 2#��� �I#��0�3 u<= � c<= / ������0� ���M�7 �  ����

� #!��8 7$!8�!� ������0F ��#�4 D � : � ��#F��6�8 � 1!�7!0�7 �!���2�:
$!��� �0����0!#F�� ��$�#F��5�  ��$!��7 Do=8.613 u� 70�5� � �!M!��7
)��v ���1!��� �0 7.9 2� 10.5

� ��0!5����7 u-�,<v $��#!��� ��� 1�2!#�:
������� ���6!���3 ��#�$�13 $0� �� ��!1!�� t=80 �� 1!� �$!0��8 �I#�:
�0� LIJ≈534L1/2

3 �#� N=10680 7$!!�� �#!2�!0 ��� �0F3 $0� ��2�0������
���0�7���5�  ��$!��7 Do

� u-�,<v 2�!0 ��$0� 0���H J! 2#��� �I#��0�3
� �� ��6!8 � �!���#F�� 7$!!�� ����1 �I�� �13 ����M�1 ���I#�J!��!1
2#7 LIJ 7�#7!0�7

LIJ(t) = LIJ(0) − (u<= − c<=) t + Dot . u-�;*v

 ��#���� ��0�8$����0� u-�,;v  �2���#�7 ��E99�6�!�0  ����� ν=0.5

�
%�� ���$!0! �� ��2��J��8 �!0�! �����2�#��F ���#! t=45 �1!�FM�0F ν
2� 0.45

�
��0!�!��� �01!0�0F3 $0� M�5 �� ��!1!�� 4t �� ��2��J��8 �!0�! ��:

G!�0�!��� I�#FM! 4t �� 9�����������8 �!0�!� �����1!�3 � 1�1!�0 t=0
� #!��8 ���8�!8 7$!8�! ��2��J��8 �!0�� � ��1!��1 i=3/23 52! 1�J��
����#F ���0F #��!8��! ���I#�J!��!

dC1 = u<= + c<= = 10.499 , d
B
2 = u<= − c<= = 1.999

� ������0� � #�� ����4 ������0� �2����8 ��#�4 w1 = w2 = Do = 8.613 ,
� u-�,,v ��#�$�!1

4t3/2 =
h

max(dC1 − w2 , −d
B
2 + w1)

= 7.55×10−3 .
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!J2� 0!13 �� 9�����������8 �!0�! � wi=0 �1!!1 4t3/2=4.76×10−3 � 

�����8 7$!8�! N+1/2 ��� �  � �2����8 ��#��8 � ���#!�����2�41�  ��:
$!��71� � � #�� ��2��J��8 �!0�� dCN=10.626 � d

B
N+1=4.782 ��#�$�!1

4tN+1/2=1.31×10−2 � �� 9�����������8 �!0�! � dCN=10.635 � d
B
N+1=4.76

�1!!1 M�54tN+1/2=4.70×10−3 � ����1 �I�� �13 �0��M!��! M�5�� ���0!0
�0 1.59 � #!��8 7$!8�! 2� 2.78 � �����8� K0� �IU7��7!0�7 0!13 $0� #!��7
�����0!���0���3 ����27G�7 � ���8�!5� #!��5� � #� �!0��3 2��J!0�7 �
0�1 J! ������#!���3 $0� � ��1� �!0��� ���!$��3 ��5#���� u-�,;v �!�I��:
2�1� I��0F 1���1�#F�48 4ti+1/2

� �1��J�0F !5� �� ν
� � 1�1!�0� t=80

���$!0 ��#H$�# 35597 M�5�� �� t �� 9�����������8 �!0�! � 23488 M�5��
�� ��2��J��8 �!0�!�

ê¨$¨ê C�¥��¢½��¤�� ©����¼���� ¤¢� � ¤ ©�¢��¢¡ �� ���¨
�!��!0�$!���! ���#!2�����! �0���0��4 ��#�4 � �!��0�8$���1 �!J�:
1! �����2�#��F3 �����1!�3 � w,-Oxu`Y�|okk3 �g�Y[3 ,<O<v� ���0��� 2��:
1!���5� 0!$!��7 2���#F�� �#�J��73 ��E0�1� �!�I��2�1� ���G!�0�:
#70F 0�$��! $��#!���! 1�2!#�������!� �#!2�HG�8 ���1!�3 � 7048 � 
w,,*xu�]th\Y]t�3 jg�~g3 ,<<;v3 ��7 �� � 1�2!#�������!1 0!$!��7 �!�!�J�:
0�8 ��#�4 � �#����1 ����#!3 ��52� �� ����HG�! ���!�!$�4! �2���4!
��#�4 9��1���H0 0�� �� 4��!1�H 7$!��0�H �0���0����

�!0���6�����7 ��#�� �� �0!�!�FH �!�!�J�0�7 (Do/D>?)2=1.2 ���:
����0���7!0�7 ������ � �#����1 ����#!3 �4��0� ��0���5� ����� 10L1/2

�
�#7 ��1�$!���8 �!��6�� ����#F �!0�7 ���!0�$!���7 1�2!#F u-�;v� "! :
�� 1!��4! ����1!0�4 ����4 qo=503 E+=103 Ko=3.1243 �0��M!��! 0!�:
#�!1���0!8

κ=1.2
� ������ �0 ��#�4 �����0�7 �!����!�5������M�8 5� �

����1!0��1� (u, v, p, ρ, Z);=(0, 0, 1, 1, 1)
� 
 ��$!�0�! ��$�#F��5� ��#���7

����#F �!0�7 �!M!��! )��� �� �!���!8 � ��J�!8 �0!��! ����#� �0��70�7
�!���2�$!���! ��#���7� �� #!��8 5����6!  �2�!0�7 ������0F ���M�7 u<=
� 175��! ��#���7 2#7 ��0�#F�4� ����1!0���� ���2��0��7 �!0�� �1!!0
M�5� hx=hy=h=0.053 0�!� ;* 7$!!�°L1/2

� %!�����$�#F�� �#����8 9���0
��#�4 )�� �� 1�G�!0�7 � 0!$!��! �!��4� 103 M�5�� �� ��!1!�� ��!2!:
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��!1 � 1�#�H �I#��0F uM�����8 + � �4��0�8 ,** 7$!!� ��� �  � �2����8
��#��8v 5� � � ����0��0�8 ������0� K ′

o=0.8Ko
� 
� ��!� ���$!0�� ��E99�:

6�!�0  ����� ν=0.5
� 
�2!#�������! �����2�#��F � �!��2��J��8 ���0!1!

����2���0�
�#!2�HG�8 ������ ���0��0 � 0�13 ��� 2�#!�� �0 9���0� ��#�4 �#!:

2�!0 �0���0F #!��H 5����6�3 0�!� ���M!�F� 
�2!#�������! �����2�0�7 2�
t'633 �3 �#!2���0!#F��3 � ��0�8$���1 �!J�1! 1�2!#� )�� � Do=7.4593
u<==4.7043 c<==4.0 � � �!�����$�#F��8 2#���8 �$!0��8 �I#��0� 5L1/2

1�J:
�� �6!��0F � u-�;*v3 $0� � ���6� ���$!0� !! 2#��� ���0���0 ���1!�:
�� 424L1/2

3 �#� .L.* 7$!!�� �� 0���8 �!0�! ��!17 1�2!#�������7 I�2!0
�#�M��1 I�#FM�1� "4#� ����!2!�� �!���#F�� ��!2����0!#F�4� ���$!:
0�� �� 5��I�8 �!0�! � M�5�1 h=0.2 2� t=403 ��52� �0���0��� 0!$!��7
7�#7!0�7 2��0�0�$�� �� ��0�8� 
 �!���1 �#�$�!3 ��5#���� u-�;*v3 � ���6!
2#��� �$!0��8 �I#��0� LIJ 2��0�5�!0 275L1/2

u,-O+ 7$!!�v� 
� �0���1 �#�:
$�! LIJ �5����$���!0�7 �!#�$���8 60L1/2

u300 7$!!�v � � 0�!0F!1 40L1/2u200 7$!!�v� %� 1!�! ���2��J!��7 9���0� ��#�4 ������ 2�I��#7#�7 �72
7$!!�3 � �#!�� ���#! 2��0�J!��7 1����1�#F��  �2����8 LIJ �I���#�7�
�� ��6� 1����1�#F��5� ������5� 2��#!��7 2#7 �!���5� � �0���5� ���:
$!0�� � 1�1!�0 t=40 ���0���#� �! I�#!! 0.01%3 � 2#7 �!���5� � 0�!0F!5� :
�! I�#!! 1%

� %�E0�1� 2#7 ��2��I�4� ���$!0�� I4#� �!M!�� �0���0F  �2:
�HH 5����6� �� ����0�7��� 40L1/2

�0 9���0� ��#�4 �3 0���1 �I�� �13
�������! 1�2!#�������! �����2�#��F �� �!0�! 800×200 7$!!��

%!�����$�#F�� ���$!0 ���G!�0�#7#�7 �� ���2��0��8 �!0�! � ��!17
�$!0� 2� t=60 �� liloZkYtc ;�* ((6 ���0���#� -N $����� �� ����-�;O
���� ��4 � �#���� 2��#!��7 p 2#7 ��!1!�� �0 t=60.060 2� 62.735

� �I:
G�7 �0���0��� �!M!��7 ���2�� � �! �#F0�0�1� � w,,*xu�]th\Y]t�3 jg�~g3
,<<;v3 w,O<xu�tYh|3 ,<<Lv � �1!!0 �!���2�$!���8 �����0!�3 ��52� ���$�#�
� 6!�0�!  ���J2�!0�7 Q7$!8��R I#�5�2��7 ���!�!$�41 �2���41 ��#��13
�0��27G�1 �0 5�#����8 ��#�4� )�0!1 6!�0��#F��7 7$!8�� ��J���!0�7 �
��$! �!0 �  ���J2�H0�7 7$!8�� � �!���!8 � ��J�!8 �0!���� � 1!�!��!
�0���0��4 0!$!��7  � �!���2 ���� ��� �� ����-�;O w<-xuW�ghghoZ]|3 agZr3
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%�� ���0��!��� ��2��J��8 �!0�� �� ����1 �#�! tn+1 ��$�#F��! ���:
I#�J!��!  �2�!0�7 � ����#F �����!1 ������0� Do

xn+1
i,j = xn

i,j + Do4t , yn+1
i,j = yn

i,j .

���$!0 �� ��2��J��8 �!0�! �����2�#�7 2��17 �����I�1�� 
 �!���1
9���0 �2����8 ��#�4 �42!#7#�7� ����#��0!#F�� 1�J!0 ��2�#H$�0F:
�7 �2��0�6�7 � #�� � ���I!����071 �!M!��7� �� ����-�;. ���� ��4 N*
�!�!2��� �72�� 7$!!� �!0�� � 1�1!�0 t=60.44 ��52� ���$!0 �����2�0:
�7 � �42!#!��!1 9���0� ��#�4 � �2��0�6�!8� 
 ��$!�0�! 1���0����8
9���6�� f ����#F �!0�7 �#�0���0F u�1� ����-�;.�v �#� 2��#!��! u�1�
����-�;.Iv� 
�J�� ���G!�0�#70F 0�#F�� �5�G!��! #���8 �!0�� � �42!:
#7!1�1� 9���0� ��#�4 u�1� ����-�;<v� �#7 E0�5� ����#F �!0�7 9���6�:
���# u,�Nv3 ��!2#�J!��48 � wLNxu����!���3 ;***v u�1� �� 2!# ,�;v� �5�:
G!��! #���8 �!0�� X(ξ, η), Y (ξ, η) � ����1!0��$!���8 �I#��0� � 9���0�
��#�4  �2���#��F �#!2�HG�1 �I�� �1� �0��M!��! M����4 � �4��0! �
��71��5�#F��8 7$!8�! 1!�7#��F �0 ε 2� 1 ���2��0�$�� ��� 2��J!��� �0
�����8 5����64 �5#�IF �I#��0�  � N* �#�!� 7$!!�� %���1!0� ε  �2���#�7
����41 0.1 2#7 ����-�;<� � 0.05 2#7 ����-�;<��


� �0���1 �����I! ����#F ���#��F 5#�I�#F��7 �2��0�6�7 I! �42!#!:
��7 9���0� ��#�4 � 2��#!��!1 � ��$!�0�! f u�1� ����-�-*v� %�� �2��0�:
6�� �� ��J2�1 M�5! �� t �����2�#��F ; �0!��6�� �� �!0�!� �2��0�6�7
�1!!0 6!#FH �� �!M�0F 5#���4! u���I�#!! ��0!�����4!v ���I!����0�
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1�J�� �����2�0F �!�F ���$!0 � 0���1 1�#41 4t

� �1!H0�7 2�� �4��2�y
,v ��$���0F �5�G�0F �!0��3 �0��0�7 � ���2��0��8 � ��J�48 1�1!�0 t�
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�2���41 ��#��13 �0��27G�1 �0 5�#����5� ���$��� � �#���� 2��#!��7
� 1�1!�0 t=60.44 ��� ���$!0! �� #�$�41� �����I�1� ��!2�0��#!�4 ��
����-�-;�

�� 9��51!�0! �!0�� u�1� ����-�-*Iv3 1�J�� ��I#H2�0F ��#F��! ��!#�:
$!��! �� 1!��� 7$!!� � �I#��0� 1!J2� ��0!������8 � �#�I�8 ���!�!$�4:
1� �2���41� ��#��1�� �� �!��48 � 5#723 ��J!0�73 $0� ��������1�6�7
 2!�F ���2M�!0�7� �2���� �#!2�!0 �01!0�0F3 $0� �5�G!��! #���8 �!0��
� �2���41 ��#��1 �����2�0 � 0�1�3 $0� ���� ��8 ���$!0 �� ��!1! ���:
2�0�7 � �!�!�$!0� ����1!0��� � ����#F �����!1 ���0��M!��8 (H5����
�� ���$�!� K0� �#!2�!0 � 0�5�3 $0� ���0��M!��7 (H5���� �4��270�7 � 
��0!5��#F�4�  ������ ������!��73  �������4� 2#7 ���0���3 ����J�H:
G!5� ���$��3 M����� ��0���5� �0�!1�0�7 � ��#H� ����8 ���0�� �2�#F
�� �4�� 1�J�� 14�#!��� ����!�0� $!�! 6!�0�4 � ��� 7$!!�3 ���14:
��HG�� � �� �4�� �#!�� � ������� K���!��1!�0�#F��! ��20�!�J2!��!
E0�1� 1�J�� ���2!0F3 ��������7 ���0��4 2��#!��7 �� ����-�-;� %�� ���:
$!0! �� ���2��0��8 �!0�! u�1� ����-�-;�v3  � 5�#���41 ���$��1 ���0��
7$!8�� ��I#H2�H0�7 ��6�##76��3 �!�1�0�7 �� ����#F �����! 1���0���:
 �0���� %�� �42!#!��� 9���0� ��#�43 ��52� ���1!�7!0�7 ��!6��#F��7
���6!2��� �!�!�$!0� �!#�$�� $!�! ���$�� u�1� ����-�-;I � -�-;�v3 ��:
6�##76�� �����2�H0� ��6�##76�� ��$! �H0 � ��� ����#F ������ 5#�:
I�#F��8 �2��0�6�� u�1� ����-�-;5v3 52! ���$!0 �!2!0�7 ���� �41 �$!0�1�
����1 �I�� �13 �� �!J!��! �!0�� 1!J2� �#�I41 � ��#F�41 ���$��1�
�! 2�#J�� ����!�0� � ����J!��H 0�$���0� �!M!��7�

� �#���� 2��#!��7 � 1�1!�0 t=61.59 ���� ��4 �� ����-�--� ��� �
�J�2�#��F3 �� �����!��H � 1�2!#�������!1 �� ���2��0��8 �!0�! u�1�
����-�--�v3 ����#F �����! 5#�I�#F��8 �2��0�6�� u�1� ����-�--Iv3 2�!0
#�$M!! �� �!M!��! � ���!�0���0�  ���J2�HG���7 �#�I4� ���!�!$�4�
���$����
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�!�I��2�1��0F ��0!���#76�� 9� �$!���� �!#�$�� � �2��8 �� ���0��8
5!���E2��#F��8 �!0�� �� 2��5�H ��0�!$�!0�73 �����1!�3 ��� �!M!���
 �2�$ 5�2��2���1���� %�� 1�2!#�������� �� �!��0��4� ��2��J�4�
�!0��� u�����1!�3 � #�5���J!�4� ����2���0��v �� ��!1!�!1 �!��0��4!
7$!8�� �!0�� 1�5�0 �4��J2�0F�7� �#7 0�5� $0�I4 � I!J�0F ��0������
���$!0��3 �#!2�!0 �!�!��0!���#�����0F 9� �$!���! �!#�$��4 �� �0���8
Q�#���8R �!0�� �� ����H Q����M�HR� 
 �!��0��4� �#�$�7� �!�I��2�1�
���G!�0�#70F ����!���0����H ��0!���#76�H3 ��52� ��#�$!�0�� �!#�$�:
�4 � �2��1 � 0�1 J! #���#F��1 �IU!1! 2�#J�� ��0���0F�7 �!� 1!��41
���#! ��0!���#76��� 
 ���0�7G!8 5#��! ����4��!0�7 1!0�2 ����!���:
0����8 ��0!���#76�� 9� �$!���� �!#�$�� � �2��8 �!5�#7���8 5!���E2:
��#F��8 �!0�� �� 2��5�H w-3L3,*3,-3<L3<.xu� ��!���3 ;**;3;**-3;**N3;**.3
W�ghoZ]|3 ;**+v� ��0!���#76�7 ���2�0�7 � ���!2!#!��H �IU!1� 9�5��4
�!�!�!$!��7 7$!!� �0���8 � ����8 �!0��� (!���E2��#F��7 7$!8�� � #��!8:
$�041� 5���71�  �1!�7!0�7 2��17 ,;:5�������1� � �#����1� 0�!�5�#F:
�41� 5���71�3 $0� �����2�0 �  �2�$! ���0��!��7 9�5��4 �!�!�!$!��7
2��� ,;:5��������� �#7 0!��G!8 7$!8�� ����8 �!0�� ��!2#�J!� ��0�:
1�#F�48 �#5���01 �!�!I��� 7$!!� �0���8 �!0��3 �1!HG�� � �!�!�!$!���
� �!8 �!���0�! 1��J!�0��� %����2�0�7 �6!��� �M�I�� ��0!���#76���
����1�0�!�4 ���1!�4 ��0!���#76���

î¨³ �¢��� ¢¤�� ��¾���
%��0F � �I#��0� Θ⊂R

3  �2��4 2�! �!5�#7��4! �!�4��J2!��4! �!0��3
���0�7G�! � 5!���E2��#F�4� 7$!!�� �� �2��8 �!0�!3 �� 4��!1�8 �0���8
� �I� ��$�!1�8 ωo

3  �2��4  ��$!��7 ����!���0���4� 5� �2���1�$!����
�!#�$��� ���5�H �!0��3 �� ��0���H �!�I��2�1� ���G!�0��0F ��0!���#7:
6�H �!#�$��3 �� ��!1 ����8 � �I� ��$�1 ωn

�
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 5#��! , �01!$�#��F3 $0� #��!8$�0�7 7$!8��  �2�!0�7 � ��1�GFH

0��#��!8��5� �0�I��J!��7 !2���$��5� ��I� � ����1!0��$!���5� ���:
�0����0�� � 9� �$!���! u�1� ����L�,v3 ��0���! 1�J!0 I40F ��!2�0��#!��
� ��2!

r = (1 − ζ){ξ[(1 − η)r2 + ηr3] + (1 − ξ)[ηr4 + (1 − η)r1]} +

+ζ{ξ[(1 − η)r6 + ηr7] + (1 − ξ)[ηr8 + (1 − η)r5]}, uL�,v
52! ����2���04 ���F1� �!�M�� 7$!8�� ri=(xi, yi, zi), i=1, . . . , 83 �$�0�:
H0�7  �2���41�3 � �!#�$��4 ξ, η, ζ � ����1!0��$!���1 ����0����0�!

R
3

���!2!#7H0 !2���$�48 ��I 0≤ξ, η, ζ≤1
� "����4! 5���� 5!���E2��#F��8

7$!8�� � �IG!1 �#�$�! 7�#7H0�7 #��!8$�041� ���!�����071� �0���5�
���72��� �����1!�3 5���F 1234 uζ=0v ���!2!#!�� ���0��M!��!1

r = ξ[(1 − η)r2 + ηr3] + (1 − ξ)[ηr4 + (1 − η)r1].
uL�;v

ζ

ξ
η

1

2 3

4

8

76
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6

8

7z

x
y

���� L�,� 	2���$�48 ��I � ����0����0�� ξ, η, ζ �0�I��J�!0�7 ����!2:
�0��1 uL�,v � #��!8$�0�H 7$!8�� � ����0����0�! x, y, z

�

��0!���#76�7 7�#7!0�7 ����!���0����83 0�!� �IG!! ��#�$!�0�� ���:
�!���0����8 �!#�$��4 u�����1!�3 1���43 ��1���!�0 �1��#F��3 ��#��8
E�!�5�� � 0�2�v � ����1�0����!1�8 �I#��0� 2�#J�� ��0���0F�7 #���#F��
�!� 1!��41 ���#! ��0!���#76��� � ���1!��3 2#7 �#�0���0� ��0!���#7:
6�7  �2�!0�7 9��1�#�8

mn =

∫

Vn

ρo(r)dV , uL�-v

52! ρo(r)
/ � �!�0��! �����!2!#!��! �#�0���0� �� �!0�! ωo

3 Vn
/ �IU!1

7$!8�� ����8 �!0��3 mn
/ 1���� �!G!�0��3  ��#H$!���7 � E0�8 7$!8�!�
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%��#! E0�5� ��!2�!!  ��$!��! �#�0���0� � ����8 7$!8�! �4$��#7!0�7 ��
9��1�#!

ρn =
mn

Vn
.

��#!! I�2!1 5�����0F �I ��0!���#76�� �#�0���0� ρ3 ��2�� �1!��7
��2 �!8 #HI�H ����!���0����H �!#�$���� %����#F�� � ��J2�8 7$!8�!
�!0�� ωo

 �2�!0�7 ���! �����!2!#!��! ρo(r)
3 2#7 �4$��#!��7 ��0!5��#�

uL�-v �!�I��2�1� ��80� ��! �I#��0� �!�!�!$!��7 ����1�0����!1�8 ����8
7$!8�� �� �0��41� 7$!8��1� � �� E0�1 �I#��071 ����!�0� ��0!5������:
��! 2#7 ���!2!#!��7 1���4 7$!8�� mn

� 	�#� �����!2!#!��! �#�0���0�
�� 7$!8��1  �2��� � �#���! ����$��:���0�7��4� 9���6�83 0� �!�I��:
2�1� ����0� ��80� �IU!14 ��!� �I#��0!8 �!�!�!$!��7 ����1�0����!1�8
7$!8�� �!0�� ωn

� 7$!8��1� �!0�� ωo
�

���!2!#!��! �I#��0� �!�!�!$!��7 2��� 5!���E2��#F�4� 7$!!� 7�#7!0:
�7 �#�J��8  �2�$!83 �����#F�� �����2�0�7 �42!#70F #���� �!�!�!$!��7
#��!8$�04� ���!�����0!8 �

R
3 3 �!M�7 2�99!�!�6��#F�4! �����!��73

�1� w,;Nxu�t|]^Y�b3 lg~Yg\3 ,<<,v� K0� �����!��7 �1!H0 ���I!����0� �
0!� �I#��07� 52!3 �����1!�3 5���� 7$!!� �!�!�!��H0�7 � ��$0� ����#:
#!#F�43 � 1!�0�� �����������!��7 5���!8 � 0�2� 
1!�0� E0�5� �!M�!0�7
 �2�$� ������ �!�!�!$!��7 ,;:5����4� 7$!!� � �#����1� 0�!�5�#F�41�
5���71�3 $0� ��G!�0�!��� �I#!5$�!0  �2�$� ��0!���#76���

%����#F�� � ���0�7G!8 ��I�0! ����1�0����!0�7 ��0!���#76�7 �!�:
��5� ���72�� 0�$���0�3 2#7 $!5� �#!2�!0 �4$��#70F �IU!14 �I#��0!8
�!�!�!$!��7 7$!!�3 �2�I�!! �!�!80� �0 ��0!5��������7 �� �IU!1� � ��:
0!5��������H �� ���!�����0�3 0��� ��0!5��������! �� �#����1 �I#��071
���!�����0� 7�#7!0�7 I�#!! ����0�8  �2�$!8� � �!�0����5� ���#� � � :
�!�0��3 $0� �IU!1 9�5��4 1�J!0 I40F �4��J!� $!�! ���!�����0�48
��0!5��#

V =
1

3

∫ ∫

S

r·dS =
1

3

∫ ∫

S

r·n dS, uL�Lv
52! V

/ �IU!13 �5����$!��48  �1���0�8 ���!�����0FH S 3n / !2���$�48
�!�0�� ��!M�!8 ���1�#� � ���!�����0� S 3 dS

/ E#!1!�0 ���!�����0��
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u�v uIv
���� L�;� %��� ,;:5����4� 7$!!�3 ��#���11� �IU!1� ��0��4� ����� �IU:
!1� 5!���E2��#F��8 7$!8�� � 0!1� J! �!�M���1��


1!�0� #��!8$�0�8 7$!8�� ����1�0��1 2�� ,;:5������� � 0!1� J!
�!�M���1�3 � �I��J!��4! �� ����L�;3 ��0��4! �1!H0 �#����! 0�!�5�#F:
�4! 5����� ����J!1 �#!2�HG!! �0�!�J2!��!3 �9��1#!���! � ��2! 0!�:
�!14 w,*3,-xu� ��!���3 ;**N3;**.v
�́¢��¡� î¨³¨³ ãÛXÀÒ ÐÑÄÀÎ×ÃÁËÎ É×ÀÎÂÑ ÊÃÇÀÄ ÈÊÀÍÄÀÒÚ ËÁ ËÛXÀÒËÇ

ÍÇÚÖ å(ØàÊÃÄÄÆÖ É×ÀÀÂÝ
£¢����������¤¢¨ ���!2!#�1 ��#�2 � �IU!1 ,;:5�����8 7$!8�� �0 0�!:
�5�#F�4� 5���!8 124 � 234 u�1� ����L�;�v� ��!�5�#F��� 124  �2�!0�7 #�:
�!8�41 �0�I��J!��!1 ����1!0��$!���5� 0�!�5�#F���� 42={(ξ, η) : 0 ≤
ξ, η, ξ + η ≤ 1}

r = (r2 − r1)ξ + (r4 − r1)η + r1,

� E#!1!�0 ���!�����0� dS 0�!�5�#F��8 5���� 124 ��0F

dS = r14×r12 dηdξ = (r4 − r1)×(r2 − r1)dηdξ.

�!0��2�� ����!��0F3 $0� ���#7���! ���� �!2!��! �!�0���� r � dS �����

r · dS = (r2r1r4)dηdξ,

52! (r2r1r4)=r2·(r1×r4)
�I� ��$�!0 �1!M����! ���� �!2!��! �!�0�����

�#!2���0!#F��3 ��#�2 � �IU!1 7$!8�� �0 0�!�5�#F��8 5���� 124 ���!�

V124 =
1

3

∫ ∫

S124

r · dS =
1

3
(r2r1r4)

1
∫

0

1−ξ
∫

0

dηdξ =
1

6
(r2r1r4).

uL�+v
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P��1�#� uL�+v �4��J�!0 �IU!1 0!0��E2�� � $!0�!�0�8 �!�M���83 ��1!:
G!���8 � ��$�#� ����2���0� ���0�!0�0�!��� 2#7 0�!�5�#F��8 5���� 234
��2��� �!�0�� r � E#!1!�0 ���!�����0� dS  �2�H0�7 ���0��M!��71�

r = (r2 − r3)ξ + (r4 − r3)η + r3,

dS = r32×r34 dηdξ = (r2 − r3)×(r4 − r3)dηdξ,

� ��#�2 � �IU!1 7$!8�� �0 0�!�5�#F��8 5���� 234 ���!�

V234 =
1

3

∫∫

S234

r · dS =
1

3
(r4r3r2)

1
∫

0

1−ξ
∫

0

dηdξ =
1

6
(r4r3r2).

��11���48 ��#�2 � �IU!1 7$!8�� �0 0�!�5�#F�4� 5���!8 124 � 234 !�0F

V ′
1234 =

1

6
(r2r1r4) +

1

6
(r4r3r2).

����1 J! �I�� �1 #!5�� ����!��0F3 $0� !�#� $��0F 5����64 ,;:
5������� ���0��#!�� � 0�!�5�#F�4� 5���!8 123 � 134 u�1� ����L�;Iv3
0� ��#�2 � �IU!1 7$!8�� �0 E0�8 ���!�����0� ���!�

V ′′
1234 =

1

6
(r3r2r1) +

1

6
(r1r4r3).


 7� ��!2�!! �0 V ′
1234

� V ′′
1234

3 ��#�$�1 9��1�#�3 �4��J�HG�H ��#�2
� �IU!1 #��!8$�0�8 7$!8�� ��� ��0!5��������� �� #��!8$�0�8 5����
12343 �1� w,;+xu�t|]^Y�b3 ,<..v

V1234 =
1

2
(V ′

1234 + V ′′
1234) =

1

12
[(r1r4r3) + (r2r1r4) + (r3r2r1) + (r4r3r2)].uL�Nv

����1 J! �I�� �1 ����1�0����!0�7  �1!�� ��J2�8 � ��0��M���7 + 5��:
�!8 #��!8$�0�8 7$!8�� �� 2�! ���4 0�!�5�#F�4� 5���!8� �#7 ��� �4:
��#�7H0�7 ���0��M!��7 ���#�5�$�4! uL�Nv�

�

���!! � wN<xu�M�����3 ;**,v � ��1�GFH �4$��#!��7 0��8��5� ��0!:
5��#� I4#� ���� ���3 $0� �IU!1 #��!8$�0�8 7$!8�� ���!� ��#����! ��1:
14 �IU!1�� ,* 0!0��E2���3 9��1���HG�� 2�� ,;:5������� � �I��J!�:
�4� �� ����L�;� K0� �������#F�� �0�!�J2!��H 0!��!14L�,�,�

� 2��� �0!#F�0�� 0!��!14L�,�, �40!��!0 �#!2�HG!! �0�!�J2!��!�
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�����1!�3 ��J248 � ,;:5��������3 ��!2�0��#!��4� �� ����L�-3 ��:
�0��0 � ���4 0!0��E2��� � ���4 ����1�2 � $!04�!��5�#F�41 ������:
��!1� �0#�$�! �0 ����L�; ���0��0 � 0�13 $0� ��� ���0��!��� ��J���
0�!�5�#F�4� 5���!8 �����270�7 2��5�! 2��5���#��

1

2 3

4

5

6

7

8

1

2 3

4

5

6

7

8

u�v uIv
���� L�-� ���5�7 ���� ,;:5����4� 7$!!�3 ��#���11� �IU!1� ��0��4� ���:
�� �IU!1� 5!���E2��#F��8 7$!8�� � 0!1� J! �!�M���1��

�#7 ���G!�0�#!��7 ��0!���#76�� �#�0���0� � �2��8 5!���E2��#F��8
�!0�� �� 2��5�H ����1�0����!0�7 �#!2�HG�8 ��2��2 w,*3 ,-3<.xu� ��!:
���3 ;**N/;**.v� %�� �4$��#!��� ��0!5��#� uL�-v ��J2�8 #��!8$�0�8
7$!8�! �0���0�7 � ���0�!0�0��! 2�! ,;:5����4! 7$!8��3 � �I��J!��4!
�� ����L�;� ��0!5��# uL�-v  �1!�7!0�7 ��!2��1 �0  ��$!��8 $!04�!� ��:
0!5��#��� 
 �!���1 ��0!5��������! ���G!�0�#7!0�7 �� �I#��0� �!�!�!:
$!��7 �!���8 ,;:5�����8 7$!8�� �!0�� ωn

� �!���8 ,;:5�����8 7$!8��8
�!0�� ωo

3 � �� �0���1 / �� �0���8 ,;:5�����8 7$!8��8 �!0�� ωo
� 
 0�!:

0F!1 � $!0�!�0�1 ��0!5��������! ���G!�0�#7!0�7 2#7 �0���8 ,;:5�����8
7$!8�� �!0�� ωn

�� �I#��0� !! �!�!�!$!��7 � �!���8 � �0���8 ,;:5�����8
7$!8��8 �!0�� ωo

� ����1 �I�� �13 ��� ��0!5��������� ���0��!��! �I#�:
�0� �!�!�!$!��7 2��� #��!8$�04� 7$!!�  �1!�7!0�7 �� ���0��!��! $!04:
�!� �I#��0!8 �!�!�!$!��7 �� #�$�4� ��� ,;:5����4� 7$!!� � 0�!�5�#F:
�41� 5���71��

��!I�����73 ��!2U7�#7!14! � �!0��1 ωo
� ωn

3 ���0�70 � �!�4��J2!�:
���0� ���0�!0�0��HG�� �1 �!0��3 ���0�7G�� � ,;:5����4� 7$!!� ,:5�
�#� �0���5� 0����
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�!2!1 �#!2�HG�! �I� ��$!��7� Ωn

/ 0!��G�7 ,;:5�����7 7$!8�� ��:
��8 �!0�� u����7 7$!8��v� Ωijk

n

/ 7$!8��3 �!�M��4 ��0���8 �1!H0 5#�:
I�#F�4! ��1!�� i+p, j+s, k+t3 52! 1≤i≤I 3 1≤j≤J 3 1≤k≤K 3 p, s, t=0, 13
� I=N1−13 J=N2−13 K=N3−1

/ $��#� 7$!!� �� 0�!1 ������#!��71�
Ωo

/ 0!��G�7 ,;:5�����7 7$!8�� �0���8 �!0�� u�0���7 7$!8��v� Ωon
/

9�5��� �!�!�!$!��7 7$!!� Ωo
� Ωn

� Lon
/ #���7 �!�!�!$!��7 5����$:

�4� ���!�����0!8 7$!!� Ωo
� Ωn

3 � !�#� �� �!���#F��3 0� ����#F �!0�7
�I� ��$!��! Li

on
� 4l

n
3 4l

o

/ 0�!�5�#F�4! 5���� 7$!!� Ωn
� Ωo

���0�!0:
�0�!���3 l=1, 2, . . . , 12� ri

3 r̃i
/ ��2���:�!�0��4 �!�M�� 5���!8 4l

n
� 4l

o���0�!0�0�!���3 i=1, 2, 3
�

����1�0��1 2�! ���!2��! 5����3 �����1!�3 ,;L � ;-L u�1� ����L�;�v�
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0!#F��1 �I��2! �!�M��� ����1 �I�� �13 ��#�$�!1 �#!2�HG!! ���0�!0:
�0��! 1!J2� ��1!��1� �!�M�� ,;:5������� � 0�!�5�#F�4� 5���!8

[ �!�M��4 � ,;:5������! [ �!�M��4 � 0�!�5�#F���!
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���#�5�$��  �2�!0�7 ���0�!0�0��! 2#7 ��0��M���7 ,* 0�!�5�#F�4� 5��:
�!8� �01!0�13 $0� 2#7 �0���5� ,;:5�������3 � �I��J!���5� �� ����L�;I3
���0�!0�0��! �!�M�� I�2!0 2��5�1� �#7 0�!�5�#F����� ,;- � ,-L �1!!1

[ �!�M��4 � ,;:5������! [ �!�M��4 � 0�!�5�#F���!
, ; - ; , -
, - L - ; ,

�#5���01 ��0!���#76�� ���0��0 � �70� E0�����
·��© H¨ %��0��!��! #���� �!�!�!$!��7 5����$�4� ���!�����0!8 ,;:

5����4� 7$!!� Ωn
� Ωo

� �� E0�1 E0��! ����2�0�7 #�1����7 #���7 Lon
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�!8 7$!!�� %�!2��#�5�!0�73 $0� #���7 Lon

7�#7!0�7 ���0���13 I! 0�$!�
�!0�#!��7� 
�J!0 ��G!�0����0F �!���#F�� 0���� #���8 Li

on

�
·��© HH¨ %��0��!��! 9�5��4 �!�!�!$!��7 7$!!�� �� 2����1 E0��!

����2�0�7 Ωon
3 9�5��� �!�!�!$!��7 7$!!� Ωo

� Ωn
� �� ���G!�0�#7!0:

�7 �2����!1!��� � E0���1 S� �� ��J2�8 � ����1�0����!14� 0�!�5�#F:
�4� 5���!8 7$!!� Ωo

u�#� Ωn
v �0���0�7 1��5��5�#F���3 �4�!��!148 #�:

��!8 Lon
� #!J�G�8 ���0�� 7$!8�� Ωn

u�#� Ωo
v� K0�0 1��5��5�#F���

!�0F $��0F 5����64 ����1�8 9�5��4 Ωon
� %����#F�� 1�J!0 ��G!�0��:

��0F �!���#F�� Li
on

3 0� � 1��5��5�#F����� �� ����1�0����!1�8 5����
1�J!0 I40F I�#FM! �2��5� u�� �! I�#!! 2���v� 
��0�� 1��5��5�#F����
 ��#H$!�� �#����7 1��5��5�#F��7 ���!�����0F� �IU!2��!��! ��!� 1��:
5��5�#F�4� ���!�����0!8 �I�� �!0 5����6� Ωon

� �01!0�13 $0� �I#��0F
Ωon

1�J!0 ���0�70F � 2��� �02!#F�4� ��1�#!�����
·��© HHH¨ 
4$��#!��! �IU!1� � 1���4 9�5��4 �!�!�!$!��7 Ωon

�
·��© H\¨ %!�!I�� 7$!!� �!0�� ωo

� �!�I��2�1� ��80� ����J!��! ���:
�1�0����!1�8 ����8 #��!8$�0�8 7$!8��3 ��0���! ���0��0 � �0��4� 7$!:
!� Ωq

o
3 q=1, 2, . . ., qmax

3 �1!HG�� � �!�!�!$!��� � 7$!8��8 Ωn
�!���0�!

1��J!�0�� u 2!�F ����#F �!0�7 �2�� ��2!�� q ��� ��1!��6�� 7$!!� ����:
J!��7v� %�� �4$��#!��7� 2��0�0�$�� ��80� ����J!��! �2��8 � 2���
,;:5����4� 7$!!� Ωn

�� �2��8 � 2��� Ωo
� ����#F ���0F !5� 2#7 �0���8

Ωn
� �#7 0!��G!8 7$!8�� Ωn

�#!2�!0 ����#F ���0F ��0�1�#F�48 �#5�:
��01 �!�!I��� 7$!!� �!0�� ωo

3 � 0!1 $0�I4 ����!�70F 0�#F�� 7$!8��
����J!��7 Ωq

o

�
·��© \¨ ���$!0 1���4 mn

3  ��#H$!���8 � ����8 7$!8�!3 �  ��$!��7
�#�0���0� � �!8�

î¨ê ·��© H¨ �¢���¢� �� �� �� ©������� �� Lon

�#5���01 ���0��!��7 #���� �!�!�!$!��7 5���!8 ,;:5����4� 7$!!� Lon���0��0 � 2��� M�5���
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]�ì ³¨ %��#!2���0!#F�� �!�!I���!1 ,; 5���!8 7$!8�� Ωn

� 2#7 ��J:
2�8 � ��� ����1�0����!1 ,; 5���!8 7$!8�� Ωo

2� 0!� ��� ���� �! I�2!0
��82!�� ���� �!�!�!��HG���7 5���!83 ���J!1 4l1

n
� 4l2

o

� ����2�1 ���64
�0�! ��� �!�!�!$!��7 / �!�M��4 #�1���8 Lon

�
]�ì Þ¨ %��#!2���0!#F�� ����2�1  �!�F7 #�1���8 Lon

3 ����#F �7
�#!2�HG�! 2�� ���8�0��y �v Lon

7�#7!0�7  �1���0�8 #���!83 Iv ���64
 �!�� #�1����8 #!J�0 �� �0������ 0�!�5�#F���� 4l1

n
�#� 4l2

o

�

î¨ê¨³ ]�ì ³¨ =©��¾��� �� ¤��ó�  �¢¡� ¢½ Lon
¨ ����1�0:

��1 5���� 7$!!� 4l1
n

� 4l2
o

� #���#F��8 ��1!��6�!8 �!�M�� 1, 2, 3
� �#7

���!2!#!��7 #���� �!�!�!$!��7 E0�� 5���!8 �!�I��2�1� �4����0F ����:
�!��7 �#�����0!83 �����27G�� $!�! �� �!�M��4�

� 6!#FH ����G!��7 �4�#�2�� ���G!�0��1 ��!�I�� �����! ����2���0
x, y, z 0��3 $0�I4 � ����8 ���0!1! x′, y′, z′ ��$�#� ����2���0 �����2�#� �
�!�M���8 , 0�!�5�#F���� 4l1

n
3 ��F x′ �����2�#� $!�! !5� �0����� ,;3 �

�#�����0F x, y #!J�#� � �#�����0� 0�!�5�#F����� �#7 E0�5� �!�I��2�1�
���G!�0��0F �2��5 � ������0 �0���8 ���0!14 ����2���0� �2��5  �2�!0:
�7 r1

3 ��2���:�!�0���1 �!�M��4 ,� ���!2!#�1 ����2���04 ��0�� ����8
���0!14 ����2���0 i′, j′,k′ $!�! ��04 �0���8 ���0!14 i, j,k

� �1!!1

i′ =
r2 − r1

|r2 − r1|
, k′ =

i′ × (r3 − r1)

|i′ × (r3 − r1)|
, j′ = k′ × i′.

�#!2���0!#F��3 ��#�$�!1 �� #�J!��! 2#7 ��0��

i′=α11i + α12j + α13k, j′=α21i + α22j + α23k, k′=α31i + α32j + α33k; uL�Ov
 2!�F αij

/ ��1���!�04 1�0��64 A3  �2�HG!8 ������0 ���0!14 ����2�:
��0� 
 ����8 ���0!1! �!�M��4 0�!�5�#F���� �1!H0 ����2���04

r′1=A(r1 − r1) = 0, r′2=A(r2 − r1) = (x′
2, 0, 0), r′3=A(r3 − r1)=(x′

2, y
′
2, 0).

�#7 ���0���0� I�2!1 � 2�#F�!8M!1 ������0F M0��� ���  ����� ��1��:
#��3 ��2�� �1!��7 u!�#� �! ��!6��#F�� �! �01!$�!0�7v3 $0� ��I�0�!1 �
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n
3 � ���4� ����2���0�� �1!!0 ��2

z = 0. uL�.v
�!�!�F ����1�0��1 5���F �0���8 7$!8��3 0�!�5�#F��� 4l2

o

� 
 ����8
���0!1! ����2���04 �!�M��4 4l2

o
 �2�H0�7 ��!�I�� �����!1

r̃′i = A(r̃i − r1) = 0,

52! r1
/ ����2���04 �!�M��4 , 0�!�5�#F���� 4l1

n
� �0���8 ���0!1! ��:

��2���0� ��70F 2#7 ���0���0� I�2!1 ������0F M0��� � ��1��#��3 ��2:
�� �1!��73 $0� ��I�0�!1 � ����8 ���0!1! ����2���0�

�����!��! �#�����0�3 �����27G!8 $!�! 0�� �!�M��4 0�!�5�#F����
4l2

o
3 ��0F

∣

∣

∣

∣

∣

∣

∣

∣

x − x̃1 y − ỹ1 z − z̃1

x̃2 − x̃1 ỹ2 − ỹ1 z̃2 − z̃1

x̃3 − x̃1 ỹ3 − ỹ1 z̃3 − z̃1

∣

∣

∣

∣

∣

∣

∣

∣

= 0,

�#�
Ax + By + Cz + D = 0, uL�<v

52! A = (ỹ2 − ỹ1)(z̃3 − z̃1) − (ỹ3 − ỹ1)(z̃2 − z̃1),

B = −(x̃2 − x̃1)(z̃3 − z̃1) + (x̃3 − x̃1)(z̃2 − z̃1),

C = (x̃2 − x̃1)(ỹ3 − ỹ1) − (x̃3 − x̃1)(ỹ2 − ỹ1), D = −Ax̃1 − Bỹ1 − Cz̃1.

�#7 ���!2!#!��7 �0�! �� #���� �!�!�!$!��7 0�!�5�#F�����4l1
n
�4l2

o�G!1 �!�!�!$!��! �#�����0!8 uL�.v � uL�<v� %�2�0���� uL�.v � uL�<v3 ��#�:
$�1 �����!��! ��71�8

Ax + By + D = 0. uL�,*v
���$�#� �#!2�!0 ����!��0F �!�!�!��!0 #� ��71�7 uL�,*v �0����4 0�!:

�5�#F���� 4l1
n

� 
 ���0�!0�0��� � ��#�$!�0��1 �0���� 0�!�5�#F���� �� :
1�J�4 0�� �#�$�7�
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,;3 �����!��! ��0���8 ��0F y=0
� %�2�0���� !5� � uL�,*v3 ��#�$�1

Ax + D = 0. uL�,,v
)2!�F �� 1�J�4 0�� ������0��

,�,� ðÀÊÇÆÎ ÇÃÊÑÃÄÁÝ ��E99�6�!�04 A, D=03 0�52� #���7 �!�!�!:
$!��7 �#�����0!8 �����2�!0 �� �0�����8 12 0�!�5�#F���� 4l1

n

� �#!2���:
0!#F��3 �G!1 0�$�� �!�!�!$!��7 �0����4 12 �� �0�����1� 1̃2̃, 1̃3̃ �#� 2̃3̃
0�!�5�#F���� 4l2

o

�
,�,�,� ���$�#� ����!�7!1 �!�!�!��H0�7 #� �0����4 12 � 1̃2̃

� ��$��
�!�!�!$!��7 Q � ��2���:�!�0���1 r #!J�0 �� �0������ 12 � 1̃2̃

� �#7 !!
����J2!��7  ���M!1 �����!��7 �0���� � ����1!0��$!���8 9��1!

r = tr2,
uL�,;v

r = (1 − t̃)r̃1 + t̃r̃2,
uL�,-v

52! 0≤t, t̃≤1
� %���������!1 ����4! $��0� �!�0���4� �����!��8 � ��:

��#F �!1 ���0��M!��! 2#7 ��1���!�04 y u����1��13 $0� r2=(x2, 0, 0)v

0 = (1 − t̃)ỹ1 + t̃ỹ2,

�0��2� ��#�$�!1 t̃ = ỹ1/(ỹ1 − ỹ2)
3 � �����!��! 2#7 ��1���!�04 x

x2t = (1 − t̃)x̃1 + t̃x̃2

�#�J�0 2#7 ���!2!#!��7 ����1!0�� t=[(1−t̃)x̃1+t̃x̃2]/x2.
	�#� �I� ����:

1!0�� #!J�0 � ��0!���#!
0 ≤ t, t̃ ≤ 1, uL�,Lv

0� Q(tx2, 0, 0) 7�#7!0�7 0�$��8 �!�!�!$!��7 �0���� 12 � 1̃2̃3 � !! I!�!1 �
��$!�0�! �$!�!2��8 �!�M��4 #���� Lon

� 	�#� ��#���! uL�,Lv �! �4��#:
�7!0�73 0� �!�!��2�1 � �#!2�HG!1� ����0��

,�,�;� �1�0��1 �!�!�!��H0�7 #� �0����4 12 � 1̃3̃
� �����!��! �0����4

1̃3̃ �1!!0 ��2
r = (1 − t̃)r̃1 + t̃r̃3.

uL�,+v



,<.
��� � � �� ,�,�, ���0��#7!1 �!�0����! �����!��!3 ����������7 ����4!
$��0� �����!��8 uL�,;v � uL�,+v3 �0��2� ����2�1 ����1!0�4

t̃ =
ỹ1

ỹ1 − ỹ3
, t =

(1 − t̃)x̃1 + t̃x̃3

x2
.

	�#� �4��#�!�� ��#���! uL�,Lv3 0� Q(tx2, 0, 0) 7�#7!0�7 0�$��8 �!�!�!$!:
��7 �0���� 12 � 1̃3̃3 � !! I!�!1 � ��$!�0�! �$!�!2��8 �!�M��4 #���� Lon

�
	�#� ��#���! uL�,Lv �! �4��#�7!0�73 �!�!��2�1 � �#!2�HG!1� ����0��

,�,�-� �1�0��1 �!�!�!��H0�7 #� �0����4 12 � 2̃3̃
� �����!��! �0����4

2̃3̃ �1!!0 ��2
r = (1 − t̃)r̃2 + t̃r̃3.

uL�,Nv
%���������7 ����4! $��0� �����!��8 uL�,;v � uL�,Nv3 ����2�1 ����1!0�4

t̃ =
ỹ2

ỹ2 − ỹ3
, t =

(1 − t̃)x̃2 + t̃x̃3

x2
.

	�#� �4��#�!�� ��#���! uL�,Lv3 0� Q(tx2, 0, 0) 7�#7!0�7 0�$��8 �!�!�!:
$!��7 �0���� 12 � 2̃3̃3 � !! I!�!1 � ��$!�0�! �$!�!2��8 �!�M��4 #����
Lon

� 	�#� �!03 0� �0����� 12 �! �!�!�!��!0 �0����4 0�!�5�#F���� 4l2
o

�
%!�!��2�1 � ����1�0�!��H �0����4 13 0�!�5�#F���� 4l1

n
u�1� ��;v�

,�;� YÁËÊËÎ ÇÃÊÑÃÄÁÝ 
 uL�,,v ��E99�6�!�04 A=0 , D 6=0
� ��52�

�#�����0� uL�.v � uL�<v �! �!�!�!��H0�7 �3 �#!2���0!#F��3 0�!�5�#F�4!
5���� 0�J!� �#!2�!0 �!�!80� � ����1�0�!��H �#!2�HG!8 �0����4 13
u�1� ��;v�

,�-� ñÊÀÁÑÎ ÇÃÊÑÃÄÁÝ ��E99�6�!�0 A6=0
� ��52� � uL�,,v ��#�$�!1

x=−D/A �3 ����#F �7 ���!�6�H �� ��F x �����!��7 uL�,;v 2#7 �0���:
�4 123 0�!� x=tx2

3 ���!2!#7!1 ����1!0� t=−D/(Ax2)
� 	�#� 0≤t≤13 0�:

52� �!�I��2�1� ����!��0F #!J�0 0�$�� �!�!�!$!��7 Q(tx2, 0, 0) ���0��
u��#H$�7 5����64v 0�!�5�#F���� 4l2

o
�#� �!0� ����#F �!1 �#5���01 �

����!��� u�1� ��J!v� 	�#� Q∈4l2
o
3 0� ����#F �!1 !! � ��$!�0�! �#!2�H:

G!8 �!�M��4 #���� Lon
� 	�#� Q/∈4l2

o
3 0� �0����� 12 �! �!�!�!��!0�7 ��

�0�����1� 0�!�5�#F���� 4l2
o
3 � �!�!��2�1 � ����1�0�!��H �0����4 13

0�!�5�#F���� 4l1
n

u�1� ��;v�



,<<

+

6

q ?

+

Y

1̃

2̃

3̃
1̃

2̃

3̃

Q

Q

u�v uIv
���� L�L�

@�ì¢���¡ ^¨ �� ����L�L ��!2�0��#!�4 2�� �#�$�7 �����#�J!��7
0�$�� Q

� %��0F rQ1̃, rQ2̃, rQ3̃
�I� ��$�H0 �!�0��43 ����!2!��4! � Q �

0�$�� 1̃, 2̃, 3̃ ���0�!0�0�!���� ���0��#7!1 2�� �!�0���4� ���� �!2!��7
a = rQ1̃ × rQ2̃ , b = rQ2̃ × rQ3̃ .

	�#� Q #!J�0 ���0�� �#� �� 5����6! 0�!�5�#F���� u�1� ����L�L�v3 0�
���#7���! ���� �!2!��! a·b≥0

� 	�#� J! Q #!J�0 �����J� 0�!�5�#F����
u�1� ����L�LIv3 0� a · b<0

�
;� ��#!! ����1�0��1 �� 1�J���0F �!�!�!$!��7 ��71�8 uL�,*v �� �0�:

����8 ,-3 �����!��! ��0���8 !�0F x=ky 3 52! k=x3/y3
� %�2�0���� !5� �

uL�,*v3 ��#�$�1
(Ak + B)y + D = 0. uL�,Ov

��70F ����1�0����!1 0�� �� 1�J�4� ������0��
;�,� ðÀÊÇÆÎ ÇÃÊÑÃÄÁÝ ��E99�6�!�04 �2��#!0���7H0 ��#���71 Ak+

+B=0, D=0
� ��52� #���7 �!�!�!$!��7 �#�����0!8 uL�,*v �����2�!0 ��

�0�����8 13 0�!�5�#F���� 4l1
n

� �#!2���0!#F��3 �G!1 0�$�� �!�!�!$!��7
�0����4 13 �� �0�����1� 1̃2̃, 1̃3̃ �#� 2̃3̃ 0�!�5�#F���� 4l2

o

�
;�,�,� ���$�#� ����!�7!1 �!�!�!��H0�7 #� �0����4 13 � 1̃2̃

� ��$��
�!�!�!$!��7 Q #!J�0 �� �0������ 13 � 1̃2̃

� �#7 !! ����J2!��7  ���M!1
�����!��7 �0����4 ,- � ����1!0��$!���8 9��1!

r = tr3,
uL�,.v

52! 0≤t≤13 � ����1���!1 uL�,-v 2#7 �0����4 1̃2̃
� %���������7 ����4!

$��0� uL�,.v � uL�,-v3 ��#�$�!1
tr3 = (1 − t̃)r̃1 + t̃r̃2.



;**
)������ ���!�6�� E0�5� �����!��7 �� ��� x � y 3 ��#�$�1 ���0!1� 2���
�����!��8 �0����0!#F�� ����1!0��� t, t̃

tx3 = (1 − t̃)x̃1 + t̃x̃2 , ty3 = (1 − t̃)ỹ1 + t̃ỹ2,

�0��2� ����2�1

t̃ =
x̃1y3 − ỹ1x3

x3(ỹ2 − ỹ1) − y3(x̃2 − x̃1)
, t =

(1 − t̃)ỹ1 + t̃ỹ2

y3
.

	�#� �4��#�!�� ��#���! uL�,Lv3 0� Q(tx3, ty3, 0) 7�#7!0�7 0�$��8 �!�!�!:
$!��7 �0���� 13 � 1̃2̃3 � I!�!1 !! � ��$!�0�! �$!�!2��8 �!�M��4 #����
Lon

� 	�#� ��#���! uL�,Lv �! �4��#�7!0�73 0� �!�!��2�1 � �#!2�HG!1�
����0��

;�,�;� �1�0��1 �!�!�!��H0�7 #� �0����4 13 � 1̃3̃
� %���������7 ���:

�4! $��0� �����!��8 uL�,.v � uL�,+v3 �1!!1

tr3 = (1 − t̃)r̃1 + t̃r̃3.

���J! ��� � � �� ;�,�, ���0��#7!1 ���0!1� 2��� �����!��8 �0����0!#F��
t � t̃3 �� �!M�� ��0���H3 ����2�1

t̃ =
x̃2y3 − ỹ1x3

x3(ỹ3 − ỹ1) − y3(x̃3 − x̃1)
, t =

(1 − t̃)ỹ1 + t̃ỹ3

y3
.

	�#� �4��#�7!0�7 ��#���! uL�,Lv3 0� Q(tx3, ty3, 0) 7�#7!0�7 0�$��8 �!�!:
�!$!��7 �0���� 13 � 1̃3̃3 � I!�!1 !! � ��$!�0�! �$!�!2��8 �!�M��4 #����
Lon

� 	�#� ��#���! uL�,Lv �! �4��#�7!0�73 0� �!�!��2�1 � �#!2�HG!1�
����0��

;�,�-� �1�0��1 �!�!�!��H0�7 #� �0����4 13 � 2̃3̃
� %���������7 ���:

�4! $��0� �����!��8 uL�,.v � uL�,Nv3 �1!!1

tr3 = (1 − t̃)r̃2 + t̃r̃3.

�0��2� ����2�1

t̃ =
x̃2y3 − ỹ2x3

x3(ỹ3 − ỹ2) − y3(x̃3 − x̃2)
, t =

(1 − t̃)ỹ2 + t̃ỹ3

y3
.



;*,
	�#� �4��#�7!0�7 ��#���! uL�,Lv3 0� Q(tx3, ty3, 0) 7�#7!0�7 0�$��8 �!�!:
�!$!��7 �0���� 13 � 2̃3̃3 � I!�!1 !! � ��$!�0�! �$!�!2��8 �!�M��4 #����
Lon

� 	�#� J! �!03 0� �0����� 13 �! �!�!�!��!0 �0����4 0�!�5�#F���� 4l2
o

�
%!�!��2�1 � ����1�0�!��H �0����4 23 0�!�5�#F���� 4l1

n
u�1� ��-v�

;�;� YÁËÊËÎ ÇÃÊÑÃÄÁÝ ��E99�6�!�04 uL�,,v �2��#!0���7H0 ��#���:
71 Ak+B=0, D 6=03 0�52� �#�����0� uL�.v � uL�<v �! �!�!�!��H0�7 �3 �#!:
2���0!#F��3 0�!�5�#F�4! 5���� 0�J!� �#!2�!0 �!�!80� � ����1�0�!��H
�#!2�HG!8 �0����4 23 u�1� ��-v�

;�-� ñÊÀÁÑÎ ÇÃÊÑÃÄÁÝ ��E99�6�!�04 uL�,,v �2��#!0���7H0 ��#���H
Ak+B 6=0

� � uL�,Ov ��#�$�!1 y=−D/(Ak+B)
� %�2�0���� !5� � ���!�6�H

�����!��7 uL�,.v �� ��F y 3 ���!2!#7!1

t = −D/[(Ak+B)y3].

	�#� 0≤t≤13 0�52� �!�I��2�1� ����!��0F #!J�0 0�$�� Q(tx3, ty3, 0)
���0�� 4l2

o
�#� �!0� �#7 E0�5� ����#F �!1 �#5���01 W ����!���� 	�#�

Q∈4l2
o
3 0� I!�!1 !! � ��$!�0�! �$!�!2��8 �!�M��4 #���� Lon

� 	�#� J!
�!03 0� �0����� 13 �! �!�!�!��!0 �0����4 0�!�5�#F���� 4l2

o

� %!�!��2�1
� ����1�0�!��H �0����4 23 0�!�5�#F���� 4l1

n
u�1� ��-v�

-� ����1�0��1 �� 1�J���0F �!�!�!$!��7 ��71�8 uL�,*v �� �0�����8
;-3 �����!��! ��0���8  �2��� � ��2! x=ky+p3 52!

k =
x3 − x2

y3 − y2
, p =

y3x2 − y2x3

y3 − y2
.

%�2�0���� !5� � uL�,*v3 ��#�$�1

(Ak + B)y + Ap + D = 0. uL�,<v
����� ����1�0����!1 0�� �� 1�J�4� ������0��

-�,� ðÀÊÇÆÎ ÇÃÊÑÃÄÁÝ ��E99�6�!�04 �2��#!0���7H0 ��#���71 Ak+

+B=0, Ap+D=0
� ��52� #���7 �!�!�!$!��7 �#�����0!8 uL�,*v �����2�:

!0 �� �0�����8 23 0�!�5�#F���� 4l1
n

� �#!2���0!#F��3 �!�I��2�1� ����0F
0�$�� �!�!�!$!��7 �0����4 23 �� �0�����1� 1̃2̃, 1̃3̃ �#� 2̃3̃ 0�!�5�#F����
4l2

o

�



;*;
-�,�,� ���$�#� ����!�7!1 �!�!�!��H0�7 #� �0����4 23 � 1̃2̃

� ��$��
�!�!�!$!��7 Q #!J�0 �� �0������ 23 � 1̃2̃

� �#7 !! ����J2!��7  ���M!1
�����!��! �0����4 ;-

r = (1 − t)r2 + tr3,
uL�;*v

� ����1���!1 uL�,-v 2#7 1̃2̃
� %���������7 ����4! $��0� uL�;*v � uL�,-v3

��#�$�!1 ���0!1�

(1 − t)r2 + tr3 = (1 − t̃)r̃1 + t̃r̃2.

����#F �7 ���!�6�� �!�0����5� �����!��7 �� ��� x � y 3 ����2�1

t̃ =
(x̃1 − x2)(y3 − y2) − (ỹ1 − y2)(x3 − x2)

(ỹ2 − ỹ1)(x3 − x2) − (x̃2 − x̃1)(y3 − y2)
, t =

(1 − t̃)ỹ1 + t̃ỹ2 − y2

y3 − y2
.

	�#� �4��#�7!0�7 ��#���! uL�,Lv3 0� Q((1−t)x2+tx3, (1−t)y2+ty3, 0) 7�:
#7!0�7 0�$��8 �!�!�!$!��7 �0���� 23 � 1̃2̃3 � I!�!1 !! � ��$!�0�! �$!�!2:
��8 �!�M��4 #���� Lon

� 	�#� ��#���! uL�,Lv �! �4��#�7!0�73 0� �!�!��:
2�1 � �#!2�HG!1� ����0��

-�,�;� �1�0��1 �!�!�!��H0�7 #� �0����4 23 � 1̃3̃
� %���������7 ���:

�4! $��0� �����!��8 uL�;*v � uL�,+v3 ��#�$�!1

(1 − t)r2 + tr3 = (1 − t̃)r̃1 + t̃r̃3.

�� �!M�� ���0!1� ��� � ���!!3 ����2�1 ����1!0�4

t̃ =
(x̃1 − x2)(y3 − y2) − (ỹ1 − y2)(x3 − x2)

(ỹ3 − ỹ1)(x3 − x2) − (x̃3 − x̃1)(y3 − y2)
, t =

(1 − t̃)ỹ1 + t̃ỹ3 − y2

y3 − y2
.

	�#� �4��#�7!0�7 ��#���! uL�,Lv3 0� Q((1−t)x2+tx3, (1−t)y2+ty3, 0) 7�:
#7!0�7 0�$��8 �!�!�!$!��7 �0���� 23 � 1̃3̃3 � I!�!1 !! � ��$!�0�! �$!�!2:
��8 �!�M��4 #���� Lon

� 	�#� ��#���! uL�,Lv �! �4��#�7!0�73 0� �!�!��:
2�1 � �#!2�HG!1� ����0��

-�,�-� �1�0��1 �!�!�!��H0�7 #� �0����4 23 � 2̃3̃
� %���������7 ���:

�4! $��0� �����!��8 uL�;*v � uL�,Nv3 ��#�$�!1

(1 − t)r2 + tr3 = (1 − t̃)r̃2 + t̃r̃3.



;*-
�� �!M�� ���0!1� ��� � ���!!3 ����2�1 ����1!0�4

t̃ =
(x̃2 − x2)(y3 − y2) − (ỹ2 − y2)(x3 − x2)

(ỹ3 − ỹ2)(x3 − x2) − (x̃3 − x̃2)(y3 − y2)
, t =

(1 − t̃)ỹ2 + t̃ỹ3 − y2

y3 − y2
.

	�#� �4��#�7!0�7 ��#���! uL�,Lv3 0� Q((1−t)x2+tx3, (1−t)y2+ty3, 0) 7�:
#7!0�7 0�$��8 �!�!�!$!��7 �0���� 23 � 1̃3̃3 � !! I!�!1 � ��$!�0�! �$!�!2:
��8 �!�M��4 #���� Lon

� 	�#� ��#���! uL�,Lv �! �4��#�7!0�73 0� �0�����
23 �! �!�!�!��!0 �0����4 0�!�5�#F���� 4l2

o

� 
 E0�1 �#�$�! ����!�7!1
�!�!�!��!0 #� ��71�7 uL�,*v �0����4 4l2

o
u�1� ��Lv�

-�;� YÁËÊËÎ ÇÃÊÑÃÄÁÝ ��E99�6�!�04 �2��#!0���7H0 ��#���71 Ak+

+B=0, Ap+D 6=0
� ��52� �#�����0� uL�.v � uL�<v �! �!�!�!��H0�7 �3 �#!:

2���0!#F��3 0�!�5�#F�4! 5���� 0�J!� %!�!��2�1 � �� L�
-�-� ñÊÀÁÑÎ ÇÃÊÑÃÄÁÝ ��E99�6�!�04 �2��#!0���7H0 ��#���71 Ak+

+B 6=0
� ��52� � uL�,<v ��#�$�!1 y=−(Ap+D)/(Ak+B)

� %�2�0��#77 y �
���!�6�H �����!��7 uL�;*v �� ��F y 3 ����2�1

t = −
(

Ap + D
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I40F �4�! �� 2��5�8 1��5��5�#F��� E0�8 J! #���!8 Li

on
�#� 2��5�8�
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����3 � �� ����L�N� / �!�M��� ,� �� ����L�N� ��2��3 $0� ��1� 0�$�� R1 3
0�!� �!�M��� ,3 1�J!0 �! #!J�0F ���0�� Ωo
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$���!0�7 � �!�M��4 1′ 3 ��52� �J! ���0��!�4 �!�M��4 1, 6 1��5��5�#F:
���� P i1 � �!�M���1� 1234563 0�52� ����!2!��48 � �� ;�,�; �#5���01
�����#F�� ���J!03 $0� 0�$�� Q u0�!� 1′v �0����0�7 � P i2

� �� !�#� ���:
$�#� �0���0�7 �!�M��� 5′ 3 0� Q u0�!� 5′v I�2!0 �M�I�$��  ��!�!�� � ���:
��� �!�M�� 1��5��5�#F���� P i1

� �#!2���0!#F��3 ��J�� 2���#��0!#F��7
����!���� �!�I��2�1� � 0�$!� ,3N �4I��0F I#�J�8M�H � 5′ uE0� 0�$��
,v3 �� �0�! �! [5′1] � 70F �!��0���H 0�$�� Q′ � ���!�0���0� 0�$�� , �
����!��0F #!J�0 #� ��� ���0�� 7$!8�� Ωo

3 ����#F �7 �#5���01 
� � 
����L�.I ��2��3 $0� ���!�0���0F 0�$�� 1 �! #!J�0 ���0�� Ωo

3 � 0�$�� 5′

 �����0�7 � ������ �!�M�� P i2
�



;,-

ûj

�j

�jLi1
on

Li2
on

S
Q

ûj

�j

�j1′
2′

3′

4′

5′
1

2
3

4

5

6P i1

P i2u�v uIv
���� L�.�


 ��;�,�,/;�,�- ��� 9��1�������� ����5� 1��5��5�#F���� P i !5� ��:
1!� ����2�0�7 �� �����#� uL�;;v�

���1! 0!��G!8 0�$�� Q �!�I��2�1� 2���#��0!#F�� ����!��0F 7�#7:
H0�7 #� �!�M��4 0�!�5�#F��8 5���� 4l1
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����L�.I E0� �!�M��� ,v3 0� � ������ �!�M�� P i  �����0�7 0�#F�� 0�$��
Q

N i
tot=1, N ik

nod=1, l=N ik
nod, N ikl

v =1, j=N ikl
v , X ij=XQ, Y ij=YQ, Zij=ZQ.

SS� 	�#� �!�M��� 0�!�5�#F���� R1 #!J�0 ���0�� �0���8 7$!8�� u�!�:
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J!���H �2����!1!��� � �� ���!2�!8 �0����! k1
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tot

� ��
����L�,*� ��!2�0��#!� ���1!�3 ��52� ���$�#� ��J�� �2����0F ��1!��:
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 �#�$�!3
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rijk = ri′,J+3,k +
i0 + i − I − j + J

i0 + j0
(rI+3,j′,k − ri′,J+3,k),

uL�;Nv

52! i′=I+3−i0
3 j′=J+3−j0

� 
 uL�;Nv ��� � �4M! ��� � 1!�!��� ��2!���
i=i′, . . ., I+3 ��2!�� j 9��������� � j=J+33 � ���I���0 ��� � 1!�!���
j=j′, . . ., J+3 9��������� ��2!�� i=I+3

�
%���!2!1 9��1�#4 ����!�0������ ����2���0 � #�� 9��0���4� 7$!:

!�3 ���14��HG�� � 2��1 2��5�1 �!I��1 �I#��0�y i=I+33 j=1 � i=13
j=J+3

� �#7 �!I�� i=I+33 j=1 9��1�#4 �!�!�$!0� �1!H0 ��2

rijk = ri′1k +
j0 + j + i − I − 4

i0 + j0
(rI+3,j0,k − ri′1k).

uL�;Ov
)2!�F ��� � 1!�!��� ��2!��� i=i′, . . ., I+3 ��2!�� j 9��������� � j=13
� ���I���0 ��� � 1!�!��� j=1, . . ., j0

��2!�� i=I+3
� �#7 �!I�� i=13

j=J+3 9��1�#4 �!�!�$!0� �1!H0 ��2

rijk = r1j′k +
i0 + i + j − J − 4

i0 + j0
(ri0,J+3,k − r1j′k).

uL�;.v



;-;
)2!�F ��� � 1!�!��� ��2!��� i=1, . . ., i0

��2!�� j 9��������� � j=J+33
� ���I���0 ��� � 1!�!��� j=j′, . . ., J+3 9��������� ��2!�� i=1

�
�#7 �!0�� ωo

3 � �I��J!���8 �� ����L�;;3 ���M��!���7 �!0�� ωext
o :

63×63×83 ��#�$!���7 � ����!�0������8 ����2���0 � #�� �� 9��1�#�1
uL�;+v3uL�;Nv3 ����!2!�� �� ����L�;L� )2!�F  �2���#��F �#!2�HG�! ����:
1!0�4y

i0 = 4 , j0 = 4 , pl
i = pr

i = pl
j = pr

j = pl
k = pr

k = 1

� ����!�0�����#��F ����2���04 � #�� 9��0���4� 7$!!� 0�#F�� 2#7 �!:
I!� i=13 j=1 � i=I+33 j=J+3

�
%���!2!��4! ���1!�4 ���� 4��H03 $0� �! ��G!�0��!0 �IG!5� �#5�:

��01� ���0��!��7 �#�!� 9��0���4� 7$!!�� 
 �!��0��4� ��!6��#F�4�
�#�$�7� 9��1�#4 uL�;Lv �#!2�!0 ����!�0�����0F ����27 � �����!0��8
��0��6���

î¨% =ó�¦�� � ���©¢��ª��
�M�I�� ��0!���#76�� ��#�24��!0�7 � �M�I�� 2��� 0����� %!���7 ��7:
 ��� � �M�I��1� ����5#!��8 ��� �4$��#!��7�� %�� ��!#�$!��� �� �72:
��8 �!0�� ��1�FH0!�� u0�!� $��#�  ��$�G�� 6�9�3 �����14� � ��17:
0� K

v3 E0� �M�I�� �0�!1�0�7 � 0

� 
0���73 ���0!1�0�$!���7 �M�I:
��3 ��7 ��� � 0!13 $0� �!0�� ωn

�2����0� �0����0!#F�� ωo
�� 4r

� %��0F
Θn, Θo ⊂ R

3 �I� ��$�H0 �I#��0�3  ���1�!14! ���0�!0�0�!��� �!0��1�
ωn, ωo

3 52! Θo
�����2�!0 � ����2��8 �I#��0FH Θ

� �0�I4 ���70F ���$���
�� ������!��7 ���0!1�0�$!���8 �M�I�� ����1�0��1 ���1!� ��0!���#7:
6�� � ��71��5�#F��8 �!0�� ωo

3 � M�5�1� hx, hy, hz
�� ������#!��71 x, y, z

���0�!0�0�!���3 �� E0� J! �!0�� ωn
3 �2����0�H �0����0!#F�� �0���8 ��

4r
� )2!�F 1�2�#F �2��5� |4r|�hx, hy, hz

� %��0F 2#7 ���!2!#!����0� ��1:
���!�04 �!�0��� �2��5� 4x,4y,4z>0

� 	�#� � 7$!8�! �!0�� ωo
 ��$!��!
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�#�0���0� !�0F ρijk

3 0�52� 1���� �I#��0� Θo
�����

mo = hxhyhz

I,J,K
∑

i,j,k=1

ρijk .


���� �I#��0� Θn
��#�24��!0�7 � 1���4 �I#��0� �!�!�!$!��7 Θon =

= Θo ∪ Θn

mon = mo − hxhy4z

I,J
∑

i,j=2

ρij1 − hxhz4y

I,K
∑

i,k=2

ρi1k − hyhz4x

J,K
∑

j,k=2

ρ1jk−

−hx4y4z
I
∑

i=2

ρi11−hy4x4z
J
∑

j=2

ρ1j1−hz4x4y
K
∑

k=2

ρ11k−4x4y4zρ111

� 1���4 2���#��0!#F��8 �I#��0� Θ′=Θn\Θon
3 ��0���7 �I�� ���#��F � :

 � �2��5� ωn
�0����0!#F�� ωo

3

m′ = hxhy4z

I,J
∑

i,j=2

ρi,j,K+1 + hxhz4y

I,K
∑

i,k=2

ρi,J+1,k + hyhz4x

J,K
∑

j,k=2

ρI+1,j,k+

+hx4y4z
I
∑

i=2

ρi,J+1,K+1 + hy4x4z
J
∑

j=2

ρI+1,j,K+1 + hz4x4y
K
∑

k=2

ρI+1,J+1,k+

+4x4y4zρI+1,J+1,K+1.

)2!�F ρI+1,j,k
3 ρi,J+1,k

3 ρi,j,K+1
/  ��$!��7 �#�0���0� � ���8��� ������ �#�:

7� 9��0���4� 7$!!� �!0�� ωo
� ��#�24��7 mon

� m′ ��#�$�1 mn
3 1����

�I#��0� Θn
� � 1!�!��! 1���4 ���#! ��0!���#76��3 0�!� ���0!1�0�$!���7

�M�I�� 4m3 ���0���0

4m = mn−mo = hxhy4z

I,J
∑

i,j=2

(ρi,j,K+1−ρij1) + hxhz4y

I,K
∑

i,k=2

(ρi,J+1,k−ρi1k)+

+hyhz4x

J,K
∑

j,k=2

(ρI+1,j,k−ρ1jk) + hx4y4z

I
∑

i=2

(ρi,J+1,k+1−ρi11)+

+hy4x4z
J
∑

j=2

(ρI+1,j,K+1 − ρ1j1) + hz4x4y
K
∑

k=2

(ρI+1,J+1,k − ρ11k)+

+4x4y4z(ρI+1,J+1,K+1 − ρ111).



;-L
�0 0�5� ��� I�2�0 E��0����#������4  ��$!��7 ρ � 9��0���4� 7$!8���
 �����0 �M�I�� 4m

� � 9� �$!���� ���I��J!��8 �!�I��2�1� �����:
2�0F 5#�2��H E��0����#76�H� ���J!13  �2���0F ρ ����41  ��$!��H �
���!2�!8 7$!8�! �!0�� ωo

3 �����1!�3 ρI+1,j,k=ρIjk
� 	�#�  ��$!��7 ρ � �!�:

��1 � ���#!2�!1 �#�7� ����2��8 �!0�� ωo
�� ��J2�1� � ������#!��8

� ���0�!0�0��HG�� 7$!8��� ����43 �����1!�3 ρ1jk=ρIjk
3 0�52� ���0!1�:

0�$!���7 �M�I�� ����� ��#H � ��#��7 �M�I�� ���!2!#7!0�7 �M�I��8
��0!���#76�� �IU!1�3 0�!� �M�I��8 ����5#!��83 �����#F�� �IU!1 �I#�:
�0�3  ���1�!1�8 �!0��83 ���!� 1���! �I#��0� !�#� ρ≡1

�
�����0�13 $0� 2#7 ωo

 ��$!��7 ρi1k=ρiJk
� ρij1=ρijK

� ��52� �0����:
0!#F��7 ���0!1�0�$!���7 �M�I�� �6!����!0�7 �� 9��1�#!

εs =
4m

mo
≈

hyhz4x
J,K
∑

j,k=2

(ρI+1jk − ρ1jk)

hxhyhz

I,J,K
∑

ijk=1

ρijk

= O

(4x

hx

) uL�;<v

�3 �#!2���0!#F��3 ������6����#F�� �!#�$��! �0����0!#F��5� �2��5� ωn�� x
� 
 �IG!1 �#�$�! εs

��#�24��!0�7 � �0����0!#F�4� ���0!1�0�$!:
���� �M�I�� �� 0�!1 ����2���0�41 ������#!��71�


�J��  �2�0F  ��$!��7 ρ � 9��0���4� ���8��� ������ 7$!8��� ���:
�41�  ��$!��71 ρ � ���8��� �#!�� 7$!8��� �� ��J2�1� ������#!��H�
�����1!�3 �� ������#!��H i ��#�J�0F ρI+1,j,k=ρ1jk

� �� !�#�  ��$!��7
�#�0���0� � �!���8 � ���#!2�!8 7$!8��� �� ������#!��H i �! ����43
0�!� ρ1jk 6=ρIjk

3 0� ��22!�J���7 5#�I�#F��H ����!���0�����0F ���6!���
��0!���#76��3 ��#�$�1 #���#F��! ����M!��! 5#�2���0� �����!2!#!��7
ρ � ���8�!1 �����1 �#�! 7$!!� �!0�� ωn

� �0��3 1�J�� 5�����0F � #�:
��#F��8 ����!���0�����0� ���6!��� ��0!���#76�� 0�#F�� � �I#��0� Θon

�
����M!��! 5#�I�#F��8 ����!���0�����0� u� 1!�!��! 1���4 �I#��0� Θn�� �����!��H � 1����8 Θo

v �������2�0 � : � 0�5�3 $0� ��� �2��5! ωn
��

4r �0 �I#��0� Θn
�#!�� u�� i, j, k ������#!��71v �0�! �H0�7 �!I�#FM�!

�IU!14 �1!HG�! �2�� �#�0���0F3 � ������ 2�I��#7H0�7 0! J! �IU!143
�� �J! � 2��5�8 �#�0���0FH� %���J�7 ��0��6�7 �� ����!0 � �� �����:
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#��!8�4� �!0����

	�#� � 7$!8��� �0���8 �!0�� ρo(r)≡13 0� ���#! ��0!���#76�� �#�0:
���0� �� ����H �!0�� 2�#J�� ��#�$�0F�7 ρn(r)≡1

� K0�0 ���0!��8 I4#
��!2#�J!� � w,;Nxu�t|]^Y�b3 lg~Yg\3 ,<<,v 2#7 ���0��#7  � ���6!���1 ��:
0!���#76��� 	5� 1�J�� ����#F ���0F �#!2�HG�1 �I�� �1� %���##!#F��
�4$��#!��H ρn

� 5!���E2��#F��8 7$!8�! ���!2!#7!1 ���0��#F��!  ��$!:
��! ρ′n

u2#7 ��0���8 ρ′o(r)≡1v� 	�#� ��#���!

|ρ′n − 1| < ε,

52! ε>0 2��0�0�$�� 1�#�7 �!#�$���3 �! �4��#�7!0�73 0�52� E0� 7$!8��
1�J�� �#!5�� �2����0F � ���G!�0��0F ��0!���#76�H � �!8 ������

î¨³) 6����  §� ©��¡��§
î¨³)¨³ ���¡¢¥ì¢�� �� ¢¦�����¨ ����1�0��1 ��0!���#76�H �

�����#��!8��8 �!0�� ωo : 29×29×49 u�1� ����L�;+�v �� ��71��5�#F��H
ωn : 31×31×51 u�1� ����L�;+Iv� ���0F �!0�� ωo

� �I#��0� �5����$!���8
���!�����071�

x = 0, x = 1, y = 0, y = 1, z = 0, z = zb = 2 + 0.6 Cos(2πxy)

� $��#�1 � #�� 15×15×25 I4#� ���0��!�� ��
��M�����8 � ����#F:
 �����!1 �#5���01� � w;,xu"������ � 2��3 ;**-v� 
!���77 $��0F �!0:
��3 52! zb≤z≤43 2���#�7!0 �I#��0F 2� ��71��5�#F��5� ����##!#!��:
�!2� 0≤x, y≤13 0≤z≤4

� )�0!1 ��11!0��$�41 �0�I��J!��!1 �0����:
0!#F�� �#�����0!8 x=03 y=0 �I#��0F 2���#�7!0�7 2� ����##!#!���!2�
−1≤x, y≤13 0≤z≤4

� )��$!��! �#�0���0� � 7$!8���  �2�!0�7 � ��2!

ρo(x, y, z) =

{

ρb,
!�#� z<zb − 0.43

ρb + (ρt − ρb){1 − exp[−α(z − zb + 0.43)2]}, ���$!,
52! ρb=13 ρt=1003 α=4

� �� ����L�;N ��!2�0��#!�� �#�0���0F �� ��� z
�

��0!���#76�7 �����2�0�7 2#7 2��� �#�$�!�� 
 �!���1  ��$!��7 �#�0:
���0� � 9��0���4� 7$!8��� E��0����#������4 5#�2��� �����1!�3 �
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u�v uIv
���� L�;+� �����#��!8��7 �!0�� ωo

y29×29×49 u�v3 ��71��5�#F��7 �����:
1!���7 �!0�� ωn

y 31×31×51 uIv�

�!���!1 K+1:1 �#�! u52! K=48v ��#�5�!1 ρi,j,K+1=ρijK
3 � � ��J�!1 �#�!

ρij0=ρij1
� %� i � j ������#!��71 I#�5�2��7 ��11!0���  �2�$� �#�0���0F

0��J! E��0����#���!0�7 5#�2��� 
!�0�� �2��5� ωn
�0����0!#F�� ωo

���!�

4r = hsc(4x,4y,4z) = hsc(−0.006,−0.005,−0.007),

52! hsc=0.0714
/ �����0!��48 �� 1!� 7$!8�� �!0�� ωn

� %��!�6��
����2���0�4� ���!�����0!8 j=7, 1 �� �#�����0F x, z ���� ��4 ��
����L�;O�3L�;.� ���0�!0�0�!���� �� ����L�;OI3L�;.I ���� ��4 � �#����
�#�0���0� � �#�7� j=7, 1 �!0�� ωo

3 � �� ����L�;O�3L�;.� � �#�7� j=7, 1
�!0�� ωn

� �0����0!#F��! � 1!�!��! 1���4 � �IU!1� ���0���#�

εm =
|4m|
mo

= 2.464·10−4, εv =
|4V |
Vo

= 1.518 · 10−6,

52! mo, Vo
/ 1���� � �IU!1 �I#��0� Θo

� ����1��13 $0� εv=εm
3 ��52� ρ≡1

�

� �0���1 �#�$�! 2#7 ���#H$!��7 ���0!1�0�$!���8 �M�I��  ��$!��7

ρ  �2�H0�7 ���0�!0�0�!��� ρi,j,K+1=ρij1
3 ρij0=ρijK

� )2!�F �0����0!#F��7
�M�I�� 2#7 1���4 �����

εm = 2.802 · 10−6.
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���� L�;N� %#�0���0F �� ��� z 2#7 �!0�� ωo
�


�J�� ��2!0F $0� ��#�$�! ���0!1�0�$!���8 �M�I�� � �!���1 �#�$�!
�����2�0 � ��!#�$!��H ��#��8 �M�I�� ��0!���#76�� ��$0� � ,** �� �
��3 � 2��5�8 �0����43 �� �0���1 �#�$�!  ��$!��7 �#�0���0� � ��J�!1
�#�! 7$!!� ωn

�0�#� ����41� 1.618 �1!�0� 1 ��� E0� I4#� �� ωo
u�1�

 ��$!��7 ρ �� ����L�;N ��� z=0v� ����1 �I�� �13 ������!��! 5#�I�#F:
��8 ����!���0�����0� ����!#� � �!9� �$!���1  ��$!��71 ρ � 7$!8���
��J�!5� �#�7 ωn

�
�����!2!#!��! ρ �� ωo

��11!0��$�� �0����0!#F�� �#�����0!8 x=0 �
y=0

� %����#F�� 7$!8�� ��J�!5� � �!���!5� �#�7 ωo
u�� ������#!��H

zv I#� �� � ��71��5�#F�41 �����1!��413 1�J�� ��2!70F�73 $0� 2#7
���0!1�0�$!���8 �M�I�� �����!2#��� �6!��� uL�;<v� �#7 ����!��� �4:
��#�!��7  �����1��0� uL�;<v I4#� ����!2!�4 !G! 2�� ���$!0� ��� ��:
�F�������� ��1���!�04 �2��5� 4z � �!� 1!��4� 4x,4y

� %#�0���0F
E��0����#������� 5#�2��� �! �#F0�04 ��!� 0�!� ���$!0�� ����!2!�4 ��:
J! � 0�I#�L�;3 52! ��!2�0��#!��  �����1��0F �0����0!#F�4� �M�I�� εm

3
εv

�0 ��1���!�04 �2��5� 4z
�


 �!��4� 2��� �#�$�7� ��� ����0�$!��� �!� 1!���8 εv
�M�I�� εm

�
���0�!0�0��� � uL�;<v � 1!�7!0�7 �2��!� 
 0�!0F!1 �#�$�! � ;* �� ��!:
#�$���!0�7 εv

3 $0� �������2�0 � : � �! ��5� ��!#�$!��7 �M�I�� ����5:
#!��8� %��$���  ��#H$�!0�7 � 0�13 $0� � �!��0��4� ��� ����8 � �0���8



;-.

-1 -0.5 0 0.5 1
0

1

2

3

4
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1
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4

u�v uIv u�v
���� L�;O� %��!�6�7 ����2���0��8 ���!�����0� j=7 �!0�� ωo

�� �#��:
���0F x, z u�v� � �#���� ρ � �#�! j=7 �!0�� ωo

uIv � �!0�� ωn
u�v�

-1 -0.5 0 0.5 1
0

1

2

3

4

-1 -0.5 0 0.5 1
0

1

2

3

4

u�v uIv u�v
���� L�;.� %��!�6�7 ����2���0��8 ���!�����0� j=1 �!0�� ωo

�� �#��:
���0F x, z u�v� � �#���� ρ � �#�! j=1 �!0�� ωo
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ρ = ρl + (ρr − ρl) exp(−α sin2 πβxyz),
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ρ0jk = ρ1jk , ρI+2,j,k = ρI+1,j,k
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εm = 8.344 · 10−4 , εv = 8.75 · 10−6.
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�]]h~YZgko rhY~[°°_� i]cdtk� lb�[� ,<.O� V� O;� l� +,-/+,<�

.-� W\kg[ S�3 nhbo\ _�3 qtdkgj�j� }Yrb g��thg�� []\tkY]Z ]� kbhoo:
~YcoZ[Y]Zg\ {Ybghc]ZY� o¯tgkY]Z[°°�tc� W\r]hYkbc[� ;**;� V� ;<� l�
,/,<�

.L� W�ghoZ]| ����3 S�gZoZ|] z�W� j]�YZr rhY~ ko�bZ]\]r� �]h ­ZYko �]\tco
cokb]~[ YZ rg[ ~�ZgcY�[� ;Z~ SZkohZ� z�cd][Ytc ]Z `YZYko V]\tco[
�]h i]cd\o� Wdd\Y�gkY]Z[� lh]{\oc[ gZ~ loh[do�kY�o[� _t\� ,</;;�
�tY[{thr� m�VY\[coYoh ok g\ un~[�v3 }ohco[� ,<<<� l� O<+/.*;�

.+� W�ghoZ]| ���� W~gdkY�o j]�YZr qhY~[ YZ ztdoh[]ZY� `\]^ zYct\gkY]Z3
�tcohY�g\ qhY~ qoZohgkY]Z YZ i]cdtkgkY]Zg\ `Yo\~ zYct\gkY]Z[�
��s�z]ZY3 _�}got[oh3 _�`�ab]cd[]Z3 l�nY[ocgZ3 un~[�v� lh]�oo~YZr[ ]�
kbo Okb SZkohZgkY]Zg\ i]Z�ohoZ�o3XbY[k\oh3 �hYkY[b i]\tc{Yg3 igZg~g3
zodk� ;***� l� N;</N-.�

.N� W�ghoZ]| ���� mog\Y�gkY]Z ]� g [o�]Z~:]h~oh q]~tZ]�¬[ cokb]~°°
i]cdtk� jokb]~[ YZ Wdd\Yo~ jo�bgZY�[ gZ~ nZrYZoohYZr� ;***� V�
,.<�[ -� l� ,*-,/,*+;�

.O� W�ghoZ]| ����3 S�gZoZ|] z�W� Wdd\Y�gkY]Z ]� c]�YZr g~gdkY�o rhY~[ �]h
[Yct\gkY]Z ]� [tdoh[]ZY� rg[ f]^°°i]cdtk� `\tY~ ��ZgcY�[ _]thZ�
_gdgZ� ;**,� V� ,*�[ -� l� L**/L*L�



;++
..� W�ghoZ]| ����W~gdkY�o c]�YZr rhY~[ YZ dh]{\oc ]� rg[ ~�ZgcY�[3 qhY~

qoZohgkY]Zy �o^ ahoZ~[ gZ~ Wdd\Y�gkY]Z[ YZ mog\:X]h\~ zYct\gkY]Z[�

�0!���#4 1�����1�� ��1� 1!J2�����2��8 ���9!�!�6�� �`nW:;**,� ;+:;< �H�7 ;**,3 ��:%!0!�I� �� -*/LL3 
�y 
� ��� ;**,�

.<� W�ghoZ]| ���� VghYgkY]Zg\ {ghhYoh cokb]~ ]� g~gdkY�o rhY~ roZohgkY]Z
YZ b�doh{]\Y� dh]{\oc[ ]� rg[ ~�ZgcY�[°°zSWj _� �tcoh� WZg\� ;**;�
V� L*�[ ;� l� N+,/N.;�

<*� W�ghoZ]| ���� Wdd\Y�gkY]Z ]� c]�YZr g~gdkY�o co[bo[ YZ b�doh{]\Y�
dh]{\oc[ ]� rg[ ��ZgcY�[� %��0��!��! ���$!0�4� �!0��y �!���7 �
%��#�J!��7� ��� �!1������ ;L:;. �H�7 ;**;5� 
�y 
� ���� �� ,N</
,ON�

<,� W�ghoZ]| ����3 S�gZoZ|] z�W� j]�YZr W~gdkY�o jo[bo[ gZ~ q]~tZ]�
z�boco3 YZy lh]�oo~YZr[ ]� kbo <kb SZkohZgkY]Zg\ i]Z�ohoZ�o ]Z
}�doh{]\Y� lh]{\oc[� abo]h�3 �tcohY�[3 gZ~ Wdd\Y�gkY]Z[� ig\Y�]hZYg
SZ[kYktko ]� ao�bZ]\]r�3 lg[g~oZg3 ig\Y�]hZYg3 fzW� ;**;� l� ,N</,O,�

<;� W�ghoZ]| ����3 S�gZoZ|] z�W�3 agZra� W~gdkY�o co[b ho~Y[khY{tkY]Z
cokb]~ {g[o~ ]Z q]~tZ]�¬[ [�boco°°i]cc� jgkb� z�Y� ;**-� V� ,�
[ ,� l� ,+;/,O<�

<-� W�ghoZ]| ����3 agZra� zo�]Z~:]h~oh q]~tZ]�:k�do [�boco �]h
hog�kY�o f]^ �g\�t\gkY]Z[ ]Z c]�YZr co[bo[°°mod]hk� bkkdy°°
^^^�cgkb�ZkZt�Z]°�]Z[oh�gkY]Z°;**-°*L-�bkc\

<L� W�ghoZ]| ���� `Yh[k:�h~oh W\r]hYkbc ]� i]Z[oh�gkY�o SZkohd]\gkY]Z ]Z
}o�gbo~hg\ jo[bo[� SZy lgdg~]d]\]t[ l�3 z]ZY ��3 }gt[oh _�3 nY[cgZl�3
gZ~ ab]cd[]Z _�3 o~[� lh]�oo~YZr[ ]� kbo <kb SZkohZgkY]Zg\ i]Z�ohoZ�o
]Z �tcohY�g\ qhY~ qoZohgkY]Z3 zgZ _][o3 ig\Y�]hZYg3 ,;:,+ _tZo3 ;**+�
�YhcYZrbgc� W\g{gcgy SZkohZgkY]Zg\ z]�Yok� ]� qhY~ qoZohgkY]Z� l�
-/,;�

<+� W�ghoZ]| ����3 agZra� zo�]Z~:]h~oh q]~tZ]�:k�do [�boco �]h hog�:kY�o f]^ �g\�t\gkY]Z[ ]Z c]�YZr co[bo[°°_� i]cd� lb�[� V� ;*N� S[[to
,� ;**+� l� L./.*�



;+N
<N� W�ghoZ]| ���� W �ghYgkY]Zg\ bo�gbo~hg\ rhY~ roZohgk]h ^Ykb �]Zkh]\

cokhY�°°_� i]cd� lb�[� V� ;,.� S[[to ;� ;**N� l� O;*/OLO�
<O� W�ghoZ]| ����3 S�gZoZ|] z�W� qhY~ ]dkYcY�gkY]Z gZ~ g~gdkgkY]Z� SZy

W~�gZ�o[ YZ qhY~ qoZohgkY]Z� uf[bg|]�g ��V� o~�v� �]�g z�YoZ�o
lt{\Y[boh[� �o^ �]h|� ;**O� ibgdk� L� l� .+/,;+�

<.� W�ghoZ]| ���� i]Z[oh�gkY�o hocgddYZr ]Z bo�gbo~hg\ co[bo[� SZy
W~�gZ�o[ YZ qhY~ qoZohgkY]Z� uf[bg|]�g ��V� o~�v� �]�g z�YoZ�o� �o^
�]h|� ;**O� ibgdk� ,;� l� --O/-O<�

<<� W�ghoZ]| ���� W cokb]~ ]� �]Z[kht�kYZr g~gdkY�o bo�gbo~hg\ c]�YZr
rhY~[°°_� i]cd� lb�[� V� ;;N� S[[to ,� ;**O� l� ,,*;/,,;,�

,**� �g{t[|g S�3 mboYZ{]\~X�i� W:d][kohY]h� ohh]h o[kYcgko[ �]h kbo ­ZYko
o\ocoZk cokb]~°°SZkohZ� _� �tcoh� jokb� nZrhr� ,<O.� V� ,;� l� ,+<O/
,N,+�

,*,� �gYZo[j�_� j]�YZr `YZYko n\ocoZk[� i\ghoZ~]Z lho[[3 ���]h~3 ,<<L�
,*;� �gYZo[j�_� qhY~ g~gdkgkY]Z �Yg Z]~o c]�ocoZk°°Wdd\Yo~ �tcoh�

jgkboc� ,<<.� V� ;N� l� OO/<N�
,*-� �gYZo[j�_�3 }t{{gh~j�n�3 _Ycg�| l�s� W c]�YZr co[b ­ZYko o\ocoZk

g\r]hYkbc �]h kbo g~gdkY�o []\tkY]Z ]� kYco:~odoZ~oZk dghkYg\
~Y®ohoZkYg\ o¯tgkY]Z[ ^Ykb c]�YZr {]tZ~ghYo[°°Wdd\� �tcoh� jgkb�
;**+� V� +L� l� L+*/LN<�

,*L� �o\\ _���3 zbt{YZq�m�3 zkodboZ[W��� W [orcoZkgkY]Z gddh]g�b k] rhY~
roZohgkY]Z t[YZr {Ybghc]ZY�[°°_�i]cdtk�lb�[�,<.;�V�LO�l�LN-/LO;�

,*+� �oZ:Whk�Y j� abo roZohg\Y�o~ mYocgZZ dh]{\oc �]h hog�kY�o f]^[°° _�
i]cdtk� lb�[� ,<.<� V� .,� l� O*/,*,�

,*N� �]�bo� l�3 pYg] q�3 ~o\g loZgq� WZg\�[Y[ gZ~ �]cdtkgkY]Z ]� g~gd:kY�o c]�YZr rhY~[ {� ~o�]hcgkY]Z°°�tcohY�g\ jokb]~[ �]h lghkYg\
�Y®ohoZkYg\ n¯tgkY]Z[� ,<<N� V� ,;� l� L.<�



;+O
,*O� �]th\Y]t�W�3 jg�~gW�_�3 m]�k{th~ V� abo]hokY�g\ gZ~ ZtcohY�g\

[kht�ktho �]h tZ[kg{\o ]Zo:~YcoZ[Y]Zg\ ~ok]ZgkY]Z[°°zSWj _� Wdd\�
jgkb� ,<<,� V� +,�[� ;� l� -*-/-L-�

,*.� �o �]]h i� q]]~ gddh]�YcgkY]Z {� [d\YZo[ ^Ykb �ghYg{\o |Z]k[ SS�
i]Z�ohoZ�o ]Z ZtcohY�g\ []\tkY]Z ]� ~Y®ohoZkYg\ o¯tgkY]Z[� po�ktho
�]ko[ YZ jgkbocgkY�[� ,<O-� � -N-� �oh\YZ� zdhYZroh:Voh\gr� l� ,;/;*�

,*<� �]th\Y]t�W�3 jg�~gW�_�3 m]�k{th~ V� abo]hokY�g\ gZ~ ZtcohY�g\
[kht�ktho �]h tZ[kg{\o ]Zo:~YcoZ[Y]Zg\ ~ok]ZgkY]Z[°° zSWj _� Wdd\�
jgkb� ,<<,� V� +,�[� ;� l� -*-/-L-�

,,*� �]th\Y]t�W�3 jg�~gW�_� abo]hokY�g\ gZ~ ZtcohY�g\ [kht�ktho �]h
tZ[kg{\o k^]:~YcoZ[Y]Zg\ ~ok]ZgkY]Z[°°i]c{t[kY]Z gZ~ `\gco� ,<<;�
V� <*� l� ;,,/;;<�

,,,� �hg�|{Y\\ _�f�3 zg\k�cgZ _�z� W~gdkY�o �]ZYZr �]h [YZrt\gh dh]{\oc[ YZ
k^] ~YcoZ[Y]Z[°°_� i]cdtk� lb�[� ,<.;� V� LN�[ -� l� -L;/-N.�

,,;� �hg�|{Y\\ _�f� WZ g~gdkY�o rhY~ ^Ykb ~Yho�kY]Zg\ �]Zkh]\°°_� i]cd�
lb�[� ,<<-� V� ,*. [ ,� l� -./+*�

,,-� ig]X�j�3 }tgZrX�e�3 mt[[o\ m��� W [kt~� ]� c]ZYk]h �tZ�kY]Z[ �]h
k^] ~YcoZ[Y]Zg\ g~gdkY�o co[b roZohgkY]Z°°zSWj _� z�Y� i]cdtk�
,<<<� V� ;*� l� ,<O./,<<L�

,,L� ig]X�j�3 }tgZrX�e�3 mt[[o\ m��� W c]�YZr co[b cokb]~ {g[o~ ]Z
kbo ro]cokhY� �]Z[oh�gkY]Z \g^°°zSWj _� z�Y� i]cdtk� ;**;� V� ;L�[
,� l� ,,./,L;�

,,+� ig[kY\\] _�n� �Y[�hoko �ghYgkY]Zg\ rhY~ roZohgkY]Z°°YZ jgkbocgkY�g\
W[do�k[ ]� �tcohY�g\ qhY~ qoZohgkY]Z� uig[kY\\] _�n� n~�v� zSWj�
lbY\g~o\dbYg� ,<<,� ibgdkoh L� l� -+/+.�

,,N� ibg|hg�ghk� z�3 WZ~oh[]Z�� �tcohY�g\ �]Z�]hcg\ cgddYZr°°jgkb�
i]cd� ,<O<� V� --� l� <+-/<N<�

,,O� iboZ��3 _YgZr z� WZ �dkYcY�gkY]Z:�g[o~ mo�]ZYZr �]h Wpn
jokb]~[°°i]cctZ� i]cdtk� lb�[� ;**.� V� L�[� +� l� ,;,N/,;LL�



;+.
,,.� ib]hYZW�_� mgZ~]c �b]Y�o []\tkY]Z ]� b�doh{]\Y� [�[koc[°° _�

i]cdtk� lb�[� ,<ON� V� ;;� l� +,O/+-,�
,,<� ibtcg|]� q�W�3 ibtcg|]� z�q�W jokb]~ �]h kbo ;:� �tg[Y:S[]cokhY�

mort\gh qhY~ qoZohgkY]Z°°_� i]cdtk� lb�[� ,<<.� V� ,L-� l� ,/;.�
,;*� i\ �ocoZk lb�3 }grcoY�oh m�3 z^ooh[ q� �Z kbo YZ�ohkY{Y\Yk� ]� cgddYZr[

ghY[YZr YZ ;� rhY~ roZohgkY]Z dh]{\oc[°°�tcohY[�bo jgkbocgkY|�
,<<N� V� O-� l� -O/+,�

,;,� i]\o\\g l�3 X]]~^gh~ l�m� abo ZtcohY�g\ [Yct\gkY]Z ]� k^]:~YcoZ[Y:
]Zg\ ftY~ f]^ ^Ykb [kh]Zr [b]�|[°°_� i]cdtk� lb�[� ,<.L� V� +L� [
,� l� ,,+:,O-�

,;;� i]\o\\g l�3 jg�~gW�_�3 m]�k{th~V� abo]hokY�g\ gZ~ ZtcohY�g\ [kht�:ktho �]h hog�kYZr [b]�| ^g�o[°°zSWj _� z�Y� zkgkY[k� i]cdtk� ,<.N� V�
O� l� ,*+</,*.*�

,;-� �o W\coY~gV�`� �]cgYZ �o�]hcgkY]Z jgddYZry Wdd\Y�gkY]Z k]
VghYgkY]Zg\ jo[b qoZohgkY]Z°°zSWj _� z�Y� i]cdtk� ,<<<� V� ;*� [�
L� l� ,;+;/,;O+�

,;L� �t|]^Y�� _�s� i]Z[oh�gkY�o ho�]ZYZr uhocgddYZrv �]h roZohg\ ¯tg~hY:
\gkohg\ co[bo[°°_� i]cd� lb�[� ,<.L� V� +L� l� L,,/L;L�

,;+� �t|]^Y�� _�s� ng�YoZk �]\tco �]cdtkgkY]Z �]h kbhoo:~YcoZ[Y]Zg\
bo�gbo~hg\ �o\\[°°_� i]cd� lb�[� ,<..� V� OL� l� L<-/L<N�

,;N� �t|]^Y�� _�s�3 lg~Yg\ ��a� mnjWl-�y W �]Z[oh�gkY�o kbhoo:~YcoZ[Y:
]Zg\ hocgddYZr �]~o� p][ W\gc][ hod]hk� ,<<,�

,;O� �t\Y|hg�Y�bq�z�3 soZZ]Z z�m� qoZohgkY]Z ]� �]cdtkgkY]Zg\ rhY~[ t[YZr
]dkYcY�gkY]Z°°WSWW _]thZg\� ,<.N�[ O� l� ,*N<:,*O-�

,;.� �thgY[^gcY m�3 lh][dohokkYW� �hkb]r]Zg\ cgddYZr YZ k^]
~YcoZ[Y]Z[°°_� i]cdtk� lb�[� ,<<;� V� <.� l� ;+L/;N.�

,;<� ��YZ[|�W�z� W~gdkY�o rhY~ roZohgkY]Z �h]c bghc]ZY� cgd[ ]Z
mYocgZZYgZ cgZY�]\~[°°_� i]cdtk� lb�[� ,<<,� V� <+� l� L+*/LON�



;+<
,-*� �^�oh }�W�3 zc]]|oj���3 soo m�_� W~gdkY�o rhY~ cokb]~ �]h

dh]{\oc[ YZ ftY~ co�bgZY�[ gZ~ bogk khgZ[�oh°°WSWW _� ,<.*� V� ,.�
l� ,;*+/,;,;�

,-,� n��g p� ;� ]hkb]r]Zg\ rhY~ roZohgkY]Z ^Ykb {]tZ~gh� d]YZk ~Y[khY{tkY]Z
�]Zkh]\°°_� i]cdtk� lb�[� ,<<N� V� ,;+� l� LL*/L+-�

,-;� no\\[ _�n�3 pocgYho p� WZ]kboh hod]hk ]Z bghc]ZY� cgd[� �t\\okYZ ]�
kbo p]Z~]Z jgkbocgkY�g\ z]�Yok�� ,<..� V� ;*�[� .N� l� -.O/+;L�

,--� nY[ocgZl�m� qhY~ roZohgkY]Z �]h ftY~ co�bgZY�[ �]cdtkgkY]Z[°°WZZ�
mo�� `\tY~ jo�b� ,<.+� V� ,O� l� L.O/+;;�

,-L� nY[ocgZl�m� W~gdkY�o rhY~ roZohgkY]Z°°i]cdtk� jokb]~[ YZ Wdd\�
jo�b� gZ~ nZrYZoohYZr� ,<.O� V� NL� l� -;,/-ON�

,-+� nhdoZ{o�| _�_� zkg{Y\Yk� ]� Y~og\Y�o~ ]Zo:hog�kY]Z ~ok]ZgkY]Z[°°lb�[�
`\tY~[� ,<NL� V� O� l� N.L/N<N�

,-N� `Y�|okk X�3 X]]~X�X� `\]^ �g\�t\gkY]Z[ �]h dt\[gkYZr ]Zo:~YcoZ:
[Y]Zg\ ~ok]ZgkY]Z[°°lb�[� `\tY~[� ,<NN� V� <� l� <*-/<,N�

,-O� `Y�|okkX�3 �g�Y[X�i� �ok]ZgkY]Z� �oh|o\o�� iWy fZY�� ]� ig\Y�]hZYg
lho[[� ,<O<�

,-.� h̀o� l�_�3 qo]hro l�p� jo[b qoZohgkY]Zy Wdd\Y�gkY]Z k] `YZYko
n\ocoZk[� }ohco[� lghY[� ;***�

,-<� qghYco\\g m�V�3 zbg[b|]�j�_�3 Vg�bg\ l� fZkgZr\YZr ]� ;� co[bo[ YZ
Wpn [Yct\gkY]Z[°°_� i]cdtk� lb�[� ;**L� V� ,<N� l� N;O/NLL�

,L*� q]~tZ]� z�s�3 ebt|]�V�a�3 ò]~]hYk]�g��V� �Z ]Zo �\g[[ ]� ¯tg[Y:Y[]cokhY� rhY~[� SZy ��V�f[bg|]�g un~�v� W~�gZ�o[ YZ qhY~ qoZohgkY]Z�
�]�g z�YoZ�o lt{\Y[boh[� �o^ �]h|� ;**O� ibgdkoh ;� l� +-/N<�

,L,� qhgZ~� _� i]Z[oh�gkY�o hocgddYZr gZ~ horY]Z[ ]�oh\g�[ {� YZkoh[o�kYZr
gh{Ykhgh� d]\�bo~hg°°_� i]cd� lb�[� ,<<<� V� ,L.� l� L--/LNN�

,L;� }grcoY�oh m� qhY~ g~gdkgkY]Z {g[o~ ]Z c]~Y­o~ gZY[]kh]dY� ~Y®t[Y]Z
o¯tgkY]Z[ �]hct\gko~ YZ kbo dghgcokhY� ~]cgYZ°°_� i]cdtk� lb�[�
,<<L� V� ,,+� l� ,N</,.-�



;N*
,L-� }gZ~{]]| ]� qhY~ qoZohgkY]Z uab]cd[]Z _�`�3 z]ZY ��s�3

XogkbohY\\ ��l� n~[�v� imi lho[[� �]�g mgk]Z� `p� ,<<<�
,LL� }g^|oZ��`�3 q]kk\Yo{ _�_�3 }gZ[oZ _�z� mo�Yo^ ]� []co g~gdkY�o Z]~o:

c]�ocoZk ko�bZY¯to[ YZ ­ZYko:o\ocoZk gZ~ ­ZYko:~Y®ohoZ�o []\tkY]Z[ ]�
dghkYg\ ~Y®ohoZkYg\ o¯tgkY]Z[°°_� i]cdtk� lb�[�,<<,�V�<+� l�;+L/-*;�

,L+� }gZ[oZq�3 egh~o�|YW�3 qhooZYZr ��3 �][ m� W ­ZYko o\ocoZk cokb]~
�]h tZ[kht�ktho~ rhY~ [c]]kbYZr°°_� i]cdtk� lb�[� ;**L� V� ,<L� l�
N,,/N-,�

,LN� }gZ[oZq�3 egh~o�|YW�3 qhooZYZr ��3 �][ m� W ­ZYko o\ocoZk cokb]~
�]h kbhoo:~YcoZ[Y]Zg\ tZ[kht�ktho~ rhY~ [c]]kbYZr°°_� i]cdtk� lb�[�
;**+� V� ;*;� l� ;.,/;<O�

,LO� }^gZr l�3 ò~|Y^ m�3 johhYcgZ�� sghgr]�YgZW�m�3 �[boh z�_�
�tcohY�g\ ho[]\tkY]Z ]� dt\[gkYZr ~ok]ZgkY]Z ^g�o[°°i]c{t[kY]Z
abo]h� gZ~ j]~o\YZr� ;***� V� L�[ -� l� ;,O/;L*�

,L.� S�gZoZ|] z�W�3 W�ghoZ]| ���� Wdd\Y�gkY]Z ]� c]�YZr g~gdkY�o rhY~[ �]h
ZtcohY�g\ []\tkY]Z ]� Z]Z[kgkY]Zgh� dh]{\oc[ YZ rg[ ~�ZgcY�[°°SZk� _�
�tcoh� jokb� `\tY~[� ;**;� V� -<� l� ,/;;�

,L<� S�gZoZ|] z�W� zo\o�ko~ ibgdkoh[ ]Z qhY~ qoZohgkY]Z gZ~ Wdd\Y�gkY]Z[�
�]h]~ZY��Z i]cdtkYZr ioZkoh ]� mWz� ;**L�

,+*� _g¯t]kko ��:l�W co�bgZY�g\ c]~o\ �]h g Zo^ rhY~ roZohgkY]Z cokb]~ YZ
�]cdtkgkY]Zg\ ftY~ ~�ZgcY�[°°i]cd� jokb� Wdd\� jo�b� gZ~ nZrZr�
,<.O� V� NN� l� -;-/--.�

,+,� _g�¯t]kko ��:l� qhY~ ]dkYcY�gkY]Z cokb]~[ �]h ¯tg\Yk� Ycdh]�ocoZk
gZ~ g~gdkgkY]Z°°ibgdk� -- YZy }gZ~{]]| ]� qhY~ qoZohgkY]Z�
ab]cd[]Z _�`� ok g\ un~[�v� imi lho[[� �]�g mgk]Z� `\� ,<<<�

,+;� sgZr S�z�3 pog\ p�q� �hkb]r]Zg\ rhY~ roZohgkY]Z YZ g ;� ~]cgYZ �Yg
kbo {]tZ~gh� YZkorhg\ ko�bZY¯to°°_� i]cdtk� lb�[� ,<<;� V� ,*;� l�
O./.O�

,+-� sgt\ f�s� �o^ {]tZ~gh� �]Z[khgYZk[ �]h o\\YdkY� [�[koc[ t[o~ YZ rhY~
roZohgkY]Z dh]{\oc[°°_� i]cdtk� lb�[� ;**-� V� ,.<� l� LON/L<;�



;N,
,+L� sZg{Zoh l�3 s]h]k]� z�3 ztccq� i]Z~YkY]Z[ �]h kbo YZ�ohkY{Y\Yk� ]� kbo

Y[]dghgcokhY� cgddYZr �]h bo�gbo~hg\ ­ZYko o\ocoZk[°°`YZYko n\ocoZk[
YZ WZg\�[Y[ gZ~ �o[YrZ� ;**-� V� L*�[ ;� l� ,+</,O;�

,++� sZo[oh }�3 ph][tZr ~oh Wt�rg{o L,3 _gbho[{oh°°�otk[�bo jgkb�:VohoYZ�,<;N� V� -+� l� ,;-/,;L�
,+N� l�sZtdd3 �Z kbo YZ�ohkY{Y\Yk� ]� kbo Y[]dghgcokhY� cgd3 i]cd� jokb�

YZ Wdd\� jo�b� gZ~ nZrZr� O. u,<<*v -,-/-;<�
,+O� sZtddl�3 zkoYZ{ohr z� t̀Z~gcoZkg\[ ]� qhY~ qoZohgkY]Z� imi lho[[�

�]�g mgk]Z� `p� ,<<-�
,+.� sZtddl�3 pt��g|m� ahtZ�gkY]Z ohh]h YZ rhY~ roZohgkY]Zy g �g[o [kt~�3

�tcohY�g\ jokb]~[ �]h lghkYg\ �Y®ohoZkYg\ n¯tgkY]Z[� ,<<+� V� ,,� l�
+N,/+O,�

,+<� sZtddl� }o�gbo~hg\ gZ~ kokhgbo~hg\ co[b tZkgZr\YZr°°nZrYZoohYZr
^Ykb i]cdtkoh[� ;**,� V� ,O�[ -� l� ;N,/;N.�

,N*� sZtddl�3 jghr]\YZ p�q�3 zbg[b|]�j�_� mo�ohoZ�o _g�]{YgZ
�dkYcY�gkY]Z:�g[o~ mo�]Zo zkhgkorYo[ �]h Wh{Ykhgh� pgrhgZrYgZ
nt\ohYgZ jokb]~[°°_� i]cd� lb�[� ;**;� V� ,ON� l� <-/,;.�

,N,� sZtddl� W cokb]~ �]h bo�gbo~hg\ co[b [bgdo ]dkYcY�gkY]Z°°SZk� _�
jokb� nZrZr� ;**-� V� +.� l� -,</--;�

,N;� pgtro[oZm�z� SZ�o�kY�Yk� �gZ �gY\ �]h bYrboh:~YcoZ[Y]Zg\ bghc]ZY�
o�koZ[Y]Z[°°i]cd\o� VghYg{\o[� ,<<N� V� ;.� l� -+O/-N<�

,N-� pgZr[okb _���3 poVo¯to m�_� W ^g�o dh]dgrgkY]Z cokb]~ �]h -� b�doh:{]\Y� �]Z[oh�gkY]Z \g^[°°_� i]cd� lb�[� ;***� V� ,N+� l� ,;N/,NN�
,NL� poo }�S�3 zko^ghk ��z� ig\�t\gkY]Z ]� \YZogh ~ok]ZgkY]Z YZ[kg{Y\Yk�y ]Zo:

~YcoZ[Y]Zg\ YZ[kg{Y\Yk� ]� d\gZo ~ok]ZgkY]Z°°_� `\tY~ jo�b� ,<<*� V�
;,N� l� ,*-/,-;�

,N+� poo z�}�3 z]ZY ��s� abo oZbgZ�ocoZk ]� gZ o\\YdkY� rhY~ t[YZr
gddh]dhYgko �]Zkh]\ �tZ�kY]Z[°°Wdd\Yo~ jgkbocgkY�[ gZ~
i]cdtkgkY]Z� ;**L� V� ,+<� l� .*</.;,�



;N;
,NN� pYg] q�3 pYt }� W Z]ko ]Z bghc]ZY� cgd[°°Wdd\� jgkb� pokk� ,<<N� V�

<�[ L� l� <+/<O�
,NO� pYg] q�3 pYt `�3 loZgq���3 loZr ��3 �[boh z� po�o\:[ok:{g[o~ ~o�]h:

cgkY]Z cokb]~ �]h g~gdkY�o rhY~[°°_� i]cdtk� lb�[� ;***� V� ,+<�
l� ,*-/,;;�

,N.� pYdZY|]� s�3 zbg[b|]�j� abo nhh]h:jYZYcY�gkY]Z:�g[o~ zkhgkor� �]h
j]�YZr jo[b jokb]~[°°i]cctZ� i]cdtk� lb�[� ;**N� V� ,�[ ,� l�
+-/.*�

,N<� pY[oY|YZV��� qhY~ qoZohgkY]Z jokb]~[� zdhYZroh:Voh\gr� �o^ �]h|�
,<<<�

,O*� pY[oY|YZV���W i]cdtkgkY]Zg\ �Y�ohoZkYg\ qo]cokh� Wddh]g�b k] qhY~
qoZohgkY]Z� zdhYZroh:Voh\gr� �o^ �]h|� ;**L�

,O,� jg�|oZ�Yo _�W�3 mt[[o\\ m��� gZ~ zk]�|Yo _�j� W c]�YZr co[b
cokb]~ �]h ]Zo ~YcoZ[Y]Zg\ b�doh{]\Y� �]Z[oh�gkY]Z \g^°°zSWj _� z�Y�
i]cdtk� ;***� V� ;;� l� ,O<,/,.,-�

,O;� jg[kYZ i�X�3 ab]cd[]Z _�`� �tg[Y�]Z�]hcg\ cgddYZr[ gZ~ rhY~
roZohgkY]Z°°zSWj _� z�Y� zkgk� i]cdtk� ,<.L� V� +�[ ;� l� -*+/-,*�

,O-� jY\\oh s�3 jY\\oh m���j]�YZr ­ZYko o\ocoZk[� S°°zSWj _� �tcoh�WZg\�
,<.,� V� ,.�[ N� l� ,*,</,*-;�

,OL� �g|gcthg z� jgh�bYZr rhY~ roZohgkY]Z t[YZr dghg{]\Y� ~Y®ohoZkYg\
o¯tgkY]Z[°°Wdd\� i]cdtk� ,<.;� V� ,*/,,� l� OO+/O.N�

,O+� �g|gbg[bY s�3 �oY^ohk q�z� abhoo:~YcoZ[Y]Zg\ g~gdkY�o rhY~ cokb]~°°
WSWW _]thZg\� ,<.N�[ N� l� <L./<+L�

,ON� �~oZ _�a�3 �oc|]^Y�� p�3 zkh]t{]t\Y[ a�3 �o�\]^ l� W~gdkY�o cokb]~[
�]h dh]{\oc[ YZ []\Y~ gZ~ ftY~ co�bgZY�[°°YZ W��thg�� n[kYcgko[ gZ~
W~gdkY�o mo­ZocoZk[ YZ `YZYko n\ocoZk i]cdtkgkY]Z[ uo~[� S��g{t[|g
ok g\�v3 _]bZ XY\\o� i z]Z[ pk~� ,<.N� l�;L</;.*�

,OO� �hgZ n�3 �]hY[ _�l� �tcohY�g\ [Yct\gkY]Z ]� hog�kY�o f]^� �o^ �]h|�
n\[o�Yoh� ,<.O�



;N-
,O.� loc{oh m��� �tcohY�g\ cokb]~[ �]h b�doh{]\Y� �]Z[oh�gkY]Z \g^[ ^Ykb

[kY® ho\g�gkY]Z S� zdthY]t[ []\tkY]Z[°°zSWj _� Wdd\� jgkb� ,<<-� V�
+-� l� ,;<-/,--*�

,O<� �tYh| _�_� q]~tZ]�:k�do [�boco[ gdd\Yo~ k] ~ok]ZgkY]Z f]^[°°i]c:{t[kY]Z YZ }Yrb:zdoo~ `\]^[� �]h~ho�bkys\t^oh� ,<<L�l�+O+/+<N�
,.*� mg~ �]a�Wt�rg{o L,3_gbho[{oh°°�otk[�bo jgkb�:VohoYZ�,<;N�V�-+�l�L<�
,.,� mgc[bg^ _��� i]Z[oh�gkY�o ho[]ZYZr g\r]hYkbc �]h roZohg\Y�o~ k^]:

~YcoZ[Y]Zg\ co[bo[°°_� i]cd� lb�[� ,<.+� V� +<� l� ,<-/,<<�
,.;� m�[|YZq�3 pog\ p�q� �hkb]r]Zg\ cgddYZr°°_� i]cd� lb�[� ,<.-� V�

+*� l� O,/,**�
,.-� mt[[o\ m���3 ibhY[kYgZ[oZ _� W~gdkY�o co[b [o\o�kY]Z [khgkorYo[ �]h

[]\�YZr {]tZ~gh� �g\to dh]{\oc[°°zSWj _� �tcoh�WZg\� ,<O.� V� ,+�
[ ,� l� +</.*�

,.L� z�b]oZm�3 �gt z�a� �Z tZY�g\oZk bghc]ZY� cgd[ {ok^ooZ [th�g�o[°°
SZ�oZk� jgkb� ,<O.� V� LL� l� ;N+/;O.�

,.+� zbt{YZq�m�3 zkodboZ[W���3 �o\\ _��� abhoo ~YcoZ[Y]Zg\ rhY~ roZo:
hgkY]Z t[YZr {Ybghc]ZY�[°°YZ �tcohY�g\ qhY~ qoZohgkY]Z3 ab]cd:
[]Z _�`�3 o~� �]hkb:}]\\gZ~� �o^:�]h|� ,<.;� l� ON,/OOL�

,.N� zdo|hoY�[o z�l� n\\YdkY� roZohgkY]Z [�[koc[� SZ }gZ~{]]| ]� qhY~
qoZohgkY]Z uab]cd[]Z _�`�3 z]ZY ��s�3 XogkbohY\\ ��l� n~[�v� imi
lho[[� �]�g mgk]Z� `p� ,<<<� ibgdkoh� L� l� L:,/L:L.�

,.O� zhYkbghgZ z�z� jgkbocgkY�g\ g[do�k[ ]� bghc]ZY� rhY~ roZohgkY]Z3 YZ
jgkbocgkY�g\ W[do�k[ ]� �tcohY�g\ qhY~ qoZohgkY]Z3 _�n�ig[kY\\]
un~�v3 zSWj3 lbY\g~o\dbYg3 ,<<, uibgdkoh ,*v�

,..� zkoroh _�p�3 ibgt[[o ��z� qoZohgkY]Z ]� {]~�:­kko~ �]]h~YZgko[ t[YZr
b�doh{]\Y� dghkYg\ ~Y®ohoZkYg\ o¯tgkY]Z[°°zSWj _� z�Y� i]cdtk� ,<.*�
V� ,�[ L� l� L-,/L-O�



;NL
,.<� agY i�}�3 �YZ z�p�3 z]]Zr i��� W Z]�o\ b�doh{]\Y� rhY~ roZohgkY]Z

dh]�o~tho ^Ykb YZbohoZk g~gdkY�o ~Y[[YdgkY]Z°°_� i]cd� lb�[� ,<<+�
V� ,,N� l� ,O-/,O<�

,<*� agZr }�e�3 agZra� W~gdkY�o co[b cokb]~[ �]h ]Zo: gZ~ k^]:~YcoZ:
[Y]Zg\ b�doh{]\Y� �]Z[oh�gkY]Z \g^[°°zSWj _� �tcoh� WZg\� ;**-� V�
L,� l� L.O/+,+�

,<,� agZra� j]�YZr co[b cokb]~[ �]h �]cdtkgkY]Zg\ ftY~ ~�ZgcY�[°°
i]Zkocd]hgh� cgkbocgkY�[� ;**+� V� -.-� l� ,L,/,O-�

,<;� ab]cd[]Z _�`�3 jg[kYZ i�X�3 abgco[ `� Wtk]cgkY� ZtcohY�g\
roZohgkY]Z ]� {]~�:­kko~ �th�Y\YZogh �]]h~YZgko [�[koc �]h ­o\~
�]ZkgYZYZr gZ� Ztc{oh ]� gh{Ykhgh� k^]:~YcoZ[Y]Zg\ {]~Yo[°°_� i]cd�
lb�[� ,<OL� V� ,+� l� ;<</-,<�

,<-� ab]cd[]Z _�`�3 Xgh[Y e�f�W�3 �]tZ~gh�:­kko~ �]]h~YZgko [�[koc[ �]h
ZtcohY�g\ []\tkY]Z ]� dghkYg\ ~Y®ohoZkYg\ o¯tgkY]Z[°°_� i]cd� lb�[�
,<.;� V� LO�[ ;� l� ,/,*.�

,<L� ab]cd[]Z _�`�3 Xgh[Y e�f�W�3 jg[kYZ3j�X� �tcohY�g\ qhY~ qoZohg:
kY]Z� �]hkb:}]\\gZ~3 ���� ok�� ,<.+� u2��0���� �� bkkdy°°
^^^�bd��c[[kgko�o~t°dt{\Y�gkY]Z[°rhY~{]]|°v

,<+� ab]cd[]Z _�`� W roZohg\ kbhoo:~YcoZ[Y]Zg\ o\\YdkY� rhY~ roZohgkY]Z
[�[koc ]Z g �]cd][Yko {\]�| [kht�ktho°°i]cd� jokb� YZ Wdd\� jo�b�
gZ~ nZrYZ� ,<.O� V� NL� l� -OO/L,,�

,<N� a]ZV�a� Scdh]�o~ [b]�|:�gdkthYZr cokb]~[ �]h ct\kY�]cd]ZoZk gZ~
hog�kYZr f]^[°°_� i]cdtk� lb�[� ,<<N� V� ,;.� l� ;-O/;+-�

,<O� at��3 ab]cd[]Z _�`� abhoo:~YcoZ[Y]Zg\ []\tkY]Z:g~gdkY�o rhY~ roZo:
hgkY]Z ]Z �]cd][Yko �]Z­rthgkY]Z[°°WSWW _]thZg\� ,<<,� V� ;<�[ ,;�
l� ;*;+:;*;N�

,<.� f[bg|]�g��V� �Z Z]Z~oroZohg�� ]� kbhoo:~YcoZ[Y]Zg\ rhY~[°°lh]:
�oo~YZr[ ]� kbo zko|\]� SZ[kYktko ]� jgkbocgkY�[� ztdd\� ,� ;**L� l�
zO./z,**�



;N+
,<<� VY\\gcY�ghV�3 m]�g[ ��3 jg{o� _� qoZohgkY]Z ]� �th�Y\YZogh �]]h~YZgko[

]Z ct\kYd\� �]ZZo�ko~ horY]Z[ ^Ykb {]tZ~gh� [YZrt\ghYkYo[°°_� i]cd�
lb�[� ;**O� V� ;;-� l� +O,/+..�

;**� XbYkoW��� �Z [o\o�kY]Z ]� o¯tY~Y[khY{tkYZr co[bo[ �]h k^]:d]YZk {]tZ:
~gh�:�g\to dh]{\oc[°°zSWj _��tcoh�WZg\�,<O<�V�,N�[-�l�LO;/+*;�

;*,� XYZ[\]^W�j� �tcohY�g\ []\tkY]Z ]� kbo ¯tg[Y:\YZogh l]Y[[]Z o¯tgkY]Z
YZ g Z]ZtZY�]hc khYgZr\o co[b°°_�i]cdtk�lb�[�,<NN�V�,�l�,L</,O;�

;*;� XYZ[\]^W�j� W~gdkY�o co[b �]ZYZr {� kbo o¯tYd]koZkYg\ cokb]~�
fiS�:,<*N;� pg^hoZ�o pY�ohc]ho �gkY]Zg\ pg{]hgk]hYo[� fZY�oh[Yk�
]� ig\Y�]hZYg� ,<.,�

;*-� ebgZr��«�3 _Yg��`�3 XgZr z�z���3 ;� Zogh\� ]hkb]r]Zg\ co[b
roZohgkY]Z ^Ykb �]Zkh]\[ ]Z ~Y[k]hkY]Z �tZ�kY]Z[°°_� i]cd� lb�[� ;**N�
V� ;,.�[ ;� l� +L</+O,�

;*L� ebgZr��«�3 _Yg��`�3 XgZr z�z���3 ibgZ}�i� �]tZ~gh� khogkcoZk �]h
;� o\\YdkY� co[b roZohgkY]Z YZ �]cd\o� ro]cgkhYo[°°_� i]cd� lb�[�
;**.� V� ;;O�[ ;� l� O<OO/O<<O�

;*+� eYoZ|Yo^Y�� ��i�3 j]hrgZs� `YZYko o\ocoZk[ gZ~ gddh]�YcgkY]Z3
XY\o�3 ,<.-�


